NIPPARTS

moved by mechanics

www.eraspares.com
era@eraspares.it




NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
AVEO Saloon (T300)
HI-TOPIC (AM715) 13D N4840914 2.0 J4840901
2.7 15 STD J2840304 2.0D J4840901
2.7 D Rear Wheel Drive J2840304 25 J4840901
1.4 J2840900
22D J2840304 2.0 J2840900
22D J4840308 14 J2840900 2.0 J4840901
2.2 D 4x4 J2840304
22D 4x4 14840308
14 J4820910 1.4 J2840900
14 14820901
2.2D AWD J2840304 14 J4850900
2.2 D AWD J4840308 1.4 J4820910 1.4 N2840906
2.2 DLX 4x4 J2840304 1.4 J4820910 1.4 16V J2840900
2.2 DLX 4x4 J4840308 1.4 16V N4820911
16 32840900
14 J4820910
16 32840900
14 N4840914
31 N2840907
16 J2840900
1.4 N4840914 1.6 J4820901
16 N2840906
1416V J4820910
3.0 N2840907
16 N4820911
1.4 Turbo N4840914
16 N4820911
L5 14820910  16LPG 32840900
1.2 J2840900 1.6 LPG N4820911
KALOS Saloon (T250, T255) 15 14820910
1.2 J2840900 18 J2840900
L5 34820910
1.2 J4820910 1.8 J2840900
L6 N4840914
1.2 J4820910 1.8 J2840900
18 14820901
KALQOS Saloon (T250, T255) 16 N4840914 1.8 J4850900
1.2 J4820910 1.8 N2840906
20D N2840907
1.2 N4840914 2.0 D 4WD N2840907 1.8 N4820911
22D N2840907
2.2 D 4WD N2840907
1.2 N4840914 2.4 N2840907 1.8 N4820911
2.4 4AWD N2840907
241PG N2840907
1.2LPG J2840900 2.4 LPG 4WD N2840907 20D J2840900
3.0 4WD N2840907
3.2 4WD N2840907
1.2 LPG J2840900 20D J2840900
16 N2840910
1.2LPG J4820910 20D N4820911
16 N2840910
1.2 LPG J4820910 20D N4820911
18 N2840910
1.2 LPG N4840914 1.4 J2840900
L4 34820901
18 N2840910 1.4 14850900
1.2 LPG N4840914 1.4 N2840906
15 J2840900
18LPG N2840910 15 J4820901
Original equipment numbers and pictures in this catalogue are used for reference purposes only. Page 1 Of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
15 J4850000 |ENANED) 2.0 16V J4840400
15 N2840906 0.8 N2840905
1.6 16V J2840900
1.6 16V J4820901 SPARK (M300) 2.3 J4840400
1.6 16V J4850900 1.0 N2840905
1616V N2840906  10LPG N2840905
2.3 J4840400
0.8 J4840905 1.0 SX J4840905
0.8 N2840905 1.0 SX N2840912 29D 14840400
0.8LPG J4840905
0.8LPG N2840905
1.0 J4840905 1.2 N2840905  2.9D J4840400
1.0 N2840905  1.2LPG N2840905
10LPG J4840905
14 J2840900 29TD J4840400
1.4 N4820911 1.0 J4832076
1.0 N4842066
1.4 HD J4832076 3.2 4x4 J4840400
16 J2840900 1.4 HDi N4842066
_ 14 J2840900
16 12840900 DAEWOO 14 N4820911
1.6 12840900
16 N4820911 1.8 J4820901
1.6 12840900
1.6 34820901
1.6 N4820911 15 J2840900 1.6 J4850900
15 J4820901 1.6 N2840906
15 N2840906
18 J2840900
1.6 N4820911
15 J2840000 1.8 J2840900
18 J2840900 15 J4820901 1.8 N4820911
15 J4850900
15 N2840906
18 N4820911  1.516V J2840900 1.4 J2840900
1.5 16V J4820901
1.5 16V J4850900
18 N4820911  1.516V N2840906 1.4 J2840900
18 J2840900
18 J4820901
20D J2840900 1.8 J4850900 1.4 J4820901
18 N2840905
18 N2840906
20D J2840900 2.0 J2840900 1.4 14820901
2.0 J4820901
2.0 J4850900
20D N4820911 2.0 N2840906 1.4 J4850900
20D N4820911 2.0 J2840900 1.4 J4850900
2.0 J4840901
18 N2840910 14 N2840906
18LPG N2840910 15 J2840900
20D N2840910
14 N2840906
12 J4820910
16 J2840000 1.4 J4820910
16 N2840905 15 12840900
2.0 J2840900
2.0 N2840905 1.4 J4820910
15 12840900
0.8 J4840905 1.4 16V J4820910
15 J4820910 15 14820901
0.8 J4840905
15 J4820910 15 14820901
0.8 N2840905
Original equipment numbers and pictures in this catalogue are used for reference purposes only. Page 2 Of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

»1ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
1.5 J4850900 2.9 TD 4x4 J4840400 NUBIRA Saloon (J100)
3.2 4x4 J4840400 1.6 16V J2840900
LANOS Saloon (KLAT)
15 34850900  [ETA
15 J2840900 1.6 16V J2840900
15 N2840906
15 J2840900 1.8 J2840900
15 N2840906
15 J4820901 1.8 J2840900
1616V 32840900
15 J4820901 1.8 N4820911
1616V 32840900
15 J4850900 1.8 N4820911
1616V 34820901
15 J4850900 2.0 J2840900
20 34840901
1.6 16V J4820901
15 N2840906
2016V J2840900
1.6 16V J4850900
15 N2840906
2016V 32840900
1.6 16V J4850900
1516V J2840900
2016V J2840900
1.6 16V N2840906
1516V J2840900
2016V 34840901
1.6 16V N2840906
1516V J4820901
2,016V J4840901
20 32840900
2.0 J4840901 1516V J4820901
2.0 16V J2840900 2.0 CDX J2840900
2.0 16V J4840901 2.0 CDX J4840901
2.216V J2840900 1516V J4850900 2.0 CDX N2840905
2.216V J4840901
15 16V 14850900 15 34820901
1.5 N2840906
L6 N2840906
1516V N2840906 1.6 J2840900
16 N2840905
2.0 J4840901 1.6 SX N2840905
1516V N2840906 1.8 J2840900
L6 J2840900 18 N2840905
0.8 J4840905 1.6 J4820901 2.0 J2840900
1.6 J4850900 2.0 N2840905
L6 N2840906
08 34840905 18 32840900
1.8 J4820901 0.8 J4840905
L8 14850900 08 N2840905
0.8 J4840905 1.8 N2840906
0.8 N2840905 1.4 J2840900
14 N4820911
16 J2840900 1.0 J4836001
0.8 N2840905 10D J4836001
1.0TD J4836001
L6 32840900
0.8 N2840905
10 Turbo 32840503
L6 N4820911
1.0 J4840905
10 N2840905 1.0 Turbo J4836001
1.6 N4820911
227D J4840400 1.3316V N4822102
2.3 J4840400 1.6 16V J2840900
29D 4x4 J4840400
Original equipment numbers and pictures in this catalogue are used for reference purposes only. Page 3 Of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

»1ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
1.6 GTi 12840503 [FEEAZENEN) 1.3 4WD J4826000
0.8 J4826000
CHARMANT (A)
1.3 J4842006 HIJET Bus 1.3 4WD J4836000
1.6 J4842006 0.8 J4836000
134WD 14836000
13 J4836001 0.8 J4836000
13716V 14826000
0.5 J4846009 0.8 J4836000 1.3i16V J4836000
0.6 J4846009
10 J4826000 14D J4826000
0.7 J4836001
10 J4826000 14D J4826000
0.7 J4836001
1.0 J4826000 14D J4836000
0.7 J4846009
1.0 J4826000 14D J4836000
0.7 J4846009
1.0 J4836000 038 J2845005
0.7 4WD J4836001 0.8 J4836001
08 34846009
1.0 J4836000
0.7 4WD J4836001
10i J2845005
1.0 J4836000  1.0i J4836001
0.8 J2845005 1.0i J4846009
08 34836001
10 J4836000
2.0 N4806000
0.8 J4836001 28D 14836010
1.0i J4826000 2.8D N4806000
287D 34836010
0.8 J4836001 287D N4806000
1.0i J4826000
0.8 J4846009 1.0 J2845005
1.0i J4836000
0.8 J4846009 1.0 J2846008
1.0i J4836000 1.0 J4836001
10 34836011
08 34846009
0.8 4WD J4836001 12D J4826000
0.8 4WD J4846009 1.0i J2845005
10i J2846008
12D 14826000  1014WD 32845005
1.0 J2845005 1.0 4WD J2846008
UORE VII (L275_, L285_, L276_) 1.2D J4836000
1.0 J2858000 1.3 J2846008
13 14824022
12D 14836000 13 34836001
1.0 J4836001 1.3 4WD J2846008
13 74826000
1.0 J4836001 1.3 Rally J2845005
1.0 DWT J2845005 1.3 Rally J2846008
1.0 DWT J4836001 1.3 J4826000 1.3 Rally 4WD 12845005
1.3 Rally 4WD J2846008
1.3 Sport J2845005
1.5 16V J2840503 1.3 J4836000 1.3 Sport J2846008
1.6 16V J2840503 1.3 Sport 4WD J2845005
1.6 GX J2840503 1.3 Sport 4WD J2846008
13 J4836000
0.8 J4826000 15 J2846008
1.3 4WD J4826000
0.8 J4826000 08 J4826000
Original equipment numbers and pictures in this catalogue are used for reference purposes only. Page 4 Of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

moved by mechanics

Applicazioni veicolari - Vehicles applications

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

SPARCAR Van (S7_)

0.8 J4826000
SPARCAR Bus (S7.)

0.8 J4836000
0.8 J4836000
1.0 J4826000
1.0 J4826000
1.0 J4836000
1.0 J4836000
1.3 J4846011
1.3 4WD J4846011
1.3 DVVT 4x4 J4846011
1.3 DVVT Turbo 4WD J4846011
1.5 4WD J4846011
1.5 DVVT J4846011
1.5 DVVT 4x4 J4846011
1.5 VVT-i [RWD] J4846011
1.0 J4836001

FIAT

1.6 16V N4848014
1.6 16V 4x4 N4848014
1.9 D Multijet 4x4 N4848014

FORD

FIESTA Mk IV (JA_, JB_)

1.0i J4833023
1.25 16V N4843060
1.25i16V J4833023
1.3 J4833023
1.3 N4843060
1.3i J4833023
1.4 16V N4843060
1.4i J4833023

1.4i16V J4833023
FIESTA V (JH_, JD_)

1.4 TDCi N4843060
1.6 16V N4843060
1.6 16V Sport J4833023
1.6 TDCi N4843060
1.8D J4833023
1.8D J4833023
1.8 DI J4833023
1.8 DI J4833023
D1.8 J4833023
ST150 N4843060
TD1.8 J4833023
1.25 N4843060
1.4 N4843060
1.4 TDCi N4843060
1.6 N4843060
1.6 TDCi N4843060
1.4 16V J4833023
1.6 16V J4833023
1.7 16V J4833023
ST 160 J4833023
2.2 TDCi N4833046
2.2 TDCi 4x4 N4833046
2.2 TDdi N4833046
2.5i4x4 N4833046
3.2 TDCi 4x4 N4833046

HONDA

ACCORD MKk Il (AC, AD)

1.6 EX J4834000
1.6 EX J4834000
16i N2844011
16L J4834000
16L J4834000
1.8 J4834000
1.8 EX J4834000

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

ACCORD Mk Il Hatchback (AC, AD)

1.8 EX 14834000
ACCORD Mk VII (CK, CG, CH, CF8)
1.8i N2844011
1.8 N2844011
1.9i 14834000
1.9i J4844000
1.9i N2844011
2.0 14834000
2.0 14834000
2.0 14834000
2.0 14844000
2.0 N2844011
2.0 N2844011
2.0 N2844011
2.0 N2844023
2.0 N2844023
2.0 N2844024
2.0 N2844024
2.0 16V J4834000
2.0 EX J4834000
2.0 EX J4834000
2.0 EXi J4834000
2.0 EXi 14834000
2.0 EXi J4834000
20i 12843012
20i 12843012
20i 14834000
20i 14834000

Page 5 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



> 1ERA
NIPPARTS’ g
Sterzo

moved by mechanics Steering

Applicazioni veicolari - Vehicles applications

2.0i J4834000 ACCORD Mk V Coupe (CD) CIVIC MK IV Saloon (ED)
2.21ES J4844000 12 J4834003
ACCORD Mk VII (CK, CG, CH, CF8)
201 NYTEVT M ACCORD Mk V Aerodeck (CE)
2.21ES N2844011 1.2 J4844004
201 N2844011
2.21ES N2844011 12 J4844006
201 N2844011
2.2iVTEC J4834000 12 J4844006
221 VTEC 14844000
2.0i 16V J4834000  2.2iVTEC N2844011
13 J4834003
2.0116V J4834000 2.2 -CTDI N2844023
13 J4834003
2.0i16V J4834000 2.2 i-CTDi N2844023 CIVIC MK V Saloon (EG, EH)
1.3 J4834003
2.0116V J4834000 2.2 i-CTDI N2844024
13 J4844004
2.0116V J4834000 2.2 -CTDI N2844024
2.0i16V N2844011 13 J4844004
2.21DTEC 12843012
2.0iLS J4834000 13 J4844006
20iLs 14844000
2.0iLS N2844011  2.2i-DTEC J2843012
1.3 J4844006
2.0iLS 16V J4834000 2.2 TypeR N2844011
2.0iLS 16V J4844000 2.3 J4834000 13 J4844006
2.0iLS 16V N2844011 2.3 N2844011
13 14844006
2.0iS J4834000 2.3 N2844011
20is N2844011
1316V 14834003
2.3iSR J4834000 1316V J4844006
2.0 TDi J4834000 23iSR N2844011
20 TDI 14844000
207D N2844011 1316V 14834003
2.4 N2844023 1.3 16V J4844006
207D N2844011
2.4 N2844023 1.3 Hybrid N4824027
1.3 Hybrid N4834028
2.0 Turbo DI N2844011 1.3 Hybrid N4844027
2.4 N2844024 1.3 Hybrid N4844038
22 34834000
2.4 N2844024 1.3 IMA J4824022
L4 14824022
22 34834000
241 12843012
14 J4834003
22116V J4834000 14 14844006
2.4i J2843012
22i16v J4834000 14 N4824027
3.0 N2844024 14 N4834028
14 N4844027
2.2116V Automatik 34834000
3.0 V6 24V J4834000
3.0 V6 24V N2844011 1416V J4834007
2.2iES J4834000 1.4 16V J4844006
1416V N2841025
141V TEC N4824031
2.21ES J4834000 141V TEC N4844033
14i J4824022
221Es 34844000 12 14834003
14i J4834003
Original equipment numbers and pictures in this catalogue are used for reference purposes only. Page 6 Of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
CIVIC Mk V Saloon (EJ, EK) CIVIC Mk V Aerodeck (MB, MC) CIVIC Mk V Hatchback (EJ, EK)
1.4i J4834003 1.5 16V J4834003 1.6 J4834003
CIVIC VIl Hatchback (EU, EP, EV) CIVIC Mk IV Fastback (MA, MB)
1.4i J4834003 1.5 16V J4834007 1.6 J4834003
1.4i J4834007 1.5 16V J4834007 1.6 J4834007
1.4i J4844006 1.5 16V J4844006 1.6 J4834007
1.4i J4844006 1.5 16V J4844006 1.6 J4844006
1.4i J4844006 1.5 4WD J4844006 1.6 J4844006
1.4i N2841025 1.5GL J4844004 1.6 J4844006
1.4i16V J4844006 1.5GL J4844004 1.6 J4844006
1.4iS J4834003 1.5GL J4844006 1.6 N2841025
14is J4844006 1.5GT J4844004
16 N4824027
1.4iS J4824022 15GT J4844004 1.6 N4834028
1.6 N4844027
16 N4844038
1.4 i-VTEC N4824027 15GT J4844006
14 i-VTEC N4844027
1.6 16V J4834003
15i J4834003 1616V 34834007
1.4L J4834003
L5i J4834003 1616V 14834007
1.4L J4834003
1.5i16V J4834003 1.6 16V J4844006
1.4L J4844006
1.5i16V J4834003 1.6 16V J4844006
1.4L J4844006 1.6 16V N2841025
L5116V 74834003
1.4LPG J4834003 1.6 16V 4x4 J4834003
1.4 LPG J4834007 1.6 16V 4x4 J4844006
1.4 LPG J4844006 15§16V J4834003
1616V Vieo 14834003
15 J4834003 1.5i16V J4834003
1616V Vieo 14834003
15 J4834003 1.5i16V J4844006
L6 16V Vteo 34844006
1.5 J4834003 15016V J4844006
16 16V Viec 14844006
1.5 J4834003 1.5i16V J4844006
16 41 14834003
1.5 J4844006 15iLSi J4834003
16 4x4 14834003
1.5 J4844006 1.5i Vtec-E J4834007
1.5i Vtec-E N2841025 CIVIC MK V Saloon (EG, EH)
16 4x4 14834003
15 34844006
16 14824022
16 4x4 14844006
1516V 14834003
16 J4834003
Original equipment numbers and pictures in this catalogue are used for reference purposes only. Page 7 Of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

»1ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
1.6 4x4 14844006  [EVIAGER) 18 N4834028
1.6 i-DTEC N4824027
CIVIC MK V Saloon (EG, EH)
1.6 4x4 J4844006 CIVIC IX Tourer (FK) 1.8 N4844027
1.6 i-DTEC N4824027
16i 14824022 18 N4844027
1.6 i-DTEC N4844027
CIVIC Vil Saloon (FD, FA)
16i 14824022 18 N4844027
1.6 i-DTEC N4844027 1.8 N4844038
161 34834003
1.6 si 16V J4834003  1.816V J4834003
1816V 34834007
161 34834003
L6 5i 16V 14834003
1816V 14834007
161 34834007
16i J4844006  1.6si16V J4844006
1.8 16V J4844006
16i J4844006  1.6si16V J4844006
1.8 16V J4844006
161 J4844006 1.6 VTi J4834003
1.8 EXS Flex N4834028
18 EXS Flex N4844027
1.6i N2841025 1.6 VTi J4834003 1.8 EXS Flex N4844038
1.6 16V J4834003 1.6 VTi J4834003  1.8i-VTEC N4824027
1.6 16V J4834003 1.6 VTi J4834003  1.8i-VTEC N4824027
1.6 16V J4844006 1.6 VTi J4834007  1.8i-VTEC N4844027
1.6 VTi 14844006
1.6 16V J4844006 1.8i-VTEC N4844027
1.6 VTi J4844006
1.6 16V 4WD J4834003 2.0 J4824022
1.6 16V 4WD J4844006 1.6 VTi 16V J4834003
1.6 VTi 16V J4844006
20D 34834007
1.6116V 4x4 J4834003 2.0iD J4844006
1.6 16V 4x4 J4844006 1.7 J4824022  2.0iD N2841025
17 J4834003
1.6 16V Vtec J4834003 2.0 Sport J4824022
1.6 16V Vtec J4844006 1.7 CTDi J4824022  2.0i Sport J4834003
1.6 Vtec J4834003 1.7 J4824022  2.0iTD J4834003
171 J4834003  2.0iTD J4834007
1.7iVTEC J4824022  2.0iTD J4844006
1.6 Vtec J4834003  1.7iVTEC 14834003
2.0i-VTEC Type R N4824027
1.6 Vtec J4834003 1.8 J4834007
2.0-VTEC Type R N4824027
1.6 Vtec J4834007 1.8 N4824027  2.0i-VTEC Type R N4834028
1.6 Vtec J4844006
L8 N4824027  2.0i-VTEC TypeR N4844027
1.6 Vtec J4844006
1.8 N4824027  2.0i-VTEC Type R N4844027
1.6i Vtec J4844006 2.0 i-VTEC Type R N4844038
L8 N4834028
1.6 Vtec N2841025 2.0 TDIC J4834003
2.07DIC J4834007
Original equipment numbers and pictures in this catalogue are used for reference purposes only. Page 8 Of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
CIVIC Mk V Hatchback (EJ, EK) CRX (AF, AS) 1.8 EX J4844004
2.0 TDiC J4834007 1.3 J4844004
CIVIC Mk IV Fastback (MA, MB) CRX Mk Il (ED, EE) 2.0 J4844004
2.0 TDIiC J4844006 1.4 GL J4834003
L4GL 14844006
2016V 14844004
2.0 Type-R 14824022
L5i 14844006
206X 14844004
2.2 CTDI N4824027
2.2 CTDi N4834028 1.6 ESi J4834003
2.2 CTDi N4844027  1.6ESi J4844006  2.0i16V J4844004
2.2i-DTEC N4824027 1.6i16V J4834003 2.0i EX 16V J4844004
2.2 i-DTEC N4844027
CRX (A, AS)
16116V J4844006 2216V J4844004
Type R N4834028
16116V J4844006  2.2116V Viec J4844004
1.4 N4824033 1.6 16V Vtec J4834003 2.3i16V J4844004
1.6 16V Vtec 14844006
14 N4824033 2.0 14824024
1.6 VTi J4834003 2.0 Vtec 14824024
16 VTi J4844006 2.2 Vtec 14824024
1.5i16V N4824033
1.5 Hybrid N4824029 2.2 16V J4834000
1.5i16V N4824033 2.216V J4844000
16 N4824033 2.3 16V J4834000
1.4 J4834007 2.316V J4844000
15 14834007
1.6 16V N4824033 1.6 J4834007
1.8 J4834007 1.7 16V J4824020
2.0 16V 14824020
1.6 16V N4824033
1.6 16V J4844018
1.6i16V N4824033
1.0 Hybrid N4844033 13 32845000
1.6 16V N4824033
1.3 Hybrd N4B2403L 13 32845000
2.0 J4824022 1.3 Hybrid N4844033
131 12v 32845000
2.0 J4834003 1.8 J4834003
20 14844012 18TypeR 14834003
2.0 16V J4834003 1.3i12v J2845000
2016V 14844012
20 14834003
2.0 16V Type-R 14834003 14 N4830505
2.0i N4824029
12 N4824031 1.4 N4830505
2.2 CTDi J4824022 1.2 N4844033
1.3 HYBRID N4824031
1.3 HYBRID N4844033 15 J2845000
2.2 i-CTDi 4WD N4824029 1.4 N4824031
2.2 i-DTEC 4WD N4824029 1.4 N4844033
24 N4824029 14i N4824031 1.5i12v J2845000
1.4i N4844033
15i N4824031
2.4 4AWD J4824022 15i N4844033 15i12v J2845000
2.4 4AWD N4824029 13 J4844013 15i16V J2845000
2.4 i-VTEC 4WD N4824029
16 J4844004 15116V J2845000
2.4 Vtec J4824022
Original equipment numbers and pictures in this catalogue are used for reference purposes only. Page 9 Of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

»1ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
1.6 N4830505 GENESIS Coupe i800 Travel (TQ)
2.0 CWT N2840509 2.5 CRDi N4840529
ACCENT IV Saloon (RB) 20T N2840509
16 N4830505
2.5 CROI N4840529
3.3 N2840509
1.6 CRDI N4820537  3.324V N2840509
3.8V6 N2840509 2.5 CRDi 4x4 J4820514
25D J4820514
1.6 CRDI N4830505
38V6 N2840509
25D J4820514
101 J2840503
11 J2840503 11 J4840518
13 J4840518 25TD J4820514
13 J4840518
2.0 J2846008  14i J4840518
2.0GLS J2846008 1.5 CRDi J4840518 2.5 TD 4WD J4820514
2.7V6 J2846008 1.5 CRDi GLS J4840518
16 J4840518
2.6 CRDI J4820514
16 J2846008
2.2 CRDi AWD N4820536
3.4 AWD N4820536 2.0 16V J4820517
1.6 N4830534 2.0 16V J4840520
1.6 CRDi N4830534 2.0 16V N2840509
2.2 CRDi N4820532 2.0 CRDi J4820517
2.0 CRDi J4840520
1.6 CRDi N4840319 2.0 CRDi N2840509
1.6 CWT N4840319 2.4 N4820532 2.0 CWT J4820517
2.4 16V N4820532 2.0 CWT J4840520
2.7 N4820532 2.0 CWT N2840509
1.8 J2846008 2.7 V6 24V J4820517
2.7 V6 24V J4840520
2.7 N4820532  2.7V6 24V N2840509
25TCiD J4825000
257CiD J4825030
3.0 N4820532 1.0 T-GDI N4840527
3.0LPG N4820532
257D J4825000
1.0T-GDI N4840527
33 N4820532
257D J4825000
1.1 CRDi N4820538
24 J4820514 1.1 CRDI N4830538
25TD J4825030
24 N4830508 1.1 CRDI N4840527
25TD J4825030 2.4 N4840529
12 N4820538
2.5 TD intercooler J4825000 2.4 4WD J4820514 12 N4830538
2.5 TD intercooler J4825000 2.4i N4830508 12 N4840527
2.5 TD intercooler J4825030 2.4i N4830508 1.2 LPGI N4840527
14 N4820538
14 N4830538
2.5 TD intercooler J4825030 2.4i N4840529
2.6 TD All-wheel Drive J4825000
3.0 AWD J4825000 14 N4840527
3.0 AWD J4825030 2.4i N4840529
1.4 CROi N4820538
3.0V6 J4825000 2.5 CRDi J4820514 1.4 CRDi N4830538
3.0V6 J4825000 2.5 CRDi J4820514 1.4 CRDi N4840527
1.6 N4840527
1.6 CRDI N4840527
3.0V6 J4825030 2.5 CRDi N4830508
14 N4840319

3.0V6 J4825030 2.5 CRDi N4830508

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 10 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
i30 Estate (FD) 1.6ie. 16V J4825007 SANTA FE Il (CM)
1.4 N4840319 2.7V6 GLS N2840508
LANTRA MK Il (3-2) 2.7 V6 GLS 4x4 N2840508
EGD) 1.8 16V J4825007  3.54x4 N2840508
1.6 N4840319
18ie. 16V J4825007 2.0 CRDI N4820536
1.6 N4840319 2.0 CRDi 4WD N4820536
2.2 CRDI N4820536
1.9D J4825007 2.2 CRDi 4WD N4820536
1.6 CRDi N4840319 2.4 N4820536
2.4.4WD N4820536
19D J4825007  24CCVT N4820536
1.6 CRDi N4840319 2.4 CCVT AWD N4820536
2.4 GDI N4820536
2.0 J4825007 2.4 GDI 4WD N4820536
1.6 MPI N4830534
20 J4825007 20 N2845004
1.6 T-GDI N4830534 2.016V N2845004
2.0 16V 4x4 N2845004
2,016V J4825007
16 T-GDI N4830534
18GLS J4840520
1.5 CRDI J4840520  18i 14840520
2.0 N4840319 1.5 CRDi VGT J4840520 2.0 J4840520
1.6 J4840520
L8 14840520
2.0 N4840319 2.016V J4820314
20 14840520
2.0 CRDi N4840319 2.0 N2840509 2.0 CRDi N4820532
2.0 CRDi J4840520 2.0 GLSI N4820532
2.0 CRDI N2840509
2.0 CRDi N4840319 2.0 CRDi 4x4 J4840520
2.0 CRDi 4x4 N2840509 2.0i J4840520
2.0 CRDi All-wheel Drive J4840520 2.0i16V J4840520
1.6 GDI N4840533 2.0 CRDI All-wheel Drive N2840509
20 WTIGLS N4820532
1.6 GDI N4840533 2.2 CRDi N2840508 2.4 N4820532
2.2 CRDi 4x4 N2840508
2.2 CRDI GLS N2840508
1.7 CRDi N4840533 2.2 CRDi GLS 4x4 N2840508 2.4 N4820532
2.4 N2840508
1.7 CRDI N4840533 2416V J4820314
2.4 16V J4840520  2.5V6 24V J4820314
2416V N2840509  2.71V6 J4820314
2.0 N4840533 2.4 16V 4x4 J4840520 2.7V6 J4820314
2.0 CWT N4840533 2.4 16V 4x4 N2840509
301V6 14840520
2.0 CWVT N4840533 2.4 4x4 N2840508
33 N4820532
2.0 GDI N4840533 2.7 J4840520
2.7 N2840508
251D J4825000
2.0 GDi N4840533 257D 14825030
2.7 N2840508 25TD J4840520
2.9 CRDI 34825000
3.0 V6 CRDi N4840532 2.9 CRDi J4825030
3.0 V6 CRDi 4WD N4840532 2.7 N2840509 2.9 CRDi J4840520
3.8V6 N4840532 2.7 4x4 J4840520 2.9 CRDi 4WD J4825000
3.8 V6 4WD N4840532 2.7 4x4 N2840508 2.9 CRDi 4WD J4825030
3.8 V6 AWD N4840532 2.9 CRDi 4WD J4840520
351 V6 4WD 34825000
2.7 4x4 N2840508 3.5i V6 4WD J4825030
15ie. J4825007 3.5i V6 4WD 34840520
2.7 4xd N2840509
1.6 16V J4825007 2.7 V6 4x4 J4840520 2.0 CWT J2846008
16i J4825007 2.7 V6 4x4 N2840508
2.7 V6 4x4 N2840509
2.0 14820517

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 11 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
2.0 J4840520 WIZARD (_U_) SEDONA Mk II (GQ)
2.0 N2840509 3.0 TD All-wheel Drive J2846008 2.5V6 J2840304
2.0 CRDi J4820517 3.2 All-wheel Drive J2846008
2.0 CRDi J4840520
2.0 CRDi N2840509 KIA 25V6 N4840323
2.7V6 J4820517
2.7V6 J4840520
2.7V6 N2840509 25V6 N4840323
24D J4840308
247D J4840308
1.6 GDI N4830534 27D J4840308 2.7V6 J2840304
1.6 MPI N4830534
1.6 T-GDI N4830534
1.6 J2840301 2.9 CRDi J2840304
25 J4820314
1.6 N4840330 2.9 CRDi J2840304
250 J4820314
1.6 CRDi 110 N4820319 2.9 CRDi N4840323
1.6 CRDI 110 N4830307
3.0 J4820314 1.6 CRDI 128 N4820319
30/300 J4820314 1.6 CRDi 128 N4830307 2.9 CRDi LX J2840304
350 J4820314 1.6 CWVT N4820319
1.6 CWT N4830307
29TD J2840304
1.7 CRDi N4840330
297D J2840304
3.3 J4821088
L J2840301
29TD N4840323
18i J2840301
18116V J2840301 297D N4840323
2.0 N2847011 35 J2840304
2.0 4WD N2847011 35 N4840323
2.2 N2847011 2.0 N4840330
22D N2847011
2.2 D 4WD N2847011 1.0 T-GDI N4830534
25D N2847011 2.0 CRDi J2840301 1.4 MPI N4830534
2.5 D 4WD N2847011 1.6 CRDi 136 N4830534
2.0 CRDI 115 N4820319
2.5D 4x4 N4829011 2.0 CRDi 115 N4830307 1.0 T-GDI N4830534
2.5 DiTD 4x4 N4829011 2.0 CRDi 135 N4820319
3.0D N4829011 2.0 CRDi 135 N4830307
3.0 D 4x4 N4829011 2.0 CRDi 140 J2840301 1.4 N4840319
2.0 CRDi 140 N4820319
2.0 CRDi 140 N4830307
3.0 D All-wheel Drive N4829011 2.0 CWT J2840301 14 N4840319
3.0 DITD 4x4 N4829011 2.0 CWT J2840301 1.4 CWVT N4840319
22D N2847011 2.0 CWT N4820319 1.4 CWVT N4840319
2.2 D 4WD N2847011 2.0 CWT N4830307
2.5D 4WD N2847011
2.5TDi N2847011 L4 MPI N4830534
2.0 GDi N4840330
2.6 All-wheel Drive J2846008 1.6 N4840319
3.0 D 4x4 J2846008 2.0LPI J2840301
20LPI N4820319
20LPI N4830307 16 N4840319
3.0 DTI J2846008
2.0 MPI N4840330 1.6 CRDi 115 N4840319
3.0DTI J2846008
2.2 CRODI J2840304 1.6 CRDI 115 N4840319
3.5 V6 24V J2846008
2.5V6 J2840304 1.6 CRDI 128 N4840319
3.5 V6 24V J2846008

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 12 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
CEE"D SW (ED) CLARUS Estate (GC) 27D J2840304
1.8i16V J2840301 27D J4840308
CLARUS (K9A)
2.0i16V J2840301 1.0 T-GDI N4830534
1.4 MPI N4830534
1.6 CRDI 136 N4830534
2.0i16V J2840301
14 N4840319
2.0 J2840301 1.4 CVVT N4840319
1.6 N4840319
1.6 CRD 115 N4840319
2.5 CRDi J4840308 1.6 CRDi 128 N4840319
1.6 CRDi 90 N4840319
1.6 CWT N4840319
2.5 CRDi J4840308 2.0 N4840319
25D J2840304 2.0 CRDi 140 N4840319
25D J4840308  20LPG N4840319
27D J2840304 2.0 16V N4800301
207D N4800301
27D J2840304
1.1 CRDI N4820537
1.1 CRDi N4840538
2.0 J4820314 1.2 N4820537
1.2 N4840538
12w N4820537
2.0 N4820319
2.0 N4830307
2.0 CRDi N4820319 1.2 CWT N4830505
2.0 CRDi N4830307
L2CwWT N4840538
2.5V6 J4820314
L2CwWr N4840538
3.0 GH300 J2846008
3.0 GH300 J4820314
35 J2846008 1.5 N4820537
3.5 J4820314 1.25 N4840538
3.8V6 J2846008 1.25 CWT N4820537
1.0 N4820324 1.25 CVWT N4830505
10 N4830324
1.25CWT N4840538
10 N4840324
10 N4840327
1.25 CWT N4840538
1.0 Bi-Fuel N4820324
1.0 Bi-Fuel N4830324 1.25LPG N4820537
1.0 LPG N4820324 1.25LPG N4840538
1.0 LPG N4830324
13 J4840312
1.1 N4840324
11 N4840327
1.1 CRDi N4840324 1.3 J4840312
1.1 CRDi N4840327
1416V J4840312
1.2 N4820324
12 N4830324
1416V J4840312
25D 72840304
25D J4840308 1416V N4820321
25TCiD J2840304 1416V N4820321
25TCiD J4840308

Page 13 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
RIO Il (UB) SHUMA | (FB) 300 J2842011
1.4 CRDi N4820537 1.6 J2840301
1.4 CRDI N4840538
1.4 CWT N4820537 SHUMA Il (FB) 300 N4822108
1.6 J2840301 300 T3 J2842011
30073 N4822108
1.4CWT N4830505 400 J2842011
1.6 J2840301 400 N4822108
430 J2842011
L4aCcwr N4840538
1 J2840301
430 J2842011
L4aCcwr N4840538
18i16v J2840301
430 N4822108
15 J4840312
24 J2840304
24 J4820316  450h J2842011
1.5 16V J4840312 2.4 J4830303 460 J2842011
1.5 16V J4840312 2.4 CWVT N4820536 470 J2846008
2.4 CVVT 4WD N4820536 470 J4822072
2.4 GDI N4820536
1.5 CRDI J4840312  2.4GDI 4WD N4820536
470 N2842041
1.5 CRDI J4840312 2.5 CRDI J2840304
2.5 CRDi J4820316 200 J2842011
2.5 CRDi J4830303
1.5 CRDI N4820321  3.3V6 12840304
3.3V6 J4820316 200 J2842011
3.3V6 J4830303
1.5 CRDI N4820321  3.5V6 12840304
1.6 16V J4840312 3.5V6 J4820316 200 N4842076
1.6 16V N4820321 3.5V6 J4830303
200 N4842076
1.6 CVWT J4840312 2.0 N4800301
1.6 CWT N4820321 2.0 4WD N4800301
2.0i16V N4800301 200d J2842011
2.0 16V 4WD N4800301  220d J2842011
1.6 CWT N4820537 2.0i4WD N4800301
2.0 TD 4WD N4800301
250 J2842011
1.6 CWT N4830505
250 J2842011
16 CWT N4840538
200h N4822105
300 J2842011
16 CWT N4840538
250 J2852002
300 J2842011
15i J2840301
3.0 J4822060
3.0 J4842019 300 N4842076
15i J2840301 3.0 J4842054
3.3 J4822060
3.3 J4842019 300 N4842076
16i J2840301 33 J4842054
IS F J2842011
16i J2840301 300 J2845000
300 J4842019
400 N4822108
18i16V J2840301
3.0 J2842011
460 J2842011
1.8i 16V J2840301 460 AWD J2842011
300 J2842011
15116V J2840301 470 4x4 J2842026
300 J2842011 470 4x4 N4842067
15116V J2840301

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 14 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

»1ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
570 N4842062 3 (BK) 3 Saloon (BL)
1.6 N2843024 2.0 N2843024
RX (L1)
270 N4832119  [EREINGIS)
1.6 N2843024 2.0 N2843025
3.0 2WD J2845000
300 V6 J2845000 1.6 N4823045 2.0 N2843025
350 J2842011 1.6 N4823045 2.0 N4823045
350 N4832119 1.6 DI Turbo J4823033 2.0 N4823045
350 N4842079
1.6 DI Turbo J4823033  20MzR J4823033
350 N4842079
1.6 DI Turbo N2843024 2.0 MZR J4823033
350 AWD N4832119
350 AWD N4842079
1.6 DI Turbo N2843024 2.0 MZR N2843024
400h 4WD J2842011
400h 4WD N4842079 1.6 MZ-CD J4823033 2.0 MZR N2843024
400h FWD J2842011 1.6 MZ-CD N2843024
400h FWD N4842079
2.0 MZR DISI J4823033
1.6 MZR J4823033
450h N4832119
450h AWD N4832119 2.0 MZR DISI J4823033
1.6 MZR J4823033
430 J2842011 2.0 MZR DISI N2843024
430 N4822108 1.6 MZR N2843024
2.0 MZR DISI N2843024
2.0 MZR-CD J4823033
125 J4833023 1.6 MZRCD J4823033
13 74833023
18D 14833023 2.0 MZR-CD J4823033
1.6 MZR CD J4823033
12 N4843060 2.0 MZR-CD N2843024
1.25 N4843060 1.6 MZR CD N2843024
131 N4843060
14 N4843060 2.0 MZR-CD N2843024
1.4CD N4843060 1.6 MZR CD N2843024
16 N4843060
22D N2843025
1.6 MZR-CD 4823033
14 J4823033 1.6 MZR-CD N2843024
1.4 N2843024 22D N2843025
2.0 J4823033
15 N2843025 22D N4823045
15 N4823045
2.0 J4823033
22D N4823045
15 N4823045
2.0 J4823033
2.2 MZR-CD J4823033
15D J4823033
20 J4823033
2.2 MZR-CD J4823033
15D J4823033
2.0 N2843024
2.2 MZR-CD N2843024
16 J4823033
2.0 N2843024
2.2 MZR-CD N2843024
L J4823033
2.0 N2843024

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 15 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

»1ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
2.3 J4823033 323 S MK IV (BG) 1.8 Turbo 4WD J4843024
2.3 N2843024 1.6 J4843024
3 (BK) 323 F/P Mk VI (BJ) 1.9 16V J4853038
2.3 DiSi Turbo MPS J2843012 1.6 J4853038
2.3 DiSi Turbo MPS J4823033
2.3 MPS J4823033 1.9 16V J4853038
2.3 MPS N2843024 1.6 J4853038
2.0 J4853038
2.3 MPS Turbo J4823033 1.6 16V J4843024
2.0 J4853038
2.3 MZR J4823033 1.6 16V J4843024
2.3 MZR N2843024
2.024v J4843010
1616V 14843024
25 J4823033
20D J4843010
167D J4843010
13 14843024
20D J4843010
17D J4843024
13 14843024
20D J4853038
17D 14843024
1316V J4843010
20D J4853038
17D 14843024
1316V J4843010
20D J4853038
18 J4843024  2.0DITD J4853038
1.3 16V J4843010
1816V J4843010 207D J4853038
1.3 16V J4843024
1816V J4843010 207D J4853038
1.3 16V J4843024
1816V J4843010  1.6CD 14823033
1.4 J4853038 1.6 CD N2843024
1816V J4843024
14 J4853038 18 J4823033
18 N2843024
1816V J4843024
1416V J4843010
1.4 16V J4853038 1.8 MZR J4823033
1.8 16V J4843024 1.8 MZR N2843024
1416V J4853038
1.8 16V 4WD J4843024 2.0 J4823033
1516V J4843010
1.8 16V 4WD J4843024 2.0 J4823033
1516V J4843010
1.816V GT J4843024 2.0 N2843024
1516V J4843010
1.8 16V GT J4843024 2.0 N2843024
1516V J4843010
1.816V GT J4843024 2.0CD J4823033
20CD N2843024
1516V J4853038 2.3 J4823033
1.8 16V Turbo 4WD J4843024 2.3 N2843024
1516V J4853038
1.8 16V Turbo 4WD J4843024 1.8 J2843012
16 14843024
1.8 4WD J4843024 1.8 J2843012
16 J4843024

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 16 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

»1ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
1.8 J2843012 6 Hatchback (GG) 22D N2843025
2.0DI J4833001
6 Hatchback (GG)
1.8 J4833001 6 Saloon (GG) 22D N4823041
2.0DI J4833001
18 J4833001 22D N4823041
2.0DI J4833001
18 J4833001 22D N4823041
2.0 MZR J2843012
1.8 MZR J2843012 22D N4823045
2.0 MZR J2843012
1.8 MZR J2843012 22D N4823045
2.0 MZR J2843012
1.8 MZR J2843012 2.2 D 4WD N4823045
2.0 MZR J4833001
1.8 MZR J4833001 2.2D 4WD N4823045
2.0 MZR J4833001
1.8 MZR J4833001 2.2 D AWD N4823045
2.0 MZR J4833001
1.8 MZR J4833001 2.2 MRZ-CD J2843012
2.0 MzZR N4823041 2.2 MRZ-CD N4823041
2.2 MZR-CD J2843012
L8 MZR N4823041
2.0MZR N4823041
2.2 MZR-CD 12843012
L8 MZR N4823041
2.0MZR N4823041
2.2 MZR-CD J2843012
L8 MZR N4823041
2.0 MZR-CD J2843012
2.2 MZR-CD N4823041
20 12843012
2.0 MZR-CD 12843012
2.2 MZR-CD N4823041
20 12843012
2.0 MZR-CD 12843012
2.2 MZR-CD N4823041
20 12843012
2.0 MZR-CD 14833001
23 J2843012
20 14833001
2.0 MZR-CD 14833001
2.3 J2843012
20 14833001
2.0 MZR-CD 14833001
23 J2843012
20 14833001
2.0 MZR-CD N4823041
23 J4833001
20 N2843025
2.0 MZR-CD N4823041
23 J4833001
20 N2843025
2.0 MZR-CD N4823041
23 14833001
20 N4823045 2.3 AWD J2843012
22D J2843012 2.3 AWD 14833001
20 N4823045
22D J2843012 2.3 MPS Turbo 12843012
2.3 MPS Turbo 14833001
20D J2843012
22D 32843012
25 N2843025
20D J2843012
22D N2843025
25 N2843025
20D J2843012

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 17 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



A
® Distribuited by y’ ERA
NIPPARTS " sterso

moved by mechanics Steering

Applicazioni veicolari - Vehicles applications

6 Estate (GJ, GL) 626 /| MONTROSE Mk Il Coupe (GD) 2.0 4x4 J4823007

2.5 N4823045 1.8 J4823007

6 Saloon (GJ, GL) 626 MKk Il Hatchback (GD) 20D J2843004

25 N4823045 1.8 J4823007

20D 12843004

2.5 MZR J2843012 1.8 J4823007

20D 12843004

2.5 MZR J2843012 1.8i J2843004

20D 14823007

2.5 MZR J2843012 2.0 J2843004

20D 14823007

2.5 MZR J4833001 2.0 J2843004

20D 34823007

2.5 MZR J4833001 2.0 J2843004

20D 34823007

2.5 MZR J4833001 2.0 J2843004

20D 34823007

2.5 MZR N4823041 2.0 J2843004

2.0D GLX Comprex 32843004

2.5 MZR N4823041 2.0 J2843004

2.0 GLX Comprex 32843004

2.5 MZR N4823041 2.0 J4823007

2.0DITD 32843004

3.0 J2843012 2.0 J4823007

30 14833001
2.0DITD J2843004

20 J4823007

L6 12843004
2.0DITD J2843004

20 14823007

16 12843004
20HP. 12843004

20 14823007

16 12843004
20HP. 32843004

20 14823007

16 34823007
201 12843004

20 14823007

16 34823007
201 32843004

2012 14823007

16 34823007
20116V 34823007

2012V 14823007

16 34823007
2,01 4WD 32843004

2012V 14823007

16 34823007
2,01 4WD 32843004

2012V 14823007

18 32843004
2.0iTurbo J2843004

2016V J4823007

18 32843004
2.0i Turbo J2843004

2016V 14823007

18 32843004
2.0 Turbo J2843004

2016V 14823007

18 J2843004
2.0i Turbo J4823007

2016V 14823007

18 J4823007
2.0i Turbo J4823007

Original equipment numbers and pictures in this catalogue are used for reference purposes only. Page 18 Of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
626 MK |l Hatchback (GC) B-SERIE (UF) 2.2 D AWD N4843064
2.0 Turbo J4823007 2.0 J4823030 2.5 AWD N4843064
20 N4803005
626 Mk V (GF)
2.0TD J2843004 2.2 MZR-CD N4833036
22 J4823030 2.2 MZR-CD AWD N4833036
2.3 MZR DISI Turbo J2843012
2.0TD J2843004 2.3 MZR DISI Turbo N4833036
2.2 N4803005 2.3 MZR DISI Turbo AWD J2843012
2212V N4803005 2.3 MZR DISI Turbo AWD N4833036
207D J2843004 25 MZR J2843012
25MZR N4833036
2.2 4WD J4823030
2.0 Turbo DI 12843004 228V 4WD 14823030
2.2 8V 4WD N4803001 35 N4833036
3.5 AWD N4833036
2.0 Turbo DI J2843004 37 N4833036
22D N4803005 3.7 AWD N4833036
3.7 AWD N4843067
2.0 Turbo DI J2843004
25D J4823030
25D N4803001  E1600 J4823007
2212V J4823007
25D N4803005  E2000 N4823034
2212V J4823007
2.5D 4WD J4823018  E2200 N4823034
2212V J4823007  2.5D 4WD N4803001
E2200 D N4823034
2212V J4823007  2.5D 4WD N4803005
E2200 D N4823034
2.2 12V 4WD J4823007  2.57TD 4WD J4823018  E2200 D 4WD N4823034
2.5TD 4WD N4803001
2.2 12V 4WD J4823007 2.0 J2843011
2.6 J4823018  2.0DI 12843011
26 N4803005 2.3 J2843011
2.5 24V J2843004 2.6 12V 4WD J4823018  25V6 12843011
3.0iV6 12843011
2.5 24V 12843004 2.6 12V 4WD 14823018
2.6 12V 4WD N4803001 1.6 J4843010
18iV6 J4843010
20 J2843004
2612V 4WD N4803005
2.6 4WD J4823018 1616V 14843044
2.0 J4823007 2.6 4WD J4823030 18 14843044
2.6 4WD N4803005
20 J4823007 18 N4823039
26i J4823018
26i N4803001
2.0 J4823007 1.8 16V J4843044
1.8 Turbo 14843044
22 MZ-CD 4WD N4833046
2.0iGLX J4823007
20 N4823039
3.0 CDVi N4803003
2.0 Turbo J4823007 3.0 CDVi4x4 N4803003
18 J4853038
19 J4853038
2212V J4823007 3.0 CDVi4x4 N4803003 2.0 14853038
22i J4823007 2.0TD J4853038
3.0 J2843004
3.0 J4823007 20 N2843025
3.0i J2843004 2.0 N4843064 1.3 N4823035
3.0i J4823007 2.0 AWD N2843025 1.3 N4843054
2.0 AWD N4843064 2.6 Wankel N4823035
22D N2843025 2.6 Wankel N4843054
16 N4803005  2.2D N4843064
22D 4WD N2843025
22D 4WD N4843064 2.0 J4823032
2.0 J4823030 22D AWD N2843025 2.0 4WD J4823032

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 19 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
2.3 AWD J4823032 CARISMA (DA_) 1.6 GLXi 16V J2845005
2.3 GX J4823032 1.8 GDI J4825007 1.6 GLXi 16V J4825007
3.0 V6 24V 4WD J4823032 1.6 GLXi 16V N2845004
3.0 V6 AWD J4823032 CARISMA Saloon (DA_)
1.8 GDI J4825007
1.6 GTi 16V J2845000
1.6 16V J2843004 1.6 GTi 16V J4825007
2.0 V6 J2843004 1.9DI-D J2845000 1.6 GTi 16V N2845004
1.9DI-D J4825007
2.0 24V J2843004 1.6 Turbo ECi J2845005
2.0 24V J2845000 1.9DI-D J4825007 1.6 Turbo ECi J4825007
2.0 24V J4843014 1.6 Turbo ECi N2845004
2.3 24V J2843004
2.3 24V J2845000  1.9TD J2845000
2.3 24V J4843014 1.8 Diesel GLX J2845005
2,524V J2843004 1.8 Diesel GLX 14825007
2.5 24V J2845000 1.9TD J2845000 1.8 Diesel GLX N2845004
2.5 24V J4843014
2.5V6 J2843004
2.5V6 J2845000 1.9TD J4825007 1.8 GL Diesel J2845005
2.5V6 J4843014 1.8 GL Diesel J4825007
1.8 GL Diesel N2845004
1.9 TD J4825007
1.8 GTi 16V J2845000
3.0 N2845004  1.2ELGL J2845005
3.0 4WD N2845004 1.2 EL,GL J4825007 1.8 GTi 16V J2845005
3.0i 24V 4x4 N2845004 1.2 ELGL N2845004
1.8 GTi 16V J4825007
1.316V J2847010 1.3 J2845005
13 4825007
13 N2845004 1.8 GTi16V J4825007
1.6 J2845000 1.312v J2845000
1312v J4825007
1312V N2845004 1.8 GTi 16V N2845004
1.6 J2845000
13ELGL J2845005 18 GTi16V N2845004
1.6 J4825007 1.3 EL,GL J4825007
13ELGL N2845004
1300 J2845005
16 J4825007 1300 J4825007
1.3GL J2845000 1300 N2845004
136GL J4825007 1300 GL,GLX J2845005
1.8 J2845000 1300 GL,GLX J4825007
1300 GL,GLX N2845004
1.3GLi 12V J2845005 1600 J2845005
1.8 J2845000 1.3 GLi 12v J4825007 1600 J4825007
1.3 GLi 12v N2845004 1600 N2845004
1600 GLX J2845005
18 J4825007 1600 GLX J4825007
15 J2845000 1600 GLX N2845004
15 J4825007
18 J4825007 15 N2845004
1.6 GSL J2845000
1.6 Turbo J2845000
1.8 16V J2845000 1.5 GLX J2845005 1.8 GSL J2845000
1.8 16V GDI J2845000 1.5 GLX J4825007 1.8 Turbo ECi J2845000
1.5 GLX N2845004
1.8 16V GDI J2845000 2.0 N4845030
1.5 GLXi J2845000 2.4 N4845030
15 GLXi J4825007
1.8 16V GDI J4825007  1.5GLXi N2845004
2.0i16V J4845016
20016V N2845004
1.8 16V GDI J4825007 1.6 J2845005 2.0i16V 4x4 J4845016
1.6 J4825007 2.0i 16V 4x4 N2845004
16 N2845004 2.0 Turbo J4845016
1.8 GDI J2845000 1.6 4x4 J2845000 2.0 Turbo N2845004
1.6 4x4 J2845005
1.6 4x4 J4825007
1.8 GDI J2845000 1.6 4x4 N2845004 2.0 Turbo 4WD J4845023

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 20 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
2.0 Turbo 4WD N2845004 YNNG ENSAN=E) GALANT MK IV (E3_A)
2000 GS 16V J4845023 1.8 GLSI N2845004 2.0 4x4 J4845016
2000 GS 16V N2845004
2000 GT 16V J4845023 YRG!
2000 GT 16V N2845004 1.8 Turbo-D J2845000 2.0 4x4 J4845016
2400 GS 16V 14845023
2400 GS 16V N2845004
1.8 Turbo-D J2845000 2.0 4x4 N2845004
L8 N2845004
2.0 N2845004 1.8 Turbo-D J2845000 2.0 4x4 N2845004
1.6 N2845004 1.8 Turbo-D J4845014  2.0GDI N2845004
1.8 Turbo-D J4845016
1.6 GLX J2845000 2.0GLS J2845000
1.8 Turbo-D J4845016
1.6 GLX J2845000 2.0GLS J2845000
1.8 Turbo-D J4845016  2.0GLS 14845014
20GLS 34845016
L6 GLX 32845000
1.6 GLX J4845014 1.8 Turbo-D N2845004
1.6 GLX 14845016 2.0GLS N2845004
GALANT MK Il (A16_) 1.8 Turbo-D N2845004
1.6 GLX N2845004 2.0GLS N2845004
L8 Turbo-D N2845004
1.6 GLX N2845004 2.0 GLSI 12845000
2.0 J2845000 [ENYNITAEENCENTN=))
1.6 GLX N2845004 2.0 GLSI 12845000
20GLSI 14845016
20 72845000
18 32845000
GALANT MK V Saloon (E5_A, E7_A, E8 A) 2.0 GLSI N2845004
20 32845000
1.8 J2845000 GALANT Mk V Saloon (E5_A, E7_A, E8_A)
20GLs| N2845004
GALANT MK V (E5_A, E7_A, E8_A) 2.0 J4845016
18 32845000
2.0 GLS| 44 32845000
GALANT Mk V Saloon (E5_A, E7_A, E8_A) 2.0 J4845016
1.8 J2845000 GALANT Mk V Saloon (E5_A, E7_A, E8_A)
GALANT MK V Saloon (E5_A, E7_A, E8_A) 2.0 GLSI 4x4 J2845000
2.0 J4845016 2.0 GLSI 4x4 J4845016
18 J4845016
2.0 J4845023 2.0 GLSI 4x4 N2845004
1.8 J4845016
GALANT Mk V Saloon (E5 A, E7_A, E6_A)
GALANT MK V (E5_A, E7_A, E8_A) 2.0 J4845023 2.0 GLSI 4x4 N2845004
1.8 J4845016
20 N2845004 2.0 GLSTD 32845000
1.8 J4845016
GALANT Mk V' Saloon (E5_A, E7_A, E8_A)
20 N2845004  20GLSTD 72845000
1.8 N2845004
GALANT MK IV Saloon (E3_A)
20 N2845004 2.0 GLSTD 34845016
1.8 N2845004 2.0 GLSTD N2845004
GALANT Mk V Saloon (E5_A, E7_A, E8_A)
2.0 N2845004 GALANT Mk V Saloon (E5_A, E7_A, E8 A)
18 N2845004 2.0 GLSTD N2845004
20 N2845004
18 N2845004 2.0 GLX J2845000
206LX N2845004
204xd 32845000
18 GDi N2845004
20GTI 16V 32845000
20 4x4 12845000
L8 GLSI N2845004

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 21 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

»1ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
2.0 GTi 16V J2845000 [EYNIANCYCS) L200 (K3_T, K2_T, K1_T, KO_T)

2.3 Turbo-D N2845004 2.0 N4805030
GALANT MK IV (E3_A) 2.0 4WD J4825000
2.0 GTI 16V RYCYCOII GALANT MK Il Station Wagon (A16_V) 2.0 4WD N4805030

2.3 Turbo-D N2845004 2.0 4x4 J4825000
2.0 4x4 N4805030
2.0 GTi 16V J4845016 24 14825000

2.4 GDI J4845023
2.0 GTI 16V N2845004 2.4 N2845007

2.4 GDI J4845023
1200 (K3_T K2_T, KL T. KO_T)

2.0 GTi 16V N2845004 24 N4805030

2.4 GDI N2845004
2.0 GTI 16V 4x4 J2845000 2.4 4WD N2845007

2.4 GDI N2845004
L200 (K3_T, K2_T, K1_T, K0_T)

2.0 GTI 16V 4x4 J2845000 2.4 4x4 J4825000
2.4GLS J2845000
24GLS 14845016
2.0 GTI 16V 4x4 J4845016 2.4 GLS N2845004 2.4 4x4 N4805026
GALANT Mk V (E5_A, E7_A, E8_A) L200 (K3_T, K2_T, K1_T, KO_T)
2.0 GTi 16V 4x4 J4845016 25 N2845004 2.4 4x4 N4805030
2.0 GTI 16V 4x4 N2845004  2.5Type S N2845004 25D J4825000
2.5V6 24V J4845023 25D N4805026
2.0GTi 16V 4xd N2845004
2.5V6 24V J4845023 25D N4805030
25D 4WD N4805030
207D 34845023

2.5 V6 24V N2845004
25D1D N2845007
207D 34845023

2.5 V6 24V N2845004
25D1D N2845007
2.0 TDI N2845004 [ENNIITICENEAN=ND)

2.5 V6-24 4x4 72845000
2.5 DI-D (16V) 4WD N2845007
2.0 TDI PEELZIE GALANT Mk V Saloon (E5_A, E7_A, E8_A) 2.5 DID [RWD] N2845007

2.5 V6-24 4x4 J2845000 2.5 DI-D [RWD] N2845007
25 DI-D 4x4 N2845007
2.0 Turbo ECi 32845000 [EYNITICENNN=N))

2.5 V6-24 4x4 N2845004
251D N4805026
2.0 Turbo ECi RPEYCOO GALANT Mk V Saloon (E5_A, E7_A, E8_A) 2.5TD 4WD N4805026
2.0 Turbo ECi J4845014 2.5 V6-24 4x4 N2845004
2.0 Turbo EC 14845016

25D 4WD N4805030
287D N2845004
2.0 Turbo ECi N2845004

257D 4xd N4805026
30 N2845004
2.0 Turbo ECi N2845004

2.6 J4825000
GALANT MK V (E5_A, E7_A, E8_A) 25TD J4825000 2.6 N4805030
2.0 V6-24 J2845000 25TD J4825030 2.6 4WD J4825000

2.5 TD intercooler J4825000 2.6 4WD N4805030
GALANT Mk V Saloon (E5_A, E7_A, E8_A) 2.5 TD intercooler J4825029
2.0 V6-24 J2845000 2.5 TD intercooler J4825030

3.0V6 J4825000 2.8 TD 4x4 J4825000
GALANT MK V (E5_A, E7_A, E8_A) 3.0V6 J4825030  2.8TD4x4 N4805026
2.0 V6-24 N2845004
GALANT Mk V Saloon (E5_A, E7_A, E8_A) i-MIEV J4825007  3.54WD N2845007
2.0 V6-24 N2845004  MIEV J4825007 3.5 4x4 N2845007

3.5 Flex 4WD N2845007
L200 (K3_T, K2_T, K1_T, KO_T)
2.3 Turbo-D J2845000 2.0 J4825000
1.6 J4845014
GALANT Mk Il Station Wagon (A16_V) L200 (K7_T, K6_T)
2.3 Turbo-D J2845000 20 N4805026  [NENOINZNGIRARAAY)

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

1.6 J4845014
Page 22 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



Distribuited by :’ ERA

QUALITY CARE PRECISION

NIPPARTS

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
L 300 Il Bus (PO_W, P1_W, P2_W, P3_W) L 300 Il Van (PO_V, P1_V, P_2V) 2500 TD N2845004
1.6 N2845004 25TD J4825031
L 300 Ill Van (PO_V, P1_V, P_2V) L 300 Il Bus (PO_W, P1_W, P2_W, P3_W) 2500 TD N2845004
1.6 N2845004 25TD J4845014
L 300 IIl Van (PO_V, P1_V, P_2V) 2500 TD N4845030
1.8 J4825000 25TD J4845014
2500 TD N4845030
1.8 J4825000 25TD N2845004 2500 TD 4x4 J4825010
2500 TD 4x4 J4835001
2500 TD 4x4 N2845004
1.8 4x4 J4825000 2.5 TD 4WD J4825031
2.5TD 4WD J4845014
2.44WD N2845007
20 J4845014 2.4DI-D N2845007
2.5TD 4x4 J4825031 2.4 DI-D 4WD N2845007
25DI-D N2845007
2.0 J4845014 2.5 DI-D 4WD N2845007
2.0 J4825010
20 N2845004 12 J2845005
2.0 J4825010 1.2 J4825007
12 N2845004
20 N2845004 12GL J2845005
2.0 N2845004 1.2GL J4825007
L 300 Il Van (PO_V, P1_V, P_2V) 1.2GL N2845004
20 N2845004
20 N2845004
13 J2845000
2.0 4WD J4845010
20 N4845030
L 300/ DELICA Il Bus (LO3_P/G, LO_2P) 1.3 J2845000
2.0 4x4 J4825000
2.0 N4845030
L 300 Ill Van (PO_V, P1_V, P_2V) 1.3 J4825007
2.0 4x4 J4845014
2.0 4x4 N2845004  2.016V J4825010
2.0 16V N2845004 13 J4825007
2016V N4845030
20GLS J4845014 2.4 J4825010
2.0GLS N2845004 1.3 J4825007
20i J4845014
20i N2845004 2.4 J4825010
2.4 J4845014 13 N2845004
24 N2845004
2.4 J4845014 13 N2845004
24 N2845004
2.4 N2845004 13 N4845029
24 N4845030
2.4 N2845004 1.312v J2845000
24 N4845030
2.4 4WD J4845010 1.312v J2845000
24i J4845014
25D J4825031  2.44WD J4825010
25D J4845014 2.4i4x4 J4825010 1.312v J2845000
24i4x4 N2845004
257D J4825010
25D J4845014 25TD J4835001 1.312v J4825007
25TD N2845004
257D N4845030
25D N2845004 2.5TD 4x4 J4825010 1.312v J4825007
2.5TD 4x4 J4835001
2.5TD 4x4 N2845004
25D N2845004 2500 TD J4825010 1.312v J4825007
25TD J4825031 2500 TD J4825010 1.312v N2845004
2500 TD J4835001

L 300 Ill Platform/Chassis (P1_T)

25TD J4825031

L400 Bus (PD_W, PC_W, PA_V, PB_V, PA_W)

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

LANCER Mk IV Hatchback (C6_A, C7_A)

1.312v

N2845004
Page 23 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

moved by mechanics

Applicazioni veicolari - Vehicles applications

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

LANCER Mk VI (CJ_, CP_)

1.312v N2845004

LANCER MK IV (C6_A, C7_A)
15 J2845000

LANCER Mk IV Hatchback (C6_A, C7_A)
15 J2845000

LANCER Mk Il Station Wagon (C1_V, C3_V)
15 J2845005
15 J4825007

LANCER MK IV (C6_A, C7_A)
15 J4825007

LANCER Mk IV Hatchback (C6_A, C7_A)
15 J4825007

LANCER Mk V (CB_A, CD_A, CE_A)
15 J4825007

LANCER Mk V Station Wagon (CB_W, CD_W)
15 J4825007

LANCER MKk Il Station Wagon (C1_V, C3_V)
15 N2845004

LANCER MK IV (C6_A, C7_A)
15 N2845004

LANCER Mk IV Hatchback (C6_A, C7_A)
15 N2845004

LANCER Mk V (CB_A, CD_A, CE_A)
15 N2845004

LANCER Mk V Station Wagon (CB_W, CD_W)
15 N2845004

LANCER MK IV (C6_A, C7_A)
1.5 12V

J2845000

LANCER Mk IV Hatchback (C6_A, C7_A)
1512V J2845000

LANCER Mk VI (CJ_, CP_)

1512V J2845000

LANCER Mk Il Station Wagon (C1_V, C3_V)
1512V J2845005
1.512v J4825007

LANCER MK IV (C6_A, C7_A)

1.512v J4825007

LANCER Mk IV Hatchback (C6_A, C7_A)
1512V J4825007

LANCER Mk VI (CJ_, CP_)
1512V

J4825007

LANCER Mk Il Station Wagon (C1_V, C3_V)
1512v N2845004

LANCER MK IV (C6_A, C7_A)

1.512v N2845004

LANCER Mk IV Hatchback (C6_A, C7_A)
1512V N2845004

LANCER Mk VI (CJ_, CP_)

1.512v N2845004

LANCER MK IV (C6_A, C7_A)

15GLS J2845000

1.5GLS J4825007 1.6 GTi J4825007
1.5GLS N2845004 1.6 GTi N2845004
LANCER MK Il (1A, C6_A)
1.5 GLX J2845000 1.8 16V J2845000
1.5 GLX J2845005 1.8 16V J4825007
1.5 GLX J4825007
15 GLX N2845004
1.8 16V J4825007
L6 32845000
1.6 J4825007 1.8 16V N2845004
1.6 J4825007 1.8 16V N2845004
1.6 J4825007 1.8 4x4 J2845005
1.6 N2845004 1.8 4x4 J2845005
1.6 N4845029 1.8 4x4 J4825007
1.6 N4845029 1.8 4x4 J4825007
1.6 16V J2845000 1.8 4x4 N2845004
1.6 16V J2845000 1.8 4x4 N2845004
1.6 16V J4825007 1.8D J2845005
1.6 16V J4825007 1.8D J2845005
1.6 16V J4825007 1.8D J4825007
1.6 16V J4825007 18D J4825007
1.6 16V N2845004 1.8D N2845004
1.6 16V N2845004 1.8D N2845004
1.6 16V N2845004 1.8 Diesel J2845005
1.8 Diesel J4825007
L8 Diesel N2845004
1.6 16V N2845004
18 GLX Diesel 32845005
1.6 16V 4WD J4825007 1.8 GLX Diesel J4825007
1.8 GLX Diesel N2845004
16 16V 4WD 34825007
1.8 GTi 16V J2845000
L8 GTi 16V 34825007
1.6 16V 4WD N2845004 1.8 GTi 16V N2845004
1.6 16V 4WD N2845004 1.8i J4825007
1.8i N2845004

LANCER Mk IV Hatchback (C6_A, C7_A)

1.6 4x4

LANCER MKk IV (C6_A, C7_A)
1.6 GLX
1.6 GLX

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

34825007
1.8 i Turbo AWD J4825007
1.8i Turbo AWD N2845004

J4825007

N2845004

Page 24 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

»1ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
2.0 J4825007 PAJERO/SHOGUN MK Il Canvas Top (L04_G) 3.2DI-D J4825025
2.5TD J4805012 3.2DI-D J4845022
LANCER VII (CS_A, CT_A) 3.2DI-D N2855001
2.0 N4845029 PAJERO/SHOGUN (L04_G, L14_G)
2.5TD J4825000
3.2 DD 4WD 14825025
20 N4845029 3.2 DiD 4WD 14845022
25TD J4825000 3.2 DiD 4WD N2855001
2016V EVO N2845004
25TD J4825029 3.2 DiD 4x4 J4825025
3.2 DID 4x4 14845022
2.0 16V EVO IX N4845029 3.2 DID 4x4 N2855001
2.0 16V EVO VIII N4845029 2.5TD 4x4 J4805012 3.5 4x4 J4825025
2.0 4x4 N4845029 2.5TD 4x4 J4825000 3.54x4 J4845022
3.54x4 N2855001
20D J4825007  2.57TD 4x4 J4825029
3.5 V6 24V J4825029
3.5 V6 24V N2855001
20D J4825007 2.5TDi J4825025
3.5 V6 GDI J4825025
20D J4825007 2.5 TDi J4825025 3.5 V6 GDI J4825029
3.5V6 GDI J4845022
3.5 V6 GDI N2855001
20D N2845004 2.5 TDi J4845022
38 14825025
20D N2845004 2.5 TDi J4845022 3.8 J4845022
3.8 N2855001
2.0 Diesel J2845000  2.5TDi N2855001
2.0 Diesel J4825007 25TD J4825025
2.0 Diesel N2845004 25D 14845022
20EVOI J2845000 2.5 TDi N2855001 25TD N2855001
20EVO Il J2845000 3.2 DiD J4825025
2.0EVO Il J2845000 3.2 DID J4845022
2.5 TDiC 2WD J4825029 3.2DiD N2855001
13 J2845000
2.6 J4805012 2.5 DI-D N2845007
26 J4825000  2.5DI-D N4805026
13 J2845000 2.5 DI-D 4x4 N2845007
2.5DI-D 4x4 N4805026
2.6 4x4 J4805012
15 J2845000 2.6 4x4 J4825000
25TD J4825025
257D 14845022
15 J2845000 2.6 4x4 J4825029 25TD N2855001
28D J4825029 2.8 TDi 14825029
28D N2855001
1.0 J4825007 287D J4825029
1.2 J4825007 2.8TD N2855001 3.0 4WD N2845007
2.0 4x4 J4805012 3.0i4x4 J4805012 3.0 4WD N2855001
2.0 4x4 J4825000 3.0 4x4 J4825000
2.0 Turbo 4x4 J4805012  3.0V6 J4805012
2.0 Turbo 4x4 J4825000 3.0V6 J4825000 3.0 4WD N4805026
2.3D J4805012
23D J4825000
3.0V6 J4825029 3.0 V6 N2855001
3.0 V6 24V J4825029
237D J4805012
237D J4825000 3.2 4x4 N4805026
3.0 V6 24V J4825029 3.5 V6 24V N4805026
24 14825029
3.0 V6 24V N2855001 2.0 16V N2845004
2.0 16V 4x4 N2845004
24 J4825029
3.0 V6 24V N2855001
3.0 V6 4x4 J4825029 1.6 GLX J4845014
25TD J4805012 1.6 GLX N2845004

PAJERO/SHOGUN Mk IIl Canvas Top (V6_W, V7_W.

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 25 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
SAPPORO (A12)) 2.0 4x4 J4845014 ALMERA (N15)
1.6 SL,GL J4845014 2.0 4x4 N2845004 1.4 GX,LX J4821000
1.6 SL,GL N2845004
20 APV R SPACE WAGON (N3_W, N4_W)
2.0 N2845004 2.0 4x4 N2845004 1.4 S,GX,LX J4821000
2.0 GSL J4845014 2.0 GLX N2845004 15 J2841016
2.0GSL N2845004 2.0 GLX 4x4 J4845014
2.0 GSR J4845014 2.0 GLX 4x4 N2845004
2.0GSR N2845004 2.0 GLXi N2845004 15 J4821000
2.0 Turbo ECi J4845014 2.0 GLXi 4x4 J4845014
2.0 Turbo ECi N2845004 2.0 GLXi 4x4 N2845004
15 J4821000
SAPPORO Mk Il (E16A)

24 J4845014  2.0TD N2845004
2.4 N2845004 1.5dCi J2841016
14 GLX J2845000
3.0 N2845004 1.4 GLX N2845004 1.6 J4821000
1.6 Turbo J2845000
SIGMA (F2_A, F1_A) 1.6 Turbo N2845004
3.0 V6 N2845004 1.8 GLS J2845000 1.6 J4821000
1.8 GLS N2845004
1.8 GLS AWD J2845000
1.8 J4845016 1.8 GLS AWD N2845004 1.6 SLX J4821000

1.8 N2845004 1.8 Turbo J2845000
1.8 4x4 N2845004 1.8 Turbo N2845004
2.0 16V N2845004 2.0 GLXi 4WD J4845014 1.6 SR,SLX J4821000
20TD N2845004 GLS 1.6 J2845000
GLS 16 N2845004
18 J2841016
1.3 16V J2847010 2.2 Di J2841016
1.316V J4825007
16 J2845000
1.6 J2847010 1.6 J4821000 1.8 J2841016
1.6 J4825007 1.6 SR J4821000 1.8 J4841039
1.6 16V J2845000 2.0 GTI J4821000 2.0 J2841016
1.6 16V J2847010 2.0 J4841039
1.6 16V 4825007 2.2 dCi J2841016
1.8 GDI J2845000 1.8 J4841000 2.2dCi J4841039
1.8 GDI J2847010 1.8 Turbo J4841000 2.2 Di J2841016
1.8 GDI J4825007 2.2Di J4841039
1.8 MPI J2845000
1.8 MPI J2847010 20116V J4841000
1.8 MPI J4825007 1.6 J2845005
1.9DI-D J2845000
1.9DI-D J2847010 35 N4821115
1.9DI-D J4825007 1.6 J2845005
35 N4821115
1.8 N2845004 1.6 J4821000
35 N4831115
1.8 4x4 J4845016 1.6 J4821000
1.8.4x4 N2845004
35 N4831115
16 J4841000
1.8 4x4 N2845004
35 N4841057
16 J4841000
1.8 GLX N2845004
1.8TD J4845014 35 N4841057
1.8 TD N2845004 1.8 J2845005
37 J2843012
1.8 TD N2845004 1.8 J2845005
37 J2843012
2.0 J4845014 1.8 J4821000
14 J4821000
2.0 N2845004 1.8 J4841000
14 J4821000

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 26 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

»1ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
18 J4841000 20D J4841000 16 14841018
1.7D J2845005
BLUEBIRD Hatchback (T72, T12) BLUEBIRD (U11) 1.7D J4841018
1.8 J4841000 20D J4841000
14 N4821106
18116V J2845005 20D J4841000 15 N4821106
1.8i16V J2845005 20D J4841000 1.5dCi N4821106
1.6 16V N4821106
18116V J4821000  2.0i J2845005
dCi 100 J4821092
18i16v J4821000  20i J2845005
dCi 100 J4821092
18116V J4841000  2.0i J4821000
dCi 100 J4821092
18i16v J4841000  20i J4821000
dCi 120 J4821092
1.8 Turbo J2845005  2.0i J4821000
dCi 120 J4821092
1.8 Turbo J2845005  2.0i J4821000
dCi 120 J4821092
1.8 Turbo J4821000  2.0i J4841000
dCi 140 J4821092
1.8 Turbo J4821000  2.0i J4841000
dCi 140 J4821092
1.8 Turbo J4841000 2.0i J4841000 INTERSTAR Van (X70)
dCi 140 J4821092
1.8 Turbo J4841000  2.0i J4841000
2.0LX J2845005 dCi 150 J4821092
1.8 Turbo J4841000
2.0LX J4821000 dCi 150 J4821092
20 J4821000
2.0LX J4821000 dCi 150 J4821092
20 J4821000
2.0LX J4841000 dCi 80 J4821092
20 J4821000
2.0LX J4841000 dCi 80 J4821092
20 J4841000
2.0 N4821109 dCl 90 J4821092
25D N4821109
20 J4841000
dci 90 J4821092
28.11 DCI, 32.11 DCI, 35.11 DCI 2.5 N4821109
2.0 J4841000  28.12 DCI, 35.12 DCI 2.5 N4821109
20D J2845005 35.13 DCI, 45.13 DCI 2.5 N4821109 1.2 DIG-T N4841054
35.14 DCI 2.5 N4821109 1.5dCi N4841054
35.14 DCI 3.0 N4821109 16 N4841054
20D J4821000 35.15 DCI, 45.15 DCI 3.0 N4821109 1.6 DIG-T N4841054
1.6 DIG-T 4x4 N4841054
1.6 DIG-T NISMO 4x4 N4841054
20D J4821000 1.0 J2845005 1.6 DIG-T NISMO RS 4x4 N4841054
1.0 J4841018 1.6 LPG N4841054
13 J2845005
20D J4821000 13 74841018
1.5 J2845005 1.2 J4831100
15 J4841018 1.2 N4841051
20D J4821000 1.5 ET Turbo J2845005 1.2 16V J4831100
1.5 ET Turbo J4841000 1.2 16V N4841051
1.5 ET Turbo 14841018 14 J4831100

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 27 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
1.5 dCi J4831100 MICRA C+C IIl (K12) 2.5 dCi N4841044
1.5dCi N4841051 1.6 160 SR J4831011
1.5dCi 70 J4831100 16160 SR 4831100
1.6 16V J4831100 2.5dCi N4841044
16 16V N4841051
dciss J4831100 160 SR J4831100
160 SR N2841035 2.5dCi N4841044
20 J4841020
2.0 J4821088 2.5 dCi 4WD N2841033
2.0 J4821089
2.0 QX J4841020 20 N4811028
2.5V6 24V J4841020 2.4 J4821088 2.5 dCi 4WD N2841033
2.4 J4821089
24 N4811028
2.5 V6 24V J4841020 2.4 4x4 J4821088 2.5dCi 4WD N4841044
3.0 J4841020 2.4 4x4 J4821089
2.4 4x4 N4811028
2.5 D 4x4 J4821088 2.5 dCi 4WD N4841044
3.0 QX J4841020 2.5D 4x4 J4821089
25D 4x4 N4811028
2.5 dCi 4x4 14821088
1.0 J2845005 2.5 dCi 4x4 N4811028
1.0 J2851005 2.5 Di J4821088 2.5dCi 4x4 N4841044
1.0 J4841000 2.5Di J4821089
2.5Di N4811028
2.5 Di 4WD 14821088  3.0dCi N2841033
1.0 16V J4831011 2.5 Di 4WD J4821089 3.0dCi N4841044
1.0 16V J4831100 2.5 Di 4WD N4811028
1016V N2841035
3.0 dCi 4WD N2841033
25TD J4821088 3.0 dCi 4WD N4841044
1.0i16V J2851005 25TD J4821089
10116V J4841000  25TD N4811028
2.5TD 4x4 J4821088 1.5 dci N2841035
257D 4x4 J4821089
12 J2845005  2.57TD 4x4 N4811028
1.2 J2851005 2.5 TDIiC 4x4 N4811028 1.5 dci N2841035
1.2 J4841000 3.0 J4821088
3.0 4821089
3.0 N4811028 1.5 dci N4821106
1.2 16V J4831011 3.0 4x4 J4821088
1.2 16V J4831100 3.0 4x4 J4821089
1.216V N2841035 3.0 4x4 N4811028 1.5 dci N4821106
1.2 LPG J4831011 3.0 TD 4x4 J4821088
121PG J4831100 3.0 TD 4x4 14821089
1.2 LPG N2841035 3.0 TD 4x4 N4811028 1.6 16V N2841035
3.2 D 4x4 J4821088
3.2D 4x4 14821089
1.3i16V J2851005 3.2 D 4x4 N4811028 1.6 16V N2841035
13116V J4841000  3.34x4 14821088
3.3 4x4 14821089
3.3 4x4 N4811028 1.6 16V N4821106
1.416V J4831011
14 N2841035  1.616V N4821106
1.4 16V J4831011 1.4 N4821106
15 N4821106
15 dCi N2841035 2.3 dCi 14821092
1.4 16V J4831100 1.5dCi N4821106
16 N2841035
16 N4821106 2.3 dCi 14821092
1.4 16V J4831100
1416V N2841035
2.5dCi J4821088 2.3 dCi J4821092
14116V J2851005
1.4i16V J4841000 2.5dCi N2841033 2.3dCi [RWD] J4821092
15D J2851005
15D J4841000
2.5dCi N2841033 2.3dCi [RWD] J4821092
15 dCi J4831011
1.5dCi J4831100 2.5dCi N4811028 2.4 All-wheel Drive J4831003
1.5 dCi N2841035

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 28 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

»1ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
2.5 dCi N2841033 PATROL I1l/1 Hardtop (K160) 2.5 D 4WD J4821089
2.5 dCi N4841044 3.2TD J4821019
2.5 dCi 4WD N2841033
2.5 dCi 4WD N4841044 PATROL III/1 Station Wagon (W160) 2.5 D 4WD J4831003
3.2TD J4821019
2.7 TD 4WD J4821088 2.5D 4WD N4811028
4.2 CAT J4831015 2.5 Di J4821089
42D J4831015  2.5Di N4811028
3.0dCi N2841033 2.5TD 4WD J4821088
3.0 dCi N4841044 2.5 TD 4WD J4821089
4.2D 4x4 J4821085 2.5TD 4WD N4811028
27D N4811028
3.0 DDTi 4WD J4821088
3.2 TD 4WD J4821088  4.2D 4x4 J4831015
3.3V6 4WD J4821088 2.7 D 4WD J4801013
3.5 V6 4WD J4821088
427D J4821085
4.2 TDi J4821085  3.2D 4WD 14821088
4.0 4WD N2841033 4.8 J4821085 3.2 D 4WD J4821089
4.0 AWD N4841044 3.2 D 4WD N4811028
2.0 J4801013
2.8 J4821019 2.0 N4801021 158 J4841000
23D J4801013 1.8 SGL J4841000
23D N4801021 2.0 J4841000
2.8 J4821019 2.4 J4801013
2.0 J4841000
2.8 J4821019 2.4 J4821088
24 J4821089
2.0 4x4 J4841000
28D J4821019
2.4 N4801021
2.0 4x4 J4841000
28D J4821019 20i J4841000
24 N4811028 24i J4841000
28D 4x4 J4821019
2.4 4WD J4801013 1.9 dCi J2841017
1.9 dCi 80 12841017
287D J4821019 20 J2841017
2.4 4WD J4821088
2.4 4WD 14821089
2.8TD J4821019 2.4 AWD N4811028 2.0 J2841017
2.8TD J4821019 2.4 4x4 J4801013 2.5dCi 140 J2841017
2.5dCi 150 J2841017
287D J4821019  24i J4821088
2.4i N4811028 dCi 100 J2841017
dci115 J2841017
287D J4821085 dCi 120 J2841017
2.4i12V N4801021 dCi 140 J2841017
2.4112V 4WD J4801013  dCi150 12841017
2.8 TD J4831015 2.4i12V 4WD J4831003 dCi 80 J2841017
2.4i4WD J4801013 dCi 90 J2841017
2.87TD 4x4 J4821019
2.4 4WD J4821088 1.6 J2841016
2.4i4WD J4821089
2.8 TDIC J4821085  2.4i4WD N4811028
3.0DTi J4821085 1.6 J2841016
25D J4801013
32D J4821019 25D N4801021 16i J4821000
32D J4821019 25D N4811028 1.6 Visia J2841016
32D J4821019 2.5D 4WD J4801013 1.8 J2841016
32D J4821019 2.5D 4WD J4821088 1.8 J2841016

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 29 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



A
® Distribuited by y’ ERA
NIPPARTS " sterso

moved by mechanics Steering

Applicazioni veicolari - Vehicles applications

PRIMERA Hatchback (P12) 2.0 N4821103 SUNNY MK Il (N14)
18 J2841016 1.4i J4821000
QASHQAI Il SUV (311, J11)
PRIMERA (P12) 20 N4821118
1.9 dCi J2841016 141 J4821000
20 N4841052
1.9 dCi J2841016 141 J4821000
2.0 ALL MODE 4x4- N4821118
1.9 dCi J2841016 1.4i16V J4821000
QASHQAI / QASHQAI +2 | (310, NJ10, JJ10E)

2.0 Allwheel Drive N4821103
2.0 J2841016 2.0 All-wheel Drive N4841052  1.4i16V J4821000
2.0 AWD N4821103
2.0 AWD N4841052
2.0 J2841016  2.0dCi N4821103  1.4i16V J4821000
2.0 dCi N4841052
2.0 dCi All-wheel Drive N4821103
2.0 J2841016 2.0 dCi All-wheel Drive N4841052  1.4LX J4841018
2.0 J4821000 1.6 16V N2841025  1.4LX J4841018

2.0D J4821000  2.016V N2841025
20i 34821000 20D N2841025
2.0 D (KVJC23) N2841025 1.5 J4841000
207D N2841025
2.2 dCi J2841016 2.0 TD 4WD N2841025
15 J4841018
STANZA (T11)
22 dCi J2841016 16 34841000
15 J4841018
STANZA Hatchback (T11)
22 dCi J2841016 16 34841000
18 J4841000 1.5 J4841018
22Di 32841016
1.8 SGL J4841000 1.5 J4841018
22Di 12841016
1.0 J4841018 15 J4841018
2.2Di 32841016
13 J4841000 1.5 J4841018
12DIGT N4821118
13 J4841000 1.5 J4841018
15 Ci N4821103
13 J4841000 1.6 J4821000
15 Ci N4821118
13 J4841018 1.6 J4841000
15 dCi N4841052
16 N4821103 1.3 J4841018 1.6 J4841000
16 N4841052
16 Ci N4821103
13 J4841018 1.6 J4841000
1.6 dCi N4821118
13 J4841018 1.6 J4841018
16 dCi N4841052
1.4 J4821000 1.6 J4841018
1.6 dCi 4x4 N4821118
1.4 J4821000 1.6 J4841018
1.6 dCi All-wheel Drive N4821103
1.6 dCi All-wheel Drive N4841052 1.4 J4841000 1.6 J4841018
1.4 14841018
1.6 DIG-T N4821118 1.6 4x4 14841018
1.4 J4841018 1.6 GTI 16V J4841000

Original equipment numbers and pictures in this catalogue are used for reference purposes only. Page 30 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



A
® Distribuited by y’ ERA
NIPPARTS " sterso

moved by mechanics Steering

Applicazioni veicolari - Vehicles applications

SUNNY Mk Il Coupe (B12)

SUNNY Mk III Liftback (N14)

TEANA Il (J32)

1.6 GTI 16V J4841000 1.6i16V J4821000 25 J2841016
SUNNY Mk Il Hatchback (N13) SUNNY Mk IIl Hatchback (N14)
1.6 GTI 16V J4841000 1.6 16V 4x4 J4821000 BI5) J2841016
1.6 GTI 16V J4841018 1.6 16V 4x4 J4821000 BI5) J2841016
1.6 GTI 16V J4841018 1.6i4x4 J4841000 2.4 4WD J4831003
2.4i12V 4WD J4831003
2.7 7D 4WD 14831003
1.6 GTI 16V J4841018 1.6i4x4 J4841000
2.7 DI 4WD 14831003
16i J4821000 1.6 SGX J4841018
2.7 DI 4WD 14831003
16i J4821000 1.6 SLX 4x4 J4841018
3.0 Di 4WD 14831003
16i J4821000 1.7D J4821000
3.0 Di 4WD 14831003
16i J4821000 1.7D J4841000 3.0 DIiTD 4WD J4831003
B3 J4831003
3.34WD 14831003
16i J4841000 17D J4841000
301 4WD 14831003
16i J4841000 1.7D J4841000
15 N4821106
16i J4841018 1.7D J4841000 1.5dCi N4821106
16i J4841018 1.7D J4841018 1.5dCi N4821106
16i J4841018 1.7D J4841018 1.6 N4821106
16i J4841018 1.8 GTI 16V J4841000 1.6 N4821106
1.6i12v J4841000 1.8 GTI 16V J4841000 1.8 N4821106
1.6i12v J4841000 1.8 GTI 16V J4841018 1.8 N4821106
1.6i12v J4841000 1.8 GTI 16V J4841018 2.0 J4821088
1.6i12v J4841018 20D J4821000 2.0 N4821103
2.0 N4841052
16112V J4841018 20D 14821000
2.0 4x4 J4821088
16112V J4841018 20D 14821000
2.0dCi N4821103
2.0 dCi N4841052
1.6i12v J4841018 20D J4821000 2.0 dCi FWD N4821103
1.6112V 4x4 J4841000 2.0 dCi FWD N4841052
2.0 FWD N4821103
2.0 GTI 16V J4821000 2.0 FWD N4841052
1.6i16V J4821000
20116V J4821000  2.2dCi J4821088
1.6i16V J4821000 2.2 dCi 4x4 J4821088
2.2 DCi FWD 14821088
2.0 J2841016 2.2 Didxa 14821088
1.6i16V J4821000 2.3 J2841016
Original equipment numbers and pictures in this catalogue are used for reference purposes only. Page 31 Of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



> 1ERA
NIPPARTS’ g
Sterzo

moved by mechanics Steering

Applicazioni veicolari - Vehicles applications

25 N4821103 1.8i J4820901 KADETT E Combo (T85)
25 N4841052 14i J4820901
ASCONA C Hatchback (J82)
X-TRAIL (T30) L8i 14820901
2.5 4x4 J4821088 14i J4820901
1.4i J4820901
AGILA (A) (H00) 201 14820901
1.0 N4828018 14i J4820901
10 N4848015
1.0 12V N4828018  2.0iCAT J4820901
1.012v N4848015 14i J4820901
1.2 16V N4828018
1216V N4848015  2.0iCAT J4820901
1.2 16V Twinport N4828018 148 J4820901
12 16V Twinport N4848015
1.3 CDTI N4828018  2.01GT J4820901
1.3 CDTI N4848015 148 J4820901
201GT 34820901
13N J4820901 148 J4820901
12 34820901
13N J4820901 148 J4820901
12 34820901
188 J4820901 148 J4820901
12 34820901
185 J4820901 1.5TD J4820901
12 34820901
1.6 J4820901 1.5TD J4820901
131 CAT 34820901
1.6 J4820901 1.5TD J4820901
131 CAT 34820901
16D J4820901 1.6 J4820901
131 CAT 34820901
1.6 D J4820901 1.6 J4820901
L3N 34820901
16i J4820901 16D J4820901
L3N 34820901
16i J4820901 1.6D J4820901
L3N 34820901
1.6i CAT J4820901 16D J4820901
L3N 34820901
1.6i CAT J4820901 16D J4820901
L3N 34820901
16S J4820901 16D J4820901
138 J4820901
16S J4820901 16i J4820901
138 J4820901
18 J4820901 16i J4820901
138 J4820901
18 J4820901 1.6i J4820901
138 J4820901
18E J4820901 16i J4820901
138 J4820901
18E J4820901 16i J4820901
14i J4820901
Original equipment numbers and pictures in this catalogue are used for reference purposes only. Page 32 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

»1ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
16i J4820901 2.0 GSI 16V CAT J4820901 MOVANO Dump Truck (X70)
2.0 GSI CAT J4820901 2.5 DTI J4821092
KADETT E (T85)
161 CAT RZTFITa K ADETT E (T85)
2.0i J4820901 2.5 DTi J4821092
161 CAT 74820901
2.0i J4820901 2.5 DTI J4821092
161 CAT 14820901
2.0i J4820901 2.8 DTI J4821092
161 CAT 74820901
2.0i CAT J4820901 2.8 DTI J4821092
165 74820901
2.0i CAT J4820901 2.8 DTI J4821092
165 14820901
2.0i CAT J4820901 2.8 DTI J4821092
165 14820901
3.0 DTI J2846008 3.0 DTi J4821092
17D 14820901
3.1TD J2846008 3.0 DTI J4821092
32 12846008
17D 14820901
3001 74821092
3.5 V6 24V 32846008
1.7D J4820901
190 34821092
17D 14820901
10 DWT 72846008
190 34821092 13 32846008
1.7D J4820901
22Tl 34821092 PEUGEOT
1.8 J4820901
2201 34821092 10 14832076
18E J4820901 1.0 N4842066
1.4 HDI 34832076
2.2 DTl J4821092 1.4 HDI N4842066
18E J4820901
18Gs| 14820901
18] 74820901
2.5 CDTI J4821092 1.0 J4826000
18] 74820901
2.5 CDTI J4821092 1.0 J4826000
18] 14820901
2.5 CDTI J4821092 1.0 J4836000
18] 74820901
2.5 CDTI J4821092 1.0 J4836000
185 14820901
185 74820901
25D J4821092 1.5 N2845004
185 14820901
25D J4821092 1.3 J4825007
16 34825007
20 74820901
200 14820901 25D 14821002
1.6 J4825007
2.0 GSl J4820901 2.5 DTI 14821092

2.0GSI 16V J4820901

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

313 14825007
Page 33 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
315 GLi/GLSi J4825007 15 N2845004 CLIO MKk Il (BB_, CB_)
315 GLSi J4825007 1.5 dCi J4831100
315 GLSi N2845004 WIRA
316 J4825007 16 J4825007
316 N2845004 1.5 dCi N4841051
316 GLXi J4825007
318 16V GTI J4825007 1.5 dCi N4841051
10 J4831100
1.8 J4825007 1.6 J4831100
11 J4831100
1.8 J4825007 11 N4841051 1.6 J4831100
1.2 J4831100 1.6 N4841051
413 J4825007
1.2 J4831100 1.6 16V J4831100
413 GLsi J4825007
1.2 J4831100 1.6 16V J4831100
415 GLI/GLS:i J4825007
1.2 J4831100 1.6 16V J4831100
12 N4841051 1616V N4841051
415 GLIi/GLSi J4825007
1.2 16V J4831100 1.6 16V GT J4831100
416 J4825007
416 GLXi J4825007
1.2 16V J4831100 1.6 Flex J4831100
1.6 Hi-Flex J4831100
416 GLXi J4825007
4161 J4825007  1.216V J4831100
416 N2845004 1.2 16V N4841051 19D J4831100
418 J4825007 1.2 16V Hi-Flex J4831100 19D J4831100
418 GLXi J4825007 1.2 16V Hi-Flex J4831100 19D N4841051
420 D J4825007 1.2 16V Hi-Flex J4831100
19D N4841051
420 GLS D J4825007 1.2 Ethanol J4831100
1.9DTi J4831100
420 GLS D J4825007 1.2 Hi-Flex J4831100
19dTi J4831100
420 TD J4825007 1.2 LPG J4831100 1.9dTi N4841051
1.4 J4831100
14 N4841051
1.3 N2845004 2.0 16V J4831100
15 N2845004 2.0 16V Sport J4831100
1.4 16V J4831100
15 J4825007 2.0 16V Sport J4831100
15 N2845004 1.4 16V J4831100 2.0 16V Sport N4841051
3.0 V6 Sport J4831100
13 J4825007 1416V J4831100
1.4 16V N4841051 1.0 J4831100
13 J4825007
1.5 dCi J4831100 1.0 J4831100
15 J4825007
1.5 dCi J4831100 1.0RN J4831100
12 J4831100
15 J4825007
15 dCi J4831100
12 J4831100
15 N2845004
15 dCi J4831100
1216V J4831100

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 34 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
KANGOO Express (FC0/1_) MASTER Il Bus (JD) 1.4 16V J4831100
1.2 16V J4831100 1.9 dCi 80 J4821092
1.2 BiFuel J4831100
MASTER Il Van (FD) 1.4 16V J4831100
1.9.dCi 80 J4821092
14 J4831100
1416V J4831100
19dTI 4821092
14 J4831100
1416V J4831100
19dTI J4821092  14e J4831100
1.5dCi J4831100
2.2dCI 90 J4821092  1.616V J4831100
1.5dCi J4831100
2.2dCI 90 J4821092  1.616V J4831100
1.6 J4831100
2.2.dCI 90 J4821092 1.6 16V J4831100
1.6 J4831100
25D J4821092 1616V J4831100
1.6 16V J4831100 1.6 Bifuel J4831100
25D J4821092
1.6 16V J4831100 l6e J4831100
25D 14821092
1.6 16V 4x4 J4831100 16e J4831100
2.5 dCi J4821092
1.6 16V 4x4 J4831100 1.6 LPG J4831100
1816V J4831100
2.5 dCi J4821092
1.6 16V bivalent J4831100
1816V J4831100
2.5 dCi J4821092
1.6 16V bivalent J4831100
1.6 Flex J4831100 1.8 16V J4831100
19D J4831100 2.5dCi 100 J4821092
1.9 dCi J4831100
19D J4831100
2.5 dCi 100 14821092
1.9 dCi 4x4 J4831100
19D J4831100
2.5 dCi 100 J4821092
1.9 dCi 4x4 J4831100
1.9DCi J4831100
2.5dCi 120 J4821092
19dTi J4831100
1.9.dCi J4831100
2.5dCi 120 J4821092
19dTi J4831100
1.9DCi J4831100
2.5dCi 120 J4821092
1.9 RXED J4831100
D55 1.9 J4831100 1.9 dCi J4831100
2.8dTIl J4821092
D551.9 J4831100 19dT J4831100
2.8dTIl J4821092
D 651.9 J4831100 1.9 dTi 14831100
2.8dTIl J4821092
D651.9 J4831100 1.9.dTi J4831100
3.0 dCi 140 J4821092
Elect'road RE J4831100 1.9 dTi J4831100
3.0 dCi 140 J4821092
2.0 dCi N4841052 1.9.dTi J4831100
2.0 dCi 4x4 N4841052 3.0dCi 140 J4821092
25 N4841052
2.5 4x4 N4841052 197D J4831100

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 35 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
MEGANE | Cabriolet (EA0/1_) TWINGO | (C06_) 200 Il Hatchback (RF)
2.0 16V J4831100 1.2 J4831100 220 D/SD N4824033
MEGANE | Coach (DA0/1) TWINGO | Van (S06_)
2.0 16V J4831100 1.2 J4831100 220 GSi N4824033
2.0 16V IDE J4831100 1.2 J4831100 220 GTi N4824033
2.0 16V IDE J4831100 1.2 16V J4831100 220 SDi N4824033
20i J4831100
1216V J4831100 220 Turbo N4824033
1.6 16V J4831100
1.2LPG J4831100 220 Turbo N4824033
1.2 J4831100
1216V J4831100
1.2 16V Hi-Flex J4831100 1.2 TCe 100 J4831100 1.116V N4824033
1.2 GPL J4831100 1.2 Turbo J4831100 1.4 16V N4824033
1.4 J4831100 1.5dCi J4831100 1.6 16V N4824033
1.5dCi J4831100 1.5 dCi 75 J4831100 1.8 16V N4824033
1.5dCi 75 J4831100 1.5 dCi 90 J4831100 2.0iDT N4824033
1.5 dCi 90 J4831100 1.6 RS J4831100
16 J4831100
16i N4824033
12 J4831100  18i N4824033
1.416V J4831100 1.5 dCi J4831100 1.8TD N4824033
1.6 J4831100 2.0i N4824033
1.6 BiFuel J4831100
1816V J4831100 1.2 J4831100
1.8 4x4 J4831100 1.2 TCe 100 J4831100 414 J4834003
19D J4831100 1.6 J4831100
1.9 dCi J4831100
1.9 dCi RX4 J4831100 414 N4824033
Yigs1100 Nas24033
2.0 16V J4831100 414 GSI/SI CAT N4824033
2,016V RX4 J4831100
150.55 J4846009
414si J4834003
0.9 TCe J4831100
414si J4834003
1216V J4831100
211 N4824033
416 GSI N4824033
1.2 16V J4831100 416 GSI/GSE N4824033
1.2 LPG J4831100 214 N4824033 416 GTI N4824033
214 GSi/Si N4824033 416 GTI/GTE N4824033
14 J4831100
214 N4824033 416 Si J4834003
214 si N4824033
14 J4831100
416 Si J4834003
214 SilGsi N4824033
1.4 16V J4831100
15 dCi J4831100 418 D N4824033
216 N4824033 418 TD N4824033
15 dCi J4831100
216 GSi N4824033 420D J4834003
216 GTi N4824033
15 dCi J4831100
420D J4834003
216 Si N4824033
16 J4831100
1.6 16V J4831100 420 Di J4834003
218D N4824033
1.6 16V J4831100 420 Di J4834003
218 K Vi N4824033
1.6 Authentique Hi-Flex J4831100 420 GSI/SLI/GTI/Vite N4824033
19D J4831100 218 TD N4824033 420 GTI/GSI/Vitesse N4824033

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 36 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
400 Il (RT) 2.2 Xdi 4WD N4820401 REXTON / Rexton Il (GAB_)
420 Si Lux J4834003 2.3 RX230 4x4 N4820401
KORANDO (CK) 2.7 D 4x4 N4820401
400 Il Hatchback (RT) 2.0 J4840400 2.7 Xdi N4820401
420 Si Lux J4834003 2.7 Xdi 4x4 N4820401
2.7 Xdi Turbo 4x4 N4820401
20 J4840400 297D N4820401
420 Turbo N4824033 3.2 J4840400
2.0 4WD J4840400
1.4 J4834003 2.0 e-XDi J4840400 2.2 e-XDi J4840400
2.0 e-XDi 4WD J4840400 2.2 e-XDi 4WD J4840400
2.0 e-XGi J4840400
14 J4834003 2.0 e-XGi 4WD J4840400
2.0LPG J4840400 2.0 XDi N4820401
2.0 LPG AWD J4840400 2.0 XDi 4x4 N4820401
1.6 J4834003 2.2 Xdi N4820401
2.2 Xdi AWD N4820401
22D J4840400 2.7 Xdi AWD N4820401
1.6 J4834003
2.2 Xd 34840400 SUBARU
1.8 J4834003 2.2 Xdi 4WD J4840400
2.0 J2847010
1.8 J4834003 2.3 J4840400
2.0 J2847010
2.0iDT J4834003 2.3 J4840400
2.0 4827007
2.0iDT J4834003 23D J4840400
2.37DiC J4840400
2.0 4827007
20V6 J4834003
2.5D AWD J4840400
2.0 N4847013
20V6 J4834003 20D J2847010
29D J4840400 20D N4847013
618 iSi J4834000
620 i J4834000 29D J4840400 20D N4847013
620 Sdi J4834000
620 Si J4834000
620 Ti Vitesse J4834000 29TD J4840400 2.0 S Turbo J2847010
623 Si J4834000 2.0 S Turbo J4827007
297D J4840400
32 J4840400
2.0 N4820401 20X N4847013
2.0 4x4 N4820401 20XT N4847013
3.2 J4840400
2.0 Xdi N4820401 25 J2847010
2.0 Xdi N4820401
2.0 Xdi 4x4 N4820401
2.0 XDi N4820401 2.3 N4820401 25 J4827007
2.0 XDi 4x4 N4820401 2.3 4x4 N4820401
2.7 Xdi N4820401
3.2 M320 4WD N4820401 2.5 N4847013
2.3 N4820401
2.3 4x4 N4820401
200 Xdi 4WD N4820401 2.0 J4840400 2.5 AWD J2847010
2.3 J4840400
23D 74840400
2.0 Xdi N4820401 2.3 TDIC All-wheel Drive J4840400 2.5 AWD J2847010
2.0 Xdi 2WD N4820401 29D J4840400 2.5 AWD N4847013
2.0 Xdi 4WD N4820401 29TD J4840400
2.34WD N4820401 3.2 J4840400
2.5 RX Nato AWD J4827007
2.5 RX Nato AWD J4857000
2.0 Xdi 2WD N4820401 29D J4840400
2.0 Xdi 4WD N4820401 2.9 D 4x4 14840400
2.2 Xdi N4820401 15 J2847010

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 37 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



A
® Distribuited by y’ ERA
NIPPARTS " sterso

moved by mechanics Steering

Applicazioni veicolari - Vehicles applications

IMPREZA Saloon (GD)

IMPREZA Estate (GF)

IMPREZA Hatchback (GR, GH, G3)

1.5 J2847010 2.0 4WD J4857000 2.5 WRX STI 330S AWD N4847013
IMPREZA Saloon (GE, GV) IMPREZA Saloon (GD) IMPREZA Saloon (GE, GV)
15 J2847010 2.0 All-wheel Drive J2847010 2.5 WRX STI AWD N4847013
1.5 All-wheel Drive J2847010
IMPREZA Hatchback (GR, GH, G3)
2.0 All-wheel Drive N4847013  1.34x4 J2858000
1.5 All-wheel Drive N4847013 1.3 4x4 N4848017
2.0 AWD 32847010
1.6 J2847010 1.3 AWD J4836011
2.0 AWD 32847010
1.6 J2847010 1.3 GX 4x4 J2858000
IMPREZA Hatchback (GR, GH, G3) 1.3 GX 4x4 N4848017
2.0D All-wheel Drive N4847013
16 J4857000 2.0 D AWD N4847013
1800 J2847010
16 J4857000  2.0i4WD J4857000
1800 J2847010
16 J4857000  20R J2847010
1800 J4857000
IMPREZA Saloon (GD)
16 J4857000  20R J2847010
1800 J4857000
1.6 4WD J4857000 2.0 Turbo 12847010
1800 N2847011
1.6 AWD J2847010 2.0 Turbo 4WD 12847010
1.6 AWD J4857000 1800 N2847011
2.0 Turbo GT 4WD 12847010
16i J2847010 1800 4WD J2847010
IMPREZA Saloon (GC) 2.0 Turbo GT 4WD J2847010
16i J2847010 1800 4WD J2847010
L6i 14857000
2.0 WRX ST J2847010
2.0 WRX STi J4857000 1800 4WD J4857000
1.6 i4WD J2847010
IMPREZA Estate (GG)
2.0 WRX Turbo J2847010 1800 4WD J4857000
1.6 i4WD J2847010
2.0 WRX Turbo J2847010 1800 4WD N2847011
1.6 i4WD J4857000
IMPREZA Estate (GF)
2.2 GX AWD J4857000 1800 4WD N2847011
1.6 i4WD J4857000
IMPREZA Hatchback (GR, GH, G3)
2.5 All-wheel Drive N4847013 2.0 J2847010
1.8 J4857000
IMPREZA Estate (GG)
2.5 AWD J2847010 20 J2847010
1.8 J4857000
181 4WD 34857000
2.5 AWD J2847010 2.0 J2847010
IMPREZA Saloon (GC)
1.8 4WD J4857000 IMPREZA Saloon (GE, GV)
2.5 AWD N4847013 2.0 J2847010
2.0 J2847010
2.5 WRX J2847010 2.0 J2847010
IMPREZA Saloon (GD)
2.0 J2847010
2.5 WRX J2847010 2.0 J4827007
IMPREZA Saloon (GC)
2.0 J4857000 IMPREZA Hatchback (GR, GH, G3)
2.5 WRX S AWD N4847013 2.0 J4827007
2.0 4WD J4857000
2.5 WRX STi J2847010 2.0 J4857000
Original equipment numbers and pictures in this catalogue are used for reference purposes only. Page 38 Of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
2.0 N2847011 LEGACY (BC) TREZIA
2000 4WD N2847011 13 J2842016
LEGACY MK Il Estate (BH) 14D J2842016
2.0 AWD J2847010 LEGACY Estate (BC, BJF)
2000 4WD N2847011
3.0 14827007
20GL J2847010 3.6 J2847010
2.0 GL J4857000 2000 Turbo 4WD J2847010 3.6 J4827007
20GL N2847011 2000 Turbo 4WD J4857000 3.6 N4847013
2000 Turbo 4WD N2847011
20i J2847010 16i N4847013
2000 Turbo Super 4WD J2847010 2.0D N4847013
2000 Turbo Super 4WD J4857000 2.0 Hybrid N4847013
20i J2847010 2000 Turbo Super 4WD N2847011 2.0i N4847013
2.0i4WD J2847010 2200 4WD J2847010
2200 4WD J4857000
2200 4WD N2847011
2.0i4WD J2847010 0.8 J2858000
2200 Super 4WD J2847010
2.2 J2847010 2200 Super 4WD J4857000 0.8 J2858000
2.2i4WD J2847010 2200 Super 4WD N2847011
08 J2858000
2.2i4WD J2847010 3.0 H6 AWD J2847010
3.0 H6 AWD J4857000
08 J4848006
= J2847010
30R J2847010
08 J4848006
25 J2847010
30R J2847010
08 J4848006
= J2847010
30R J4827007
0.8 J4848006
25 J2847010 10 J2858000
30R J4827007
25 J4827007 10 J2858000
2.5 J4857000
25 J4827007 1.0 J4848006
1.6 N2847011
25i J2847010 1.0 J4848006
1.2 N4827009
1.24WD N4827009
25i J2847010 1.1 J2858000
11 J4848006
1.24WD N4827009
25i J4827007
13 J4848007
121 N4827009
251 J4827007  1.2i4WD N4827009
1.3 J4848007
2000 J2847010 25 J2847010
2000 J4857000 1.3 16V J4848007
2000 N2847011
25 J2847010
13116V J4848007
2000 4WD J2847010
25 J4827007
13116V J4848007
2000 4WD J2847010
2.5 J4827007
3.0 J2847010 16116V J4848007
2000 4WD J4857000 3.0 J4827007
16116V J4848007
2000 4WD J4857000 3.0 H6 J2847010
3.0H6 J4827007

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 39 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

»1ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
1.6i16V J4848007 1.54x4 N4848015 SWIFT Convertible (SF413)
1.3i J2858000
BALENO (EG) IGNIS | (FH) 1.3i N4848017
1.6i16V 4x4 J4848007 1.5 Sport N4828018
1.5 Sport N4848015
15 J4820910
1.6116V 4x4 J4848007 15 N2848004
1.3 16V N4828020 1.5 4x4 J4820910
1.3 16V 4WD N4828020  1.54x4 N2848004
1.6i16V 4x4 J4848007 1.3 16V 4x4 N4828020
1.3 4WD N4828020
1.34x4 N4828020 1.6 J2858000
1.8 GTX J4848007 1.5 DDIS 4WD N4828020
1.5 DDIS 4x4 N4828020
16 J4820910
1.8 GTX 4848007 16 N2848004
1.6 J4848007
1.6 4WD J4848007
1.8i16V J4848007 1.6 N4848017
1.6 4WD J2858000
10 J2858000 1.6 4WD N4848017
1.9TD J4848007
10 J2858000 1.6 4x4 J2858000
1.9TD J4848007 1.0 N4848017 1.6 4x4 J4820910
1.0i J2858000 1.6 4x4 N4848017
10i N4848017
197D J4848007
16i J2858000
1.0 Turbo J2858000  1.6i N4848017
0.7 J2858000 1.6i4WD J2858000
1.614WD N4848017
12 J4820910
16 N4848012 1.2 N2848004
1.6 All-wheel Drive N4848012 15 N2848005
1.9 DDIS N4848012 15 N4848014
2.0 N4848012 1.3 J2858000 1.5 VT N4848014
2.0 All-wheel Drive N4848012 1.5 VVT 4x4 N4848014
2.4 All-wheel Drive N4848012 1.5 VVTi N4848014
2.7 N4848012 13 J2858000
2.7 4WD N4848012
3.2 All-wheel Drive N4848012 16 N2848005
3.2 AWD N4848012 1.3 J2858000
16 N2848005
1.3 J2858000 13 J4820910
16 N4848014
1.3 J2858000 13 J4820910
16 N4848014
1.3 N4828018 13 N2848004 1.6 4x4 N2848005
1.6 4x4 N4848014
13 N4828018 13 N4848017
1.6 AWD N2848005
1.6 AWD N4848014
1.3 N4848015 13 N4848017
1.6 DDIS N4848014
1.3 N4848015 1.3 4WD J2858000
1.34WD N4848017
1.6 DDIS N4848014
1.3 4WD J2858000 1.6 DDIS 4x4 N4848014
1.34WD N4828018 1.3 4x4 J4820910
1.34WD N4848015  1.34x4 N2848004
1.3 DDiS J4820910 1.6 VT N2848005
1.3 DDIS N2848004 1.6 WT N4848014
1.3 4x4 J2858000 1.6 VVT 4x4 N2848005
1.3 4x4 N4828018 1.6 VT 4x4 N4848014
1.3 4x4 N4848015 1.3 GTi J2858000 1.9 DDiS N2848005
1.3 DDIiS N4828018 1.3 GTi N4848017 1.9 DDIS N4848014
1.3 DDIiS N4848015 1.9 DDIS 4x4 N2848005
15 N4828018 1.9 DDIS 4x4 N4848014
1.5 N4848015 1.3 GTI/GXi J2858000 2.0 DDIS N2848005
1.5 4x4 N4828018 2.0 DDiS N4848014

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 40 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
2.0 DDIS 4x4 N2848005 1.4 D-4D N4832099 22D J2842016
2.0 DDIS 4x4 N4848014 22D N4832099
AURIS Estate (_ E18 )
VITARA / ESCUDO (ET, TA, TD) 1.4 D-4D N4832099
2.0 16V J2842016 1.4 D-4D N2842045
1.4 D-4D N4832099
LAWT N4832099
1.0 N4828018 15 N4832099
1.0 N4848015 1.5 4WD N4832099 1.6 J2840900
1.2 J2858000 1.6 J2842016
12 N4828018
12 N4848015 16 J2840900
1.6 N2842045
10 J2858000 16 J2840900
1.0 N4828018 1.6 N2842045
10 N4848015
16 J2842028
16 N4832099
1.0 XT Plus N4828018
16 J2842028
16 N4832099
12 J2858000
12 N4828018 16 N4822118
1.2 N4848015 1.6 N4832099
1.24WD J2858000
1.24WD N4828018 16 N4822118
1.2 4WD N4848015 1.6 D4-D N4832099
1.6 D4-D N4822118
1.3 J2858000 1.6 VVTi J2842016
13 N4828018 1.6 WTi N4832099
1.3 N4848015 1.8 N4832099 1.6 D4-D N4822118
1.3 4WD J2858000
1.34WD N4828018
1.34WD N4848015 1.8 N4832099 1.6 VVT-i J2840900
1.3 DDIS J2858000
1.3 DDIS N4828018
1.3 DDIiS N4848015 1.8 4WD N4832099 1.6 VVT-i J2840900
1.8 Hybrid N2842045
3.6 All-wheel Drive N4848012 1.6 WTH J2840900
1.8 Hybrid N2842045
1.8 Hybrid N2842045
3.0 Turbo-D J2842026 1.6 WT- J2842028
1.8 Hybrid N4832099
12 N4832099 L6 WT-i J2842028
1.3 N2842045 1.8 Hybrid N4832099
18 J2840900
1.3 N2842045 1.8 Hybrid N4832099
18 J2840900
1.3 N4832099 1.8 VVTi N4832099
2.0 D-4D J2842016
18 J2840900
13 N4832099
2.0 D-4D J2842016
18 J2842028
1.33 Dual-VVTi N4832099
1.4 D-4D J2842016  2.0D-4D N2842045
1.8 J2842028
1.4 D-4D J2842016  2.0D-4D N4832099
1.8 J2842028
1.4 D-4D N2842045 2.0 D-4D N4832099
1.8 J2842028
1.4 D-4D N4832099 2.0 D-4D N4832099
1.8 J2842028

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 41 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



A
® Distribuited by y’ ERA
NIPPARTS " sterso

moved by mechanics Steering

Applicazioni veicolari - Vehicles applications

AVENSIS Estate (_T27_) 2.0 D-4D J2842028 2.2 D-4D J4822088
18 N4822118
AVENSIS Saloon (_T25_)
AVENSIS Saloon (_T27_) 2.0 D-4D J2842028 2.2 D-4D J4822088
18 N4822118
2.0 D-4D J2842028 2.2 D-4D N4822118
L8 VVT-i J2840900
2.0 D-4D J4822063 2.2 D-4D N4822118
L8 VVT-i J2840900
2.0 D-4D J4822088 2.2 D-CAT J2842028
L8 VVT-i J2840900
2.0 D-4D J4822088 2.2 D-CAT J2842028
1.9D J2840900
2.0 D-4D J4822088 2.2 D-CAT J2842028
2.0 J2840900 2.0 D-4D J4832063
22 D-CAT 14822088
2.0 J2840900 2.0 D-4D N4822118
2.2 D-CAT J4822088
20 J2840900 2.0 D-4D N4822118
2.2 D-CAT 14822088
20 J2842028 201D J2840900
24 12842028
2.0 J2842028 201D J2840900
24 12842028
2.0 J2842028 201D J2840900
24 12842028
2.0 J2842028 2.0 WVTi J2842028
24 14822088
2.0 J2842028 2.0 WVTi 12842028
24 14822088
2.0 J4822088 2.0 WVTi 14822088
24 14822088
2.0 J4822088 2.0 WVTi 14822088
2.0 D-4D J4822055
2.0 J4822088 2.0 WT-i J2840900 2.0 D-4D 14842052
2.0 WT-i J4822055
2.0 WT-i 14842052
2.0 N4822118 2.0 WT-i J2840900 2.4 VVTi4xa J4822055
2.4 VVTi 4x4 J4842052
24 VVTiGLS 14822055
2.0 N4822118 2.0 WT-i J2840900 2.4 WTiGLS 14842052
20D J2840900 2.2 D-4D J2842028 1.0 J2842016
1.0 J4832076
20D J2840900  2.2D-4D 12842028
1.0 J4832076
2.0 D-4D J2840900 2.2 D-4D 12842028
1.0 N4842066
1.0 GPL 12842016
2.0 D-4D J2840900 2.2 D-4D J2842028  1.0GPL 14832076
1.0 GPL N4842066
2.0 D-4D J2840900  2.2D-4D 12842028
12 J4832076
2.0 D-4D J2842028  2.2D-4D 14822088
1.4 HDi J2842016

AVENSIS Estate (_T25_) AVENSIS Estate (_T25_) 1.4 HDI J4832076

Original equipment numbers and pictures in this catalogue are used for reference purposes only. Page 42 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
1.4 HDi N4842066 2.4 VVTi Hybrid J2852002 SOLARA Coupe (_V3))
2.4 VVTi Hybrid N4822095 B3 N4822095
CAMRY Estate (_\V2_) 2.4 VVTi Hybrid N4842060
18 J2852002 2.4 VVT-i Hybrid J2852002
2.4 VVT-i Hybrid N4822095 1.6 J2842002
2.4 WT-i Hybrid N4842060
18i J2852002
16 J2852001
25 12842002
181 J4842019 25 72852002
25 J4842019 1.6 J2852001
20 J2852002
2.5V6 GXI J2842002 1.6 J2852001
2.5 V6 GXI J2852002
20 J2852002
16 J2852001
2.5 WTi J2852002
2.0 4x4 J2852002 2.5 VVTi N4822095
2.0 Gli 16V J2852002 2.5 VVTi N4842060 1.6 J2852001
2.0 GLi 16V J2852002 3.0 J2842002 1.6 J4832008
2.0 GLi 4x4 J2852002 3.0 J2842002 1.6 J4832008
3.0 J2845000
2.0 GLi 4x4 J2852002 16 J4832008
2.0 Turbo-D J2842002 3.0 J4842019
16 J4842008
2.0 Turbo-D J2852002 3.0 J4842019
16 J4842008
2.0 Turbo-D J2852002 3.0 24V J2852002
3.0 24V 4842019
3.0V6 J2852002 1.6 14842021
2.0 WTI J4842054 3.0V6 J4822060
20WTI N4822095
16 14842021
3.0V6 J4822060
2.0 WT-i J2852002
2.0 WT-i N4822095 16 J4842021
2.0 WT-i N4842060 3.0 V6 J4842054
16 14842021
2.0zX J4842019 3.0 V6 J4842054
22 J2842002 33 VVTi 14842054
3.3 VVTi N4822095 1.6 J4842021
2.2 J2842002
2.2 J2845000 35 J2852002 1.6 J4842021
35 N4822095
35 N4842060
2.2 J2852002 1.6 N2855001
24 14822060
2.2 J4842019 2.4 J4842054 1.6 N2855001
2.4 N4822095
22 74842019 1.6 16V J4832008
3.3 J4822060
22 74842019 1.6 16V J4832008
3.3 J4822060
2.4 Wi J2852002 1.6 16V N2855001
2.4 WTi N4822095 3.3 J4842054
2.4 Wi N4842060
1616V N2855001
33 J4842054
2.4 VT 14822060
24 WT-i 74842054 16GLI J4832008
3.3 N4822095

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 43 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

»1ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
1.6 GLI J4832008 CARINA Mk Il Saloon (_T17_) 2.0 GTi 16V N2855001
20D J2852001
CARINA E VI (_T19)
1.6 GLI N2855001 CARINA YV ((T17)) 2.0 GTi 16V N2855001
20D J2852001
16 GLI N2855001 20i J4832008
16i J4832008 20D J4832008
16i N2855001
20i J4832008
20D J4832008
18 14842021
20i J4832008
20D J4832008
18 14842021
20i N2855001
20D J4842021
18 N2855001
20i N2855001
20D J4842021
18D 14842021
20i N2855001
20D J4842021
18D 14842021
207D J4832008
20D N2855001 207D N2855001
1.8 GLI J2842002
20D N2855001  2.0TD N2855001
1.8 GLI J4842008
20D N2855001  2.0TD N2855001
1.8 GLI J4842008
2.0 6L J2852001 1.6 J2852002
1.8i N2855001
20GLI J2852001 1.6 J2852002
1.8i16V N2855001
206U J4832008 1.6 J2852002
1.8 XE J4842021
206U J4832008 1.6 14842008
20 J2852001
206U J4842021 1.6 J4842008
2.0 J2852001
206U J4842021 1.6 14842021
2.0 J4832008
206U N2855001  1.6GT J2842002
2.0 J4842021
206U N2855001  1.6GT J2852002
2.0 J4842021
20GTi J4832008  16GT J2852002
2.0 N2855001
20GTi J4832008  16GT 14842021
20D J2842002
2.0 GTi N2855001 1.6 GT 16V J2842002
20D J2842002
2.0 GTi N2855001 1.6 GT 16V J2852002
20D J2842002
2.0 GTi 16V J4832008 1.6 GT 16V J2852002
20D J2842002
2.0 GTi 16V J4832008 1.6 GT 16V J4842008
20D J2852001

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 44 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

»1ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
1.6 GTI 16V J2842002 2.0i16V J2852002 1.3 J4822063
1.6 GTI 16V J2852002 13 J4832063
CELICA Coupe (_T20))
CELICA Coupe (A4.) 2.0 16V 72852002
16LT J2852002 2.0 Turbo 4WD J2842002 13 J4842006
16LT J4842021 2.0i Turbo 4WD J2852002
13 J4842006
1.6 ST J2852002 2.0 Turbo 4WD J2842002
2.0 Turbo 4WD 72852002
13 J4842006
16ST 72852002
2.0 Turbo 4x4 72842002
2.0 Turbo 4x4 J2852002 13 J4842008
1.6 ST J4842021
20XT J2852002 13 J4842008
1.6 ST J4842021
20XT J2852002 13 J4842008
1.6 STI J2842002
16STI 72852002
2.0 XT J4842021 1.3 J4842026
1816V TS J4832061
1.816V TS N4842077 2.0 XT J4842021 13 J4842040
1.8 16V VT-i J4832061
1816V VT N4842077
13 J2842002 1.312v J2842002
18i16v J2842002
1.8i16V J2852002 13 J2842002 1.312v J2842002
2.0 J2852002 13 J2842002 1.312v J2842002
2.0 J2852002 13 J2842002 1.312v J2852001
2.0 J2852002 13 J2842002 1.312v J2852001
2.0 J4842021 13 J2842002 1.312v J2852001
2.0 J4842021 13 J2842002 1.312v J2852001
20GT J2852002 13 J2842002 1.312v J4842026
20GT J2852002 13 J2852001 1.312v J4842026
20GT J2852002 13 J2852001 1.312v J4842026
20GT J4842021 13 J2852001 1.312v J4842026
2.0 GTi J2842002 1.3 J2852001 1.3i J2842002
2.0 GTi J2842002 13 J2852001 1.3i J2842002
2.0 GTi J2852002 1.3 J2852001 1.3i J2852001
2.0 GTi J2852002 13 J2852001 13i J2852001
2.0i16V J2842002 13 J2852001 1.3 VVTi J2842028
1.3 VVTi N4822104

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 45 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

moved by mechanics

Applicazioni veicolari - Vehicles applications

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

COROLLA (_E10.)

1.3 XLI J4842026
COROLLA Compact (_E10_)

1.3 XLI J4842026
1.3 XLI J4842026
1.3 XLI J4842026
1.3 XLI 16V J2842002
1.3 XLI 16V J4842026
1.3 XLI 16V J4842026
1.3 XLI 16V J4842026
1.33 N2842045
1.33 N4832099
1.33 N4832099
14 J2842002
14 J4842026
1.4 J4842026
1.4 J4842026
1.4 J4842026
1.416V J4842026
1.4 16V J4842026
14D J4822063
1.4D J4822063
1.4D J4822063
14D J4832063
1.4D J4832063
1.4D J4832063
1.4D J4842040
1.4D J4842040

COROLLA Saloon (_E12)

1.4D J4842040
COROLLA Saloon (_E18 , ZRE1_)

1.4 D-4D N2842045
1.4 D-4D N4832099
1.4 D-4D N4832099
1.4 WT-i J4822063
1.4 WVT-i J4822063
1.4 VVT-i J4822063
1.4 WVT-i J4832063
1.4 VVT-i J4832063
1.4 VVT-i J4832063
1.4 VVT-i J4842040
1.4 VVT-i J4842040
1.4 VVT-i J4842040
1.4 VVT-i J4842040
1.4 VVT- N4832099
15 J4822063
15 J4832063
15 J4842026
15 J4842026
15 J4842040
1.6 J2842002
1.6 J2842002
1.6 J2842002
1.6 J2842002
1.6 J2842002
1.6 J2842002
1.6 J2842002

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

COROLLA Station Wagon (_E9 )

1.6 J2842002
1.6 J2842028
1.6 J2852001
1.6 J2852001
1.6 J2852001
1.6 J2852001
1.6 J2852001
1.6 J2852001
1.6 J2852001
1.6 J2852001
1.6 J4842008
1.6 J4842008
1.6 J4842026
1.6 J4842026
1.6 J4842026
1.6 J4842026
1.6 J4842026
1.6 J4842040
1.6 N2842045
1.6 N4822104
1.6 N4832099
1.6 N4832099
1.6 16V J2842002
1.6 16V J2852001
1.6 16V J4842006
1.6 16V J4842040
1.6 16V J4842040

Page 46 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

moved by mechanics

Applicazioni veicolari - Vehicles applications

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

COROLLA Liftback (_E9_)

1.6 4WD J2842002
1.6 4WD J2852001
1.6 All-wheel Drive J2842002
1.6 All-wheel Drive J2852001
1.6 Aut. J4842026
1.6 Aut. J4842026
1.6 Aut. J4842026
1.6 Aut. J4842026
1.6 Dual VVTi N4832099
1.6 Efi J2842002
1.6 Efi J2852001
1.6 GLI J4842026
1.6 GT 16V J2842002
1.6 GT 16V J2842002
1.6 GT 16V J2852001
1.6 GT 16V J2852001
1.6 GT 16V J4842006
1.6 GT 16V J4842008
1.6 GTi J2842002
1.6 GTI J2842002
1.6 GTi J2852001
1.6 GTI J2852001
1.6i J2842002
1.6i J2842002
1.6i J2852001
1.6i J2852001
1.6i J4842026

1.6 i 4AWD J2842002
1.6i4WD J2852001
COROLLA (_E10)

1.6 Si J4842026
1.6 Si J4842026
1.6 Si J4842026
1.6 SR 16V J2842002
1.6 SR 16V J2852001
1.6 SR 16V J4842006
1.6 VVTi N4832099
1.6 VVT-i J4822063
1.6 VVT-i J4822063
1.6 VVT-i J4822063
1.6 VVT-i J4822063
1.6 VVT-i J4832063
1.6 VWT-i J4832063
1.6 VVT-i J4832063
1.6 VWT-i J4832063
1.6 VVT-i J4842040
1.6 VWT-i J4842040
1.6 VVT-i J4842040
1.6 VWT-i J4842040
1.6 VVT-i J4842040
1.6 VWT-i N4832099
1.6 XL J2842002
1.6 XL J2852001
1.6 XLI J2842002
1.6 XLI J2852001
1.6 XLI 4WD J2842002
1.6 XLI 4WD J2852001
1.6 XLI 4x4 J2842002
1.6 XLI 4x4 J2852001
1.8 J2842028

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

COROLLA Verso (ZER_, ZZE12_,R1 )

1.8 J2842028
1.8 J4822063
1.8 J4822088
1.8 J4832063
1.8 J4842026
1.8 J4842026
1.8 J4842026
1.8 J4842040
1.8 J4842040
1.8 J4842040
1.8 N4822104
1.8 16V 4WD J4842026
1.8 All-wheel Drive J2842028
1.8 All-wheel Drive J4822088
1.8 All-wheel Drive J4842040
1.8 AWD J4842026
1.8D J2842002
1.8D J2842002
1.8D J2842002
1.8D J2842002
1.8D J2842002
1.8D J2842002
1.8D J2852001
1.8D J2852001
1.8D J2852001
1.8D J2852001
1.8D J2852001

Page 47 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
COROLLA Liftback (_E8_) COROLLA Compact (_E11 ) COROLLA Saloon (_E12))
1.8D J2852001 20D J4842026 2.0 D-4D J4842040
COROLLA Liftback (_E9_) COROLLA Estate (_E10_)
1.8D J2852001 20D J4842026 2.0 D-4D J4842040
1.8D J2852001 20D J4842026 2.0 D-4D N4822104
1.8D J4842008 20D J4842026 2.0 D-4D N4832099
1.8D J4842008 20D J4842026 2.0 VVT-i N2842045
2.0 VVT-i N4832099
18D J4842008 2.0 D4d J4822063
2.0 D4d J4832063 2.2 D-4D J2842028
2.0 DAd J4842040  2.2D-4D N4822104
1.8D J4842008
2.0 D-4D J2842028 20D J2842002
1.8D J4842026
2.0 D-4D J4822063 4.0iV6 J2846008
1.8GT J4842026 4.0iVe6 N2842041
4.0 WTi J2846008
2.0 D-4D J4822063 4.0 Wi N2842041
1.8GT J4842026 4.0 VVTi 4WD J2846008
4.0 VVTi 4WD N2842041
2.0 D-4D J4822063
1.8 GTi 4x4 14842026
3.3 Hybrid J2842011
2.0 D-4D J4822063
1.8 Vi N2842045
2.0 J4822010
2.0D-4D J4822063
1.8 Vi N4832099
2.0 J4822010
2.0D-4D J4822063
1.8 VT N4832099
20 J4842011
2.0D-4D J4832063
1.8 WT-i 14822063
1.8 WTii 4832063 2.0 J4842011
1.8 VVT-i J4842040 2.0 D-4D J4832063
HIACE IVBus (__ H1_,_H2)
24 J2846008
1.8 VVTL-i J4842040 2.0 D-4D J4832063
1.8 VVTL-i N4832099 HIACE IV Van (__H1 , H2)
24 J2846008
2.0D-4D J4832063
18 WTL-i TS 14822063
1.8 WTL-i TS 4832063 24 J2846008
1.8 WTL-i TS J4842040 2.0 D-4D J4832063
24 J4822010
19D J4842040 2.0 D-4D J4832063
24 14822010
19D J4842040 2.0 D-4D J4842026
24 J4842011
19D J4842040 2.0 D-4D J4842040
24 J4842011
19D J4842040 2.0 D-4D J4842040
HIACE IVBus (_ H1_, _H2)
24 14842046
20D J4842026 2.0 D-4D J4842040

COROLLA (_E11)) COROLLA Estate (_E12_)
20D J4842026 2.0 D-4D J4842040

COROLLA Compact (_E10_) COROLLA Liftback (_E11_)
20D J4842026 2.0 D-4D J4842040

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

2.4 J4842046

HIACE IV Van (_ H1_, _H2 )
2.4 J4842046

Page 48 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
HIACE IV Van (_H1) HIACE IVVan (_ H1_, H2) 2.7 J4842046
2.4 J4842046 2.4TD J2846008
HIACE IV Bus (__ H1 , H2) HIACE IVBus (__ H1 , H2) 2.7 J4842046
2.4 4WD J2846008 2.4TD J4842046
HIACE IV Van (_H1_, H2) HIACE IVVan (_ H1_, H2) 2.7 4WD J2846008
2.4 4WD J2846008 2.4TD J4842046
HIACE IV Bus (_H1, _H2) 2.7 4WD J2846008
2.4 4WD J4822010 2.4 TD 4WD J2846008
HIACE IV Van (_HL, _H2) 2.7 4WD 14842046
2.4 4WD J4822010 2.4 TD 4WD J2846008
HIACE IV Bus (_H1, _H2) 2.7 4WD J4842046
2.4 4WD J4842011 2.4 TD 4WD J4842046
HIACE / COMMUTER V Bus (TRH2__, KDH2__, LH2
HIACE IV Van (_HL, __H2) 2.7 Wi 14842046
2.4 4WD J4842011 2.4 TD 4WD J4842046
HIACE V Van (TRH2__, KDH2_ ,LH2_ )
HIACE IVBus (__ H1 , H2) HIACE IVBus (__ H1 ,  H2) 2.7 WVTi J4842046
2.4 4WD J4842046 2.5 D-4D J2846008
HIACE IVVan (_ H1_, H2) HIACE IVVan (_ H1 , H2) 2.8D J4822010
2.4 4WD J4842046 2.5D-4D J2846008 28D J4842011
HIACE IVBus (__ H1 ,  H2) HIACE / COMMUTER V Bus (TRH2__, KDH2__, LH2 HIACE / COMMUTER V Bus (TRH2__, KDH2__,
24D J2846008 2.5D-4D J4842046 3.0D J4842046
HIACE IV Van (_H1_,_H2)
24D J2846008 2.5D-4D J4842046 3.0TD J2846008
3.0TD J4842046
HIACE IV Van (_HL_ __H2)
2.4D J4822010 2.5 D-4D J4842046 HILUX IV Pickup (_N5_, N6_)
2.0 J4802036
HIACE V Van (TRH2__, KDH2__, LH2_ ) 2.0 J4822090
24D J4822010 2.5D-4D J4842046
2.0 14822093
24D J4842011 2.5 D-4D 4WD J2846008
2.0 14822093
24D J4842011 2.5 D-4D 4WD J2846008
HILUX IV Pickup (_(N5_, N6_)
HIACE IVBus (__ H1 , H2) HIACE / COMMUTER V Bus (TRH2__, KDH2__, LH2 |EEFXy) J4832075
24D J4842046 2.5 D-4D 4WD J4842046 2.0 4WD J4802036
2.0 4WD 14822090
HIACE IV Van (__H1_, __H2) 2.0 4WD J4832075
24D J4842046 2.5 D-4D 4WD J4842046 2.2 J4822090
22 14832075
2.2 4WD 14822090
24D J4842046 2.5 D-4D 4WD J4842046 2.2 4WD J4832075
22D 14822090
22D J4832075
2.4 D 4WD J4822010 2.5 D-4D 4x4 J2846008 2.2 D All-wheel Drive J4822090
2.2 D All-wheel Drive J4832075
24D J4802036
2.4 D 4WD J4822010 2.5 D-4D 4x4 J2846008 24D J4822090
HIACE IV Bus (__H1 ., _H2)
2.4 D 4WD J4842011 2.5 D-4D 4x4 J4842046 24D J4822093
2.4 D 4WD J4842011 2.5 D-4D 4x4 J4842046 24D J4832075
2.4 D 4x4 J4822010
2.4D 4x4 14842011
2.4 Diesel J4822010 2.7 J2846008 2.4 D 4WD J4802038
2.4 Diesel J4842011
HIACE IV Van (__H1_, _ H2) 27 J2846008 2.4 D 4WD J4822093
2.4i J4842046
HIACE IV Bus (__H1_, _ H2)) 27 J4842046 2.4 D 4WD N4802040
2.4TD J2846008 2.4 D 4WD N4802042

HIACE IV Van (_ H1_, _H2)

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 49 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

moved by mechanics

Applicazioni veicolari - Vehicles applications

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

HILUX IV Pickup (_N5_, _N6_)

2.4 D AWD J4802036
HILUX Platform/Chassis (LN_, _N1_)

2.4 D AWD J4802038
HILUX IV Pickup (_N5_, N6_)

2.4 D AWD J4822090
2.4 D AWD J4832075
HILUX Platform/Chassis (LN_, _N1 )

2.4 D AWD N4802040
2.4 D AWD N4802042
2.4 TD 4WD J4802038
2.4 TD 4WD N4802040
2.4 TD 4WD N4802042
25D J4822093
2.5 D 4WD J4822093
2.5D 4x4 J4822093
2.5 D-4D J4822093
2.5 D-4D 4x4 J4822093
2.7 J4822093
2.7 J4822093
2.7 4WD J4822093

HILUX VIGO VII Pickup ( N1_, N2_, N3 )

2.7 All-wheel Drive J4822093
28D J4822093
2.8 D 4WD J2846008
2.8 D 4WD J4802038
2.8 D 4WD J4822093
2.8 D 4WD N4802040
2.8 D 4WD N4802042

HILUX VIGO VII Pickup ( N1_, _N2_, _N3_)

3.0 All-wheel Drive J4822093
3.0D J4822093
3.0 D 4x4 J4822093

HILUX VIGO VII Pickup ( N1_, N2_, N3 )

3.0 D-4D 4WD J4822093
3.0 D-4D 4x4 J4822093
2.4 N4832113
24D N4832113
2.4TD N4832113
2.7 J2842026
2.7 AWD N2842041
2.7 4WD N4842067
3.0D J2846008
3.0D J4822072

LAND CRUISER COLORADO (_J9 )

3.0 D-4D J2842026
LAND CRUISER PRADO (_J12_)

3.0 D-4D J2842026
3.0 D-4D J4822072
3.0 D-4D N2842041
3.0 D-4D N4842067
3.0 TD J2842026
3.4D N4832113
3.4 Diesel J2842026
3.4 24V J2842026
3.4TD N4832113
4.0 J2842026
4.0 J2842026
4.0 J2842026
4.0 J4822072
4.0 N4842062
4.0 V6 Dual VVTi N2842041
4.0 V6 Dual VVTi N4842067
4.0 V6 VVTi J2842026
4.0 V6 VVTi N2842041
4.0 V6 VVTi N4842067
4.0 V6 VVT-i J2842026
4.0 V6 VVT-i J4822072
4.0 V6 VVT-i N2842041
4.0 V6 VVT-i N4842067
4.0 VVTi N4842062
42D J2842026
4.2 D 4x4 J2842026
4.2 D 4x4 J4842048
4.2 D 4x4 N4842067
4.2TD J2842026
4.2TD J2842026
4.2TD J4842048
4.2TD N4842067
4.2 TD 24V J2842026

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

LAND CRUISER AMAZON (_J1 )

45 J2842026
4.5 J4842048
45 N4842067
4524V 12842026
4.5 4WD J2842026
45D V8 N4842062
4.5 D-40 V8 N4842062
4.5 D4-D N4842062
4.6 V8 N4842062
4.7 J2842026
4.7 J4842048
4.7 N4842067
4.7V8 N4842062
5.7V8 N4842062
1.8 16V VT-i J2842016
2.0 J2842017
2.0 N2842031
2.0 16V J2842017
2.0 16V N2842031
2.0 Turbo J2842017
2.0 Turbo N2842031
1.5 J2840503
1.5 J2840503
1.5 16V J2840503
1.5 16V J2840503
2.0 J2840900
2.0 J4832008
2.0 16V J2840900
2.0 16V J4832008
22D J2840900
22D J4832008
2.0 D-4D J4822060
PREVIA/ESTIMA I (R1_, _R2))

2.4 J4832010
2.4 16V J4822060
PREVIA/ESTIMA I (R1_, _R2))

2.4 4AWD J4832010
3.0 VWTi J4822060
3.0 VVTi 4WD J4822060
1.5 J4822063
15 J4832063

Page 50 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

»1ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Applicazioni veicolari - Vehicles applications
1.8 Hybrid N4822105 TERCEL (L1_, _L2) 1.0 VVT-i J2842016
1.3 J2842017 1.0 VVT-i N4822102
PRIUS ((W5_)
1.8 Hybrid WZEZZET M TERCEL Saloon (AL, AL2 )
1.8 J2842017 13 J2842016
1.8 Hybrid N4832099 [IEXENENEINTE)
1.3 J4842006 13 J2842016
20 714842026
1.3 J4842006 13 J4822063
13 J4832063
2.0 N4842072 TERCEL (L1_, L2)
145 J4842006
13 N4822102
2.0 16V 4WD 74842026
2.0 4WD J4842026 15 J2842017
15 J4842006 1.316V J2842016
2.0 4WD N4842072
2.0 VVT-i N4842072 1.54WD J2842017 1.3 4WD J2842016
2.0 VVT-i 4WD N4842072 1.54WD J4842006
2.2 D-4D N4842072
2.2 D-4D 4WD N4842072 TUNDRA Pickup (_K5_, _K6_) 1.3 4WD J2842016
2.2 D-CAT 4WD N4842072 4.0 N4832106
2.4 Wi N4842072 4.0 4WD N4832106
2.4 VVTi 4WD N4842072 4.7 N4832106 1.34WD J4822063
3.5 VVTi 4WD N4842072 4.7 4WD N4832106 1.3 4WD J4832063
5.7 N4832106
5.7 4x4 N4832106
1.0 J2840503 1.3 4WD N4822102
133 J2842016
1.0 J2842017 1.4 D-4D J2842016 1.3 4WD N4822102
1.4 D-4D 4WD J2842016
15 Wi J2842016
1.0 J2842017 1.5 VVTi 4WD J2842016 1.3 VWVT-i J2842016
1.0 J4842006 1.6 J2842028 1.3 VVT-i J2842016
1.6 N4822104
1.6 D4-D J2842028
1.0 J4842006 1.8 J2842028 1.3 VWVT-i N4822102
1.2 J4842006 1.8 N4822104
2.0 D-4D 72842028
2.0 D-4D N4822104 1.3 WT- N4822102
1.2s J4842006 2.0 D-4D N4822118 1.33 WT-i J2842016
2.2 D-4D J2842028 1.33 VVT-i N4822102
2.2 D-4D N4822104
13 J2842017  2.2D-CAT 72842028
2.2 D-CAT N4822104 1.4 D-4D J2842016
13 72842017
1.33 J2842016 1.4 D-4D J2842016
133 72842028
13 J4842006 133 N4822104
1.4 D4-D J2842016 1.4 D-4D J2842016
1.4D4-D 72842028
1312V N2842031  14D4-D N4822104
1.4 D-4D N4822102
1.34WD J2842017 10 J2842016
1.4 D-4D N4822102
135 J2842017 1.0 J4822063
138 J4842006 1.0 J4832063 15 J4822063
15 J4832063
13XL N2842031 1.0 N4822102
15D J2840503 1.5 Hybrid J2842016
1.5 Hybrid 14822063
1016V J2842016 1.5 Hybrid 14832063
15D J2842017 1.5 Hybrid N4822102
YARIS/VITZ (_P9._)
10GPL 72842016
15D J2842017 1.0 GPL N4822102 15TS J2842016

Original equipment numbers and pictures in this catalogue are used for reference purposes only.

Page 51 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



A

®  Distribuited by p ERA
NIPPARTS it

moved by mechanics Steering

Applicazioni veicolari - Vehicles applications

15 VVT-iTS J2842016
YARIS/VITZ (_P9_)

1.8 VVTi J2842016
1.8 VVTi N4822102
1.3 J2842016
1.4 D-4D J2842016
15 J2842016
1.5 4WD J2842016

Original equipment numbers and pictures in this catalogue are used for reference purposes only. Page 52 of 52

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

moved by mechanics

ERA Code Subgroup

| OE / Comparable code

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

Used on vehicles

Bellow Set, steering

J2840300

@128

CETH

KIA
SEPHIA, SEPHIA, SHUMA, SHUMA, SHUMA, SHUMA

Height [mm]: 215,0, Inner Diameter 1 [mm]: 12,5, Inner Diameter 2 [mm]: 44,0, Material: Thermoplast

Bellow Set, steering

J2840301

HYUNDAI
0K020-332125, 0K203-32125

KIA
CARENS, CARENS, CARENS, CERATO, CLARUS, CLARUS, JOICE,
SEPHIA, SEPHIA, SHUMA, SHUMA, SHUMA, SHUMA

Height [mm]: 224,0, Inner Diameter 1 [mm]: 13,0, Inner Diameter 2 [mm]: 49,0, Material: Thermoplast

Bellow Set, steering

J2840302

HYUNDAI
57740-38000

HYUNDAI

SONATA, SONATA, XG, XG

KIA

MAGENTIS, MAGENTIS, OPIRUS

Fitting Position: Front Axle, Height [mm]:

158,0, Inner Diameter 1 [mm]: 14,0, Inner Diameter 2 [mm]: 48,0

Bellow Set, steering HYUNDAI HYUNDAI
J2840303 57740-07000 i10
y KIA
PICANTO, PICANTO
MAZDA
626, 626, 626
1
Height [mm]: 179,0, Inner Diameter 1 [mm]: 13,0, Inner Diameter 2 [mm]: 48,0, Material: Thermoplast
J2840304  BellowSetsteering  [HYUNDAI ASIA MOTORS
0K552-32125, 0K60A-3212X, 0K60B-3212X, 57760-3E010 HI-TOPIC, ROCSTA, ROCSTA
KIA

CARNIVAL, CARNIVAL, CARNIVAL, K2500, K2700, K2700, PREGIO,
PREGIO, SORENTO

Height [mm]: 237,0, Inner Diameter 1 [mm]: 15,0, Inner Diameter 2 [mm]: 54,0, Material: Thermoplast

Bellow Set, steering

J2840501

HYUNDAI
56528-24000, 57721-34000, 57774-33100

HYUNDAI

ACCENT, ACCENT, ACCENT, ACCENT, COUPE, ELANTRA, ELANTRA,
LANTRA, LANTRA, LANTRA, S COUPE, SONATA, SONATA, SONATA
KIA

MAGENTIS

Fitting Position: Front Axle, Height [mm]: 208,0, Inner Diameter 1 [mm]: 15,0, Inner Diameter 2 [mm]: 48,0, Material: Thermoplast

Original equipment numbers and pictures

in this catalogue are used for reference purposes only

Page 1 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



ERA Code

NIPPARTS

moved by mechanics

Subgroup | OE / Comparable code

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

| Used on vehicles

J2840502

Bellow Set, steering HYUNDAI
57774-4A000, 57774-4A600

HYUNDAI
H-1, H-1, H-1, H100, H100, H100, H100, HIGWAY VAN

Fitting Position: Front Axle, Height [mm]:

198,0, Inner Diameter 1 [mm]: 14,0, Inner Diameter 2 [mm]: 50,0, Material: Thermoplast

J2840503

a1z

Bellow Set, steering HYUNDAI
56528-02000

24 .J

DAIHATSU

CHARADE, CHARADE, GRAN MOVE
HYUNDAI

ATOS

TOYOTA

PASEO, PASEO, STARLET

Height [mm]: 168,0, Inner Diameter 1 [mm]: 12,5, Inner Diameter 2 [mm]: 43,0

J2840504

Bellow Set, steering HYUNDAI
57728-17000, 57728-17100, 57740-07600

AARAANNARAAN

HYUNDAI

ACCENT, ACCENT, ACCENT, ACCENT, COUPE, COUPE, GETZ,
MATRIX

KIA

PICANTO

Fitting Position: Front Axle, Height [mm]:

178,0, Inner Diameter 1 [mm]: 14,0, Inner Diameter 2 [mm]: 47,0, Material: Thermoplast

J2840506

Bellow Set, steering HYUNDAI
57740-2E000, 57740-2F000

HYUNDAI

SANTA FE, SANTA FE, TRAJET, TUSCON
KIA

SORENTO, SPORTAGE

Height [mm]: 186,0, Inner Diameter 1 [mm]: 16,0, Inner Diameter 2 [mm]: 51,0, Material: Thermoplast

J2840900

Bellow Set, steering GENERAL MOTORS
520 738, 93 742 552
TOYOTA
45535-05020

CHEVROLET

AVEO, AVEO, EVANDA, LACETTI, LACETTI, LACETTI, LANOS,
NUBIRA, NUBIRA, REZZO

DAEWOO

CIELO, ESPERO, EVANDA, GENTRA, LACETTI, LACETTI, LANOS,
LANOS, LEGANZA, NEXIA, NEXIA, NUBIRA, NUBIRA, NUBIRA,
NUBIRA, NUBIRA, REZZO

TOYOTA

AVENSIS, AVENSIS, AVENSIS, PICNIC

Fitting Position: Front Axle, Height [mm]:

166,0, Inner Diameter 1 [mm]: 13,0, Inner Diameter 2 [mm]: 49,0, Material: Thermoplast

J2840901

Bellow Set, steering GENERAL MOTORS
KRS L18

L2351
3

CHEVROLET

MATIZ, SPARK, SPARK

DAEWOO

MATIZ, MATIZ, MATIZ, TICO

MAZDA

323, 323, 323, 323, 323, 323, 323, 323, 323, 323, 323,
626, 626, 626, 626, 626, 626, 626, 929, 929

Fitting Position: Front Axle, Height [mm]: 212,0, Inner Diameter 1 [mm]: 12,0, Inner Diameter 2 [mm]: 45,0

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 2 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

ERA Code Subgroup | OE / Comparable code | Used on vehicles
Bellow Set, steering | GENERAL MOTORS CHEVROLET
12840902 521 254 MATIZ, SPARK, SPARK, SPARK
DAEWOO

MATIZ, MATIZ, MATIZ, TICO

Fitting Position: Front Axle, Height [mm]:

197,0, Inner Diameter 1 [mm]: 11,0, Inner Diameter 2 [mm]: 45,0, Material: Thermoplast

Bellow Set, steering

J2841000

NISSAN
48203-10V00, 48203-10V25

INFINITI

130, M30, M30 Convertible

NISSAN

ALMERA, BLUEBIRD, BLUEBIRD, MAXIMA, MAXIMA, MAXIMA,
MAXIMA, PRAIRIE, PRAIRIE, PRIMERA, PRIMERA, PRIMERA

Height [mm]: 160,0, Inner Diameter 1 [mm]: 9,0, Inner Diameter 2 [mm]: 45,0

Bellow Set, steering

J2841004

NISSAN
48203-W1000, 48204-01F00, 48204-04A01, 48204-50Y25,
4820-4W100, 48204-W1000

NISSAN

BLUEBIRD, BLUEBIRD, BLUEBIRD, BLUEBIRD, PRAIRIE, PRAIRIE,
PRIMERA, PRIMERA, PRIMERA, PRIMERA, PRIMERA, SERENA,
STANZA, STANZA, SUNNY, SUNNY, SUNNY, SUNNY, SUNNY,
VANETTE, VANETTE, VANETTE CARGO

Height [mm]: 202,0, Inner Diameter 1 [mm]: 9,0, Inner Diameter 2 [mm]: 32,0

Bellow Set, steering NISSAN NISSAN
J2841008 48203-01B01, 48203-41B26 MICRA, MICRA
SI1LE
180
|
Height [mm]: 180,0, Inner Diameter 1 [mm]: 12,5, Inner Diameter 2 [mm]: 38,0
J 2841009 Bellow Set, steering NISSAN NISSAN

48203-53Y01, 48203-53Y25

100 NX, CHERRY, SUNNY, SUNNY, SUNNY, SUNNY, SUNNY, SUNNY,
SUNNY, SUNNY

Height [mm]: 145,0, Inner Diameter 1 [mm]: 9,0, Inner Diameter 2 [mm]: 41,0

Bellow Set, steering

J2841011

ISUZU

8-97170-432-0

NISSAN

48203-0E025, 48203-0E026, 48203-6F600

INFINITI

G20

NISSAN

300 ZX, ALMERA, ALMERA, MAXIMA, MAXIMA, MAXIMA, PRIMERA,
PRIMERA, PRIMERA, PRIMERA, PRIMERA, PRIMERA, SERENA,
TERANO, TERRANO, VANETTE, VANETTE, VANETTE CARGO,
VANETTE CARGO

Fitting Position: Front Axle Left, Height [mm]: 82,0, Inner Diameter 1 [mm]: 15,0, Inner Diameter 2 [mm]: 40,0, Paired article numbers: N2851010

Original equipment numbers and pictures

in this catalogue are used for reference purposes only

Page 3 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



A
®  Distribuited by y’ ERA
NIPPARTS " Sterzo

moved by mechanics Steering

ERA Code Subgroup | OE / Comparable code | Used on vehicles

Bellow Set, steering NISSAN NISSAN
J2841014 48203-AX600 CUBE, CUBE, KUBISTAR, MICRA, MICRA, TIIDA, TIIDA

Height [mm]: 166,0, Inner Diameter 1 [mm]: 13,5, Inner Diameter 2 [mm]: 44,5, Material: Thermoplast

J2841016 Bellow Set, steering NISSAN NISSAN
48203-BM400, 48204-4U126 ALMERA, ALMERA TINO, PRIMERA, PRIMERA, PRIMERA, TEANA,
i TEANA

Diameter 1 [mm]: 12,0, Diameter 2 [mm]: 46,0, Length [mm]: 218,0, Material: Thermoplast

Bellow Set, steering NISSAN NISSAN
J2841017 77014-73334 PRIMASTAR, PRIMASTAR
Lk
-

=

a _.

B84

Fitting Position: Front Axle, Height [mm]: 205,0, Inner Diameter 1 [mm]: 13,0, Inner Diameter 2 [mm]: 54,0, Material: Thermoplast

J 2842002 Bellow Set, steering TOYOTA TOYOTA

45535-12040, 45535-14020, 45535-14040, 45535-20160, CAMRY, CAMRY, CAMRY, CAMRY, CARINA, CARINA, CARINA,
45535-20161, 45535-20270, 45535-20271, 45535-24020 CARINA, CARINA, CELICA, CELICA, CELICA, CELICA, CELICA,
COROLLA, COROLLA, COROLLA, COROLLA, COROLLA, COROLLA,
COROLLA, COROLLA, COROLLA, COROLLA, COROLLA, COROLLA,
COROLLA, COROLLA, COROLLA, CORONA

Height [mm]: 160,0, Inner Diameter 1 [mm]: 9,5, Inner Diameter 2 [mm]: 47,0

Bellow Set, steering TOYOTA TOYOTA
J2842003 45535-05010 CARINA, CARINA, CARINA

=

Height [mm]: 210,0, Inner Diameter 1 [mm]: 13,0, Inner Diameter 2 [mm]: 55,0, Material: Thermoplast

Bellow Set, steering TOYOTA TOYOTA
12842004 45535-12011 CARINA, CARINA, CARINA, CARINA, CARINA, CARINA, CARINA,
CELICA, CELICA, CELICA, CELICA, COROLLA, COROLLA, COROLLA,
COROLLA, COROLLA, COROLLA, COROLLA, COROLLA, COROLLA,
COROLLA, COROLLA, COROLLA, COROLLA, COROLLA, COROLLA, MR2,
MR2

Height [mm]: 146,0, Inner Diameter 1 [mm]: 9,5, Inner Diameter 2 [mm]: 32,0

Original equipment numbers and pictures in this catalogue are used for reference purposes only Page 4 Of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



ERA Code

NIPPARTS

moved by mechanics

Subgroup | OE / Comparable code

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

| Used on vehicles

J2842005

Bellow Set, steering TOYOTA
45535-20040

"

TOYOTA
CALDINA, CALDINA, CALDINA, CARINA, CARINA, CARINA, CARINA,
CARINA, PASEO, PASEO, STARLET, STARLET

Height [mm]: 119,0, Inner Diameter 1 [mm]: 9,0, Inner Diameter 2 [mm]: 43,0

J2842007

Bellow Set, steering MAZDA

A011-32135

SUZUKI

48572-82000, A001 32126, ZZS03-2125A

TOYOTA

45535-12010, 45535-12060, 45535-22050, 45535-22060,
45535-22080

Dad

HONDA

ACCORD, ACCORD, ACCORD, ACCORD, ACCORD, ACCORD, CIVIC,
CIVIC, CIVIC, CIVIC, CIVIC, CIVIC, CIVIC, CIVIC, CIVIC,

CIVIC, CIVIC, CIVIC, CIVIC, CIVIC, CRX

LEXUS

LS

MAZDA

RX7,RX7,RX7

NISSAN

CHERRY, SUNNY, SUNNY, SUNNY, SUNNY, SUNNY, SUNNY
TOYOTA

CARINA, CARINA, COROLLA, COROLLA, COROLLA, COROLLA,
COROLLA

Fitting Position: Front Axle, Height [mm]:

160,0, Inner Diameter 1 [mm]: 9,0, Inner Diameter 2 [mm]: 44,0

Bellow Set, steering MAZDA
12842010 G719-32125, GA2A-32125, GA2A-32126, GJ22-32125
o1 TOYOTA
_,-D., 1 45535-12070, 45535-12080, 45535-12100, 45535-24030
—

ars_|

MAZDA

626, 626, 626

TOYOTA

CAMRY, CARINA, CARINA, CARINA, COROLLA, COROLLA, COROLLA,
COROLLA, COROLLA, COROLLA, COROLLA, COROLLA, COROLLA,
COROLLA, RAV 4, RAV 4

Fitting Position: Front Axle, Height [mm]:

148,0, Inner Diameter 1 [mm]: 14,0, Inner Diameter 2 [mm]: 47,5, Material: Thermoplast

Bellow Set, steering TOYOTA LEXUS
J2842011 45535-30010, 45535-30030 GS, GS, GS, IS, 1S, IS, IS, LS, RX, SC
. TOYOTA
HARRIER
210
Bad_ :
Height [mm]: 88,8, Inner Diameter 1 [mm]: 14,0, Inner Diameter 2 [mm]: 62,0, Material: Thermoplast
Bellow Set, steering TOYOTA SUBARU
J2842016 45535-09180, 45535-52010 TREZIA
i SUZUKI
[ VITARA
TOYOTA

e

TN

050

AURIS, AURIS, AYGO, MR2, URBAN CRUISER, VERSO S, YARIS,
YARIS, YARIS, YARIS VERSO

Height [mm]: 170,0, Inner Diameter 1 [mm]: 11,0, Inner Diameter 2 [mm]: 50,0, Material: Thermoplast

J2842017

Bellow Set, steering TOYOTA
45535-10020, 45535-10021

TOYOTA
MR2, STARLET, STARLET, STARLET, STARLET, TERCEL, TERCEL,
TERCEL, TERCEL

Height [mm]: 145,0, Inner Diameter 1 [mm]: 9,5, Inner Diameter 2 [mm]: 32,0

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 5 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




A
®  Distribuited by y’ ERA
NIPPARTS " Sterzo

moved by mechanics Steering

| Used on vehicles

ERA Code Subgroup | OE / Comparable code
Bellow Set, steering TOYOTA TOYOTA
J2842019 45535-32070 CELICA, COROLLA
i
s
T
Height [mm]: 185,0, Inner Diameter 1 [mm]: 14,0, Inner Diameter 2 [mm]: 57,0, Material: Thermoplast
J 2842021 Bellow Set, steering TOYOTA TOYOTA
45535-28030, 45535-44010 AVENSIS VERSO, CAMRY, LITEACE, PICNIC, PREVIA, PREVIA
]
Height [mm]: 213,0, Inner Diameter 1 [mm]: 14,5, Inner Diameter 2 [mm]: 50,0, Material: Thermoplast
J 2842022 Bellow Set, steering TOYOTA TOYOTA
45535-02050 AVENSIS, COROLLA, COROLLA, COROLLA, COROLLA, COROLLA,
COROLLA, COROLLA

188, Inner Diameter 1 [mm]: 15,0, Inner Diameter 2 [mm]: 49,0, Material: Thermoplast

Fitting Position: Front Axle, Height [mm]:
J 2842023 Bellow Set, steering TOYOTA TOYOTA
45535-13010, 45535-52050 AURIS, AURIS, AVENSIS, AVENSIS, COROLLA, COROLLA, COROLLA,
a1d] : RAV 4, VERSO, YARIS
3
2z
o850 !
Height [mm]: 172,0, Inner Diameter 1 [mm]: 15,0, Inner Diameter 2 [mm]: 50,0, Material: Thermoplast
Bellow Set, steering TOYOTA LEXUS
12842026 45535-60010 LX
TOYOTA

} 4 RUNNER, LAND CRUISER, LAND CRUISER, LAND CRUISER,
LAND CRUISER, LAND CRUISER, LAND CRUISER

Height [mm]: 181,0, Inner Diameter 1 [mm]: 20,0, Inner Diameter 2 [mm]: 55,0, Material: Thermoplast
Bellow Set, steering TOYOTA DAIHATSU
J2842027 45535-09010, 45535-09130, 45535-52030 CHARADE
TOYOTA

YARIS, YARIS, YARIS, YARIS VERSO

Fitting Position: Front Axle, Height [mm]: 178,0, Inner Diameter 1 [mm]: 13,0, Inner Diameter 2 [mm]: 52,0, Material: Thermoplast

Page 6 of 42

Original equipment numbers and pictures in this catalogue are used for reference purposes only

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

moved by mechanics

ERA Code Subgroup

OE / Comparable code

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

Used on vehicles

Bellow Set, steering

J2842028

D845

TOYOTA
45516-05030, 45535-09020, 45535-09030, 45535-09170

TOYOTA
AVENSIS, AVENSIS, AVENSIS, AVENSIS, AVENSIS, COROLLA,
COROLLA, COROLLA, VERSO, VERSO S

Height [mm]: 171,0, Inner Diameter 1 [mm]: 16,5, Inner Diameter 2 [mm]: 54,5, Material: Thermoplast

Bellow Set, steering

J2842029

CRIR

i
>
é =
—
=
o _

1

TOYOTA
45535-52060

TOYOTA
COROLLA, COROLLA, COROLLA, PRIUS, PRIUS, YARIS

Fitting Position: Front Axle, Height [mm]:

170,0, Inner Diameter 1 [mm]: 11,5, Inner Diameter 2 [mm]: 51,0, Material: Thermoplast

Bellow Set, steering

J2843000

MAZDA

B039-32125, B211-32125, B455-32125, B456-32125, BC50-32125,
BF67-32125, FB01-32125, FD01-32125-A, G030-32125,
NA01-32125, NA01-3212X

MAZDA

323, 323, 323, 323, 323, 323, 323, 323, 323, 323, 323,
323, 323, 626, 626, 626, 626, 626, 929, 929, MX-3, MX-5,
MX-5, RX 7, RX 7, RX 7

SUBARU SUZUKI
73123-2050 WAGON R
SUZUKI
48571-60B10
Fitting Position: Front Axle, Height [mm]: 204,0, Inner Diameter 1 [mm]: 14,0, Inner Diameter 2 [mm]: 39,0
Bellow Set, steering MAZDA MAZDA
J2843004 GA2A-3212X, GE4T-3212X 626, 626, 626, 626, 626, 626, 626, 626, 929, XEDOS 6,
= XEDOS 9
s
Height [mm]: 178,0, Inner Diameter 1 [mm]: 13,0, Inner Diameter 2 [mm]: 48,0, Material: Thermoplast
Bellow Set, steering MAZDA MAZDA
J2843007 NC10-32125 323, 323, 323, 323, MX-3, MX-5, MX-5, MX-5

Height [mm]: 185,0, Inner Diameter 1 [mm]: 13,0, Inner Diameter 2 [mm]: 41,5, Material: Thermoplast

Bellow Set, steering

J2843008

MAZDA
D001-3212X, D101-32125, D101-3212X, D210-3212X

MAZDA
121, 121, E-SERIE, E-SERIE, E-SERIE, E-SERIE

Height [mm]: 205,0, Inner Diameter 1 [mm]: 12,0, Inner Diameter 2 [mm]: 43,0, Material: Thermoplast

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 7 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




ERA Code

NIPPARTS

moved by mechanics

Subgroup |

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

Used on vehicles

J2843009

Bellow Set, steering MAZDA
GJ23-32125, GJ25-32125, GJ25-32125-A

MAZDA
323, 323, 323, 323, 323, 323, 626, PREMACY

Fitting Position:

Front Axle, Height [mm]: 153,0, Inner Diameter 1 [mm]: 13,0, Inner Diameter 2 [mm]: 43,0, Material: Thermoplast

Bellow Set, steering MAZDA MAZDA
J2843011 LC62-32125, LC62-32125-A, LC70-32125, LC70-32125-A MPV
o4
107
T
Height [mm]: 187,0, Inner Diameter 1 [mm]: 14,0, Inner Diameter 2 [mm]: 47,0, Material: Thermoplast
Bellow Set, steering HONDA HONDA
J2843012 53537-TL1-G01 ACCORD, ACCORD
MAZDA MAZDA
1 GJ6A-3212X, GS1D-32125 3,6,6,6,6,6,6, CX-7
NISSAN
3702,370z
Height [mm]: 156,0, Inner Diameter 1 [mm]: 15,0, Inner Diameter 2 [mm]: 49,0, Material: Thermoplast
Bellow Set, steering HONDA ACURA

J2844001

i

p== =
E

o298 53534-SC4-000, 53534-SD4-000, 53534-SD4-100

I

CEE)

53534-SA5-950, 53534-SA5-951, 53534-SB4-000, 53534-SB4-305,

INTEGRA, INTEGRA, INTEGRA, LEGEND, LEGEND, LEGEND,

LEGEND

HONDA

ACCORD, ACCORD, ACCORD, ACCORD, ACCORD, ACCORD, ACCORD,
ACCORD, ACCORD, ACCORD, ACCORD, ACCORD, ACCORD, ACCORD,
ACCORD, CIVIC, CIVIC, CIVIC, CIVIC, CIVIC, CIVIC, CIVIC,

CIVIC, CONCERTO, CONCERTO, CR-V, CR-V, CR-V, CRX, CRX,

CRX, INTEGRA, LEGEND, LEGEND, LEGEND, LEGEND, S2000

Fitting Position:

Front Axle, Height [mm]: 184, Inner Diameter 1 [mm]: 9,5, Inner Diameter 2 [mm]: 39,0

J2844002

Bellow Set, steering HONDA

53534-SV4-001, 53534-SV4-N01
ISUzU
5-86203-249-0, 5-86203-250-0

53534-S50-003, 53534-SL4-J01, 53534-SR3-A52, 53534-SR3-N52,

HONDA

ACCORD, ACCORD, ACCORD, ACCORD, ACCORD, ACCORD, ACCORD,
ACCORD, ACCORD, CIVIC, CIVIC, CIVIC, CIVIC, CIVIC, CIVIC,

CIVIC, CIVIC, CR-V, CRX, LOGO, PRELUDE, PRELUDE, SHUTTLE

Fitting Position:

Front Axle, Height [mm]: 143,0, Inner Diameter 1 [mm]: 9,5, Inner Diameter 2 [mm]: 44,0

J2845000

Bellow Set, steering HYUNDAI

57774-24000

MAZDA

H330-32125, H331-32125, HG30-32125
MITSUBISHI

TOYOTA
45535-06010

MB103280, MB103281, MB166166, MB266166, MB616026

HYUNDAI

ACCENT, ACCENT

LEXUS

ES, RX

MAZDA

XEDOS 9

MITSUBISHI

CARISMA, CARISMA, COLT, COLT, CORDIA, GALANT, GALANT,
GALANT, GALANT, GALANT, GALANT, GALANT, LANCER, LANCER,
LANCER, LANCER, LANCER, MIRAGE, MIRAGE, MIRAGE,
SPACE STAR, TREDIA

TOYOTA

CAMRY

Fitting Position: Front Axle, Height [mm]: 184, Inner Diameter 1 [mm]: 11, Inner Diameter 2 [mm]: 43

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 8 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




NIPPARTS

moved by mechanics

ERA Code Subgroup |

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

Used on vehicles

Bellow Set, steering DAIHATSU
J2845005 45535-97201

MAZDA

BA29-32125

NISSAN

48203-01F00, 48203-04A01

DAIHATSU

CUORE, CUORE, MOVE, MOVE, SIRION

MITSUBISHI

COLT, COLT, COLT, COLT, LANCER, LANCER, LANCER, LANCER
NISSAN

BLUEBIRD, BLUEBIRD, BLUEBIRD, BLUEBIRD, CHERRY, MICRA

Height [mm]: 162,0, Inner Diameter 1 [mm]: 11,5, Inner Diameter 2 [mm]: 35,0

Bellow Set, steering MITSUBISHI
J2845008 MRS10271

(f

o]

A |

MITSUBISHI
PAJERO, PAJERO, PAJERO, PAJERO, PAJERO, PAJERO, PAJERO,
PAJERO CLASSIC, PAJERO SPORT

Fitting Position: Front Axle Left, Height [mm]: 207,0, Inner Diameter 1 [mm]: 17,0, Inner Diameter 2 [mm]: 50,0, Paired a

rticle numbers: N2855001

Bellow Set, steering DAIHATSU
J2846008 45535-G7202

HYUNDAI
f 57740-2D000

ISUZU

8-97184-820-0

< TOYOTA

= ams 45535-26020, 45535-26030

DAIHATSU

SIRION, SIRION

HYUNDAI

COUPE, ELANTRA, ELANTRA, TIBURON
ISUzU

MU, TROOPER, TROOPER, WIZARD
KIA

CERATO, CERATO, OPIRUS

LEXUS

GX

OPEL

MONTEREY, MONTEREY

PERODUA

MYVI

TOYOTA

FJ CRUISER, HIACE, HIACE, HIACE, HIACE, HILUX,
LAND CRUISER

Fitting Position: Front Axle, Height [mm]: 175,0, Inner Diameter 1 [mm]: 15, Inner Diameter 2 [mm]: 50, Material: Thermoplast

Bellow Set, steering DAIHATSU
J2846009 45535-87401

8%
]

DAIHATSU

TERIOS, TERIOS, TERIOS KID, YRV
TOYOTA

CAMI

Fitting Position: Front Axle, Height [mm]: 211,0, Inner Diameter 1 [mm]: 14,0, Inner Diameter 2 [mm]: 44,0, Material: Thermoplast

J2847002 Bellow Set, steering SUBARU

31232-GA040, 31232-GA081, 34125-AA010

KIA

PRIDE

SUBARU

LEGACY, LEGACY, LEONE, LEONE, LEONE, LEONE, LEONE, MV, XT

Fitting Position: Front Axle, Height [mm]: 190,0, Inner Diameter 1 [mm]: 9,0, Inner Diameter 2 [mm]: 44,0

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 9 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




moved

NIPPARTS

by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

ERA Code Subgroup | OE / Comparable code | Used on vehicles
Bellow Set, steering SUBARU KIA
J2847003 34137-FA000 PRIDE, PRIDE
SUBARU

FORESTER, IMPREZA, IMPREZA, IMPREZA, LEGACY, LEGACY,
LEGACY OUTBACK

Fitting Position: Front Axle, Inner Diameter 1 [mm]: 12, Inner Diameter 2 [mm]: 38, Length [mm]: 198

Bellow Set, steering

J2847010

oa3

HYUNDAI

57770-21000

SUBARU

34132-FC000, 34135-FC000, 56528-21000, 56528-21010

MITSUBISHI

CARISMA, SPACE STAR

SUBARU

FORESTER, FORESTER, IMPREZA, IMPREZA, IMPREZA, IMPREZA,
IMPREZA, IMPREZA, LEGACY, LEGACY, LEGACY, LEGACY, LEGACY,
LEGACY, LEGACY, LEGACY, OUTBACK, OUTBACK, TRIBECA

Fitting Position: Front Axle, Height [mm]:

188,0, Inner Diameter 1 [mm]: 11,0, Inner Diameter 2 [mm]: 43,0

Bellow Set, steering

J2848000

SUZUKI
48571-82000

DAIHATSU

CUORE

SUBARU

JUSTY

SUZUKI

ALTO, ALTO, ALTO, ALTO, ALTO, CAPPUCINO, IGNIS, IGNIS,
SWIFT, SWIFT, SWIFT, SWIFT, WAGON R, WAGON R+, WAGON R+

Fitting Position: Front Axle, Height [mm]:

166,0, Inner Diameter 1 [mm]: 10,0, Inner Diameter 2 [mm]: 46,0

Bellow Set, steering

J2848002

<

SUZUKI
3268834, 3343641, 48571-60G00

SUZUKI
BALENO, BALENO, BALENO, IGNIS, IGNIS, LIANA, LIANA,
SPLASH, SX4, SX4, SX4

g 140
= <
- <
€2 g >
e <
=
o a8
Fitting Position: Front Axle, Height [mm]: 140, Inner Diameter 1 [mm]: 12,0, Inner Thread 1 [mm]: 48,0
2851 Bellow Set, steering NISSAN NISSAN
J2851005 48204-03B00, 48204-D0301 MICRA, MICRA
@al
|
Height [mm]: 147,0, Inner Diameter 1 [mm]: 9,0, Inner Diameter 2 [mm]: 50,0
Bellow Set, steering NISSAN NISSAN

J2851007

o4 J

48203-50Y00, 48203-50Y25, 48203-50Y26, 48204-53Y01,
48204-53Y25

100 NX, CHERRY, SUNNY, SUNNY, SUNNY, SUNNY, SUNNY, SUNNY,
SUNNY, SUNNY

Fitting Position: Front Axle, Height [mm]:

160,0, Inner Diameter 1 [mm]: 41,0, Inner Diameter 2 [mm]: 9,0

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 10 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




ERA Code

NIPPARTS

moved by mechanics

Subgroup

| OE / Comparable code

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

| Used on vehicles

J2851008

-

Bellow Set, steering

L%
=

<

3
2
2
.Jf

o a8

NISSAN
48203-4M525, 48203-4M526

NISSAN
ALMERA, ALMERA TINO, TEANA, TEANA

Height [mm]: 191,0, Inner Diameter 1 [mm]: 14,5, Inner Diameter 2 [mm]: 48,0

J2852001

Bellow Set, steering

TOYOTA
45536-12030

TOYOTA

CARINA, CARINA, CARINA, CARINA, CARINA, COROLLA, COROLLA,
COROLLA, COROLLA, COROLLA, COROLLA, COROLLA, COROLLA,
COROLLA, COROLLA, COROLLA, COROLLA, COROLLA, COROLLA

Height [mm]: 134,0, Inner Diameter 1 [mm]: 9,5, Inner Diameter 2 [mm)]: 44,0

J2852002

Bellow Set, steering

B
H

¥

AN

TOYOTA
45535-20050

LEXUS

ES

TOYOTA

CAMRY, CAMRY, CAMRY, CELICA, CELICA, CELICA, CELICA,
CELICA, CELICA, CELICA, CELICA, CELICA, CELICA, CELICA

Height [mm]: 145,0, Inner Diameter 1 [mm]: 9,5, Inner Diameter 2 [mm]: 47,0

J2852003

Bellow Set, steering

147

TOYOTA
45535-32030

LEXUS

ES

TOYOTA

CAMRY, CAMRY, CAMRY, CELICA, CELICA, CELICA, CELICA

Height [mm]: 147,0, Inner Diameter 1 [mm]: 9,0, Inner Diameter 2 [mm]: 50,0

J2854000

Bellow Set, steering

HONDA
53534-ST0-013, 53534-SV4-003

HONDA
ACCORD, ACCORD, ACCORD, ACCORD, ACCORD, ACCORD, CR-V

Height [mm]: 184,0, Inner Diameter 1 [mm]: 9,0, Inner Diameter 2 [mm]: 44,0

J2854005

Bellow Set, steering

AAAAARAA
H

HONDA
53535-S2H-J01

HONDA
HR-V

Height [mm]: 190,0, Inner Diameter 1 [mm]: 12,5, Inner Diameter 2 [mm]: 44,0, Material: Thermoplast

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 11 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



A
®  Distribuited by y’ ERA
NIPPARTS " Sterzo

moved by mechanics Steering

ERA Code Subgroup | | Used on vehicles

J 2855000 Bellow Set, steering MITSUBISHI MITSUBISHI
MB350770, MB378549, MB378550, MB412145, MB489875, MB532531, COLT, COLT, COLT, GRANDIS, L 300, L 300, L 300, L 400,
e MB532979, MR297971 LANCER, LANCER, LANCER, LANCER, OUTLANDER, OUTLANDER,

f PAJERO PININ, SPACE WAGON, SPACE WAGON

Height [mm]: 188,0, Inner Diameter 1 [mm]: 11,0, Inner Diameter 2 [mm]: 43,0

Bellow Set, steering SUZUKI DAIHATSU
J2858000 48572-60B10 CUORE
SUBARU
JUSTY
SUZUKI

ALTO, ALTO, ALTO, ALTO, ALTO, CAPPUCINO, IGNIS, IGNIS,
SWIFT, SWIFT, SWIFT, SWIFT, WAGON R, WAGON R+, WAGON R+

Height [mm]: 176,0, Inner Diameter 1 [mm]: 10,0, Inner Diameter 2 [mm]: 43,0

Bellow Set, steering HYUNDAI KIA
N2840308 57740-1G000 RIO, RIO

Height [mm]: 170,0, Inner Diameter 1 [mm]: 12,0, Inner Diameter 2 [mm]: 49,0

Bellow Set, steering HYUNDAI KIA
N2840309 0K30B-32125 RIO, RIO

Height [mm]: 197,0, Inner Diameter 1 [mm]: 13,5, Inner Diameter 2 [mm]: 47,0, Material: Thermoplast

Bellow Set, steering HYUNDAI KIA
N2840310 0H002-32125, 0H002-3212X, 0K203-22125 SEPHIA, SEPHIA

Diameter [mm]: 37

Bellow Set, steering HYUNDAI HYUNDAI
N2840312 57740-2P000 GRAND SANTA FE, SANTA FE
KIA

o 2
SORENTO
-— 178

e
B4

Height [mm]: 175,0, Inner Diameter 1 [mm]: 16,0, Inner Diameter 2 [mm]: 54,0

Original equipment numbers and pictures in this catalogue are used for reference purposes only Page 12 Of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



ERA Code Subgroup |

NIPPARTS

moved by mechanics

OE / Comparable code

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

| Used on vehicles

Fitting Position: Front Axle, Height [mm]:

Bellow Set, steering HYUNDAI HYUNDAI
N2840507 57740-1H000, MDX50-32125A ELANTRA, i20, i30, i30
KIA

CEE"D, CEE"D, CERATO, CERATO, CERATO, CERATO KOUP,
CERATO KOUP, PRO CEE"D

N2840508 Bellow Set, steering HYUNDAI

170,0, Inner Diameter 1 [mm]: 12,0, Inner Diameter 2 [mm]: 49,0

57740-2B000

B85

Height [mm]: 199,0, Inner Diameter 1 [mm]: 15,5, Inner Diameter 2 [mm]: 52,0

HYUNDAI
SANTA FE, SANTA FE

N2840509 Bellow Set, steering HYUNDAI

57740-26000, 57740-3A000

2135

Fitting Position: Front Axle, Height [mm]:

HYUNDAI
GENESIS, GENESIS, HIGWAY VAN, SANTA FE, TRAJET

N2840510 Bellow Set, steering HYUNDAI

180,0, Inner Diameter 1 [mm]: 13,5, Inner Diameter 2 [mm]: 51,0

57740-3K000

Fitting Position: Front Axle, Height [mm]:

HYUNDAI
GRANDEUR, GRANDEUR, SONATA, SONATA

186,0, Inner Diameter 1 [mm]: 16,0, Inner Diameter 2 [mm]: 48,0, Material: Thermoplast

Bellow Set, steering HYUNDAI CHEVROLET
N2840511 93740707 EPICA, EVANDA
DAEWOO
| EVANDA, MAGNUS, TOSCA
HYUNDAI

T

ELANTRA, ELANTRA

Diameter 1 [mm]: 15,0, Diameter 2 [mm]: 48,0, Fitting Position: Front Axle, Material: Thermoplast, Overall Length [mm]: 177,0
Bellow Set, steering HYUNDAI HYUNDAI
N2840512 57728-23000 ix35, ix55
o1E : KIA

CARENS, SPORTAGE

Fitting Position: Front Axle, Height [mm]: 183,0, Inner Diameter 1 [mm]: 16,0, Inner Diameter 2 [mm]: 54,5

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 13 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

ERA Code Subgroup | | Used on vehicles
Bellow Set, steering HYUNDAI HYUNDAI
N2840514 57740-2K001, 57740-2K010 ACCENT, i20, ix20
KIA

RIO, RIO, SOUL, VENGA

Inner Diameter 1 [mm]: 16,0, Inner Diameter 2 [mm]: 47,0, Overall Length [mm]: 172,0

Bellow Set, steering HYUNDAI HYUNDAI
N2840515 57740-B4000 i10, i20
74
1
Diameter 1 [mm]: 14,0, Diameter 2 [mm]: 47,0, Length [mm]: 174,0
Bellow Set, steering GENERAL MOTORS CHEVROLET
N2840903 93 742 565 AVEO, AVEO, AVEO, AVEO, CRUZE, CRUZE, CRUZE
o DAEWOO
| KALOS, KALOS
S a0
Height [mm]: 203,0, Inner Diameter 1 [mm]: 11,0, Inner Diameter 2 [mm]: 45,0, Material: Thermoplast
Bellow Set, steering GENERAL MOTORS CHEVROLET
N2840904 26 024 585, 30 553 357, 44 02 772, 5 20 540 LACETTI, LANOS
T DAEWOO

ARANOS, ESPERO, LACETTI, LANOS, LANOS, NEXIA, NEXIA

Height [mm]: 422,0, Inner Diameter 1 [mm]: 54,0, Inner Diameter 2 [mm]: 54,1

@4

Bellow Set, steering GENERAL MOTORS CHEVROLET
N2840905 521 256, 93 740 595 MATIZ, REZZO, SPARK, SPARK, SPARK
DAEWOO

ESPERO, MATIZ, MATIZ, MATIZ, NUBIRA, REZZO, TICO

Height [mm]: 158,0, Inner Diameter 1 [mm]: 13,0, Inner Diameter 2 [mm]: 49,0

Bellow Set, steering | GENERAL MOTORS CHEVROLET
N2840906 26 021 070 LACETTI, LANOS
5 DAEWOO
CIELO, ESPERO, LACETTI, LANOS, LANOS, LEMANS, NEXIA,
NEXIA

Inner Diameter [mm]: 66, Length [mm]: 510, Material: Thermoplast

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 14 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

ERA Code Subgroup | | Used on vehicles
Bellow Set, steering GENERAL MOTORS BUICK
N2840907 48 03 246, 93 743 434 SKYLARK
CADILLAC
f SRX
CHEVROLET
CAPTIVIA
Inner Diameter 1 [mm]: 13,0, Inner Diameter 2 [mm]: 53,0, Length [mm]: 185,0
Bellow Set, steering GENERAL MOTORS CHEVROLET

N2840908

o138

95 952 928

@848

AVEO, AVEO, CRUZE, TRAX

Inner Diameter 1

[mm]: 13,5, Inner Diameter 2 [mm]: 54,5, Length [mm]: 206,0

N2840909

o

Bellow Set, steering GENERAL MOTORS
95218 371

OPEL

16 09 200

CHEVROLET
AVEO, AVEO, COBALT, CRUZE, TRAX

Height [mm]: 185,0, Inner Diameter 1 [mm]: 14,0, Inner Diameter 2 [mm]: 46,5

N2840910

Bellow Set, steering GENERAL MOTORS
13 278 357

oa9 _|

CHEVROLET
CRUZE, CRUZE, ORLANDO

Inner Diameter 1

[mm]: 16,0, Inner Diameter 2 [mm]: 49,0, Overall Length [mm]: 190,0

Bellow Set, steering GENERAL MOTORS CHEVROLET
N2840912 93 743 483 SPARK
BII: \
Inner Diameter 1 [mm]: 11,5, Inner Diameter 2 [mm]: 49,0, Overall Length [mm]: 179,0
Bellow Set, steering NISSAN NISSAN

N2841024

48203-6F610

FIGARO, MICRA

Inner Diameter 1 [mm]: 12,0, Inner Diameter 2 [mm]: 36,0, Length [mm]: 216,0, Material: Thermoplast

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 15 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




moved

NIPPARTS

by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo

Steering

Used on vehicles

ERA Code Subgroup | OE / Comparable code
Bellow Set, steering NISSAN HONDA
N2841025 48203-9C000, 48203-9C001, 53535-ST3305, GRG1152, GSV1141, CIVIC, CIVIC
QEY000040 NISSAN
SERENA
Height [mm]: 150,0, Inner Diameter 1 [mm]: 11,0, Inner Diameter 2 [mm]: 44,0
NISSAN

Bellow Set, steering

N2841026

NISSAN
48203-JD01A, D8203-1KA0A

JUKE, LEAF, QASHQAI, QASHQAI, X-TRAIL

Fitting Position: Front Axle, Height [mm]:

168,0, Inner Diameter 1 [mm]: 14,0, Inner Diameter 2 [mm]: 50,0

Bellow Set, steering

N2841031

i
<
§ -
YT

NISSAN
48203-AL525

NISSAN
350 Z, 350 Z, CEFIRO, CEFIRO, MAXIMA, MURANO

Height [mm]: 153,0, Inner Diameter 1 [mm]: 14,0, Inner Diameter 2 [mm]: 48,0, Material: Thermoplast

Bellow Set, steering

N2841032

@Ay

NISSAN
48203-8H325

NISSAN
ALMERA TINO, X-TRAIL

Fitting Position: Front Axle, Height [mm]:

188,0, Inner Diameter 1 [mm]: 15,0, Inner Diameter 2 [mm]: 47,0, Material: Thermoplast

Bellow Set, steering

N2841033

Ll

I
e

08 |

NISSAN
48203-EA025

NISSAN
NP300, NP300, PATHFINDER

Fitting Position: Front Axle, Height [mm]

188,0, Inner Diameter 1 [mm]: 16,0, Inner Diameter 2 [mm]: 53,0, Material: Thermoplast

Bellow Set, steering

N2841034

e,

&

SUZUKI
D8203-1HAOA

NISSAN
MICRA

Height [mm]: 167,0, Inner Diameter 1 [mm]: 13,5, Inner Diameter 2 [mm]: 54,0

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 16 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

moved by mechanics

ERA Code Subgroup

OE / Comparable code

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

| Used on vehicles

Bellow Set, steering

N2841035

NISSAN

48203-1U61A, 48203-3U025

NISSAN
MICRA, NOTE, NV200, NV200

Height [mm]: 155,0, Inner Diameter 1 [mm]: 11,5, Inner Diameter 2 [mm]: 51,0

Bellow Set, steering TOYOTA TOYOTA
N2842030 45536-10070 MR2, STARLET, STARLET, STARLET, TERCEL, TERCEL, TERCEL,
: TERCEL
Height [mm]: 158,0, Inner Diameter 1 [mm]: 9,5, Inner Diameter 2 [mm]: 39,0
N 2842031 Bellow Set, steering TOYOTA TOYOTA

_ea |

45535-10050

MR2, STARLET

Height [mm]: 143,0, Inner Diameter 1 [mm]: 9,5, Inner Diameter 2 [mm]: 43,0

Bellow Set, steering

N2842032

CE

TOYOTA
45536-12011

TOYOTA
CARINA, CARINA, CARINA, CARINA, MR2, STARLET

Height [mm]: 172,0, Inner Diameter 1 [mm]: 9,5, Inner Diameter 2 [mm]: 32,0

45535-0K010

Bellow Set, steering TOYOTA TOYOTA
N2842033 45535-16010 STARLET
i
L
Height [mm]: 138,0, Inner Diameter 1 [mm]: 10,0, Inner Diameter 2 [mm]: 40,0
N2842034 Bellow Set, steering TOYOTA TOYOTA

HILUX, HILUX, HILUX

Height [mm]: 195,0, Inner Diameter 1 [mm]: 14,5, Inner Diameter 2 [mm]: 50,5

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 17 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

| Used on vehicles

ERA Code Subgroup | OE / Comparable code
Bellow Set, steering TOYOTA LEXUS
N2842041 45535-69025 GX
TOYOTA

FJ CRUISER, LAND CRUISER

Height [mm]: 170,0, Inner Diameter 1 [mm]: 15,5, Inner Diameter 2 [mm]: 53,0

Bellow Set, steering TOYOTA LEXUS
N2842043 45535-49015 CT
TOYOTA

@88

AURIS, COROLLA, PRIUS, PRIUS

Height [mm]: 182,0, Inner Diameter 1 [mm]: 15,5, Inner Diameter 2 [mm]: 59,5

N2842045

Bellow Set, steering

Bellow Set, steering TOYOTA LEXUS
N2842044 45535-08010, 45535-0E010 RX
215 1
Mz
o4 - :
Inner Diameter 1 [mm]: 15,0, Inner Diameter 2 [mm]: 49,0, Material: Thermoplast, Overall Length [mm]: 212,0
TOYOTA

TOYOTA
45535-09120

AURIS, AURIS, AURIS, AURIS VAN, COROLLA

Inner Diameter 1 [mm]: 16,0, Inner Diameter 2 [mm]: 60,0, Material: Thermoplast, Overall Length [mm]: 157,0

Bellow Set, steering TOYOTA TOYOTA
N2842046 45535-49025 RAV 4
oE
156
Inner Diameter 1 [mm]: 15,0, Inner Diameter 2 [mm]: 49,0, Overall Length [mm]: 156,0
N2842047 Bellow Set, steering TOYOTA TOYOTA
RAV 4

45535-49045

Inner Diameter 1 [mm]: 16,0, Inner Diameter 2 [mm]: 49,0, Overall Length [mm]: 188,0

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 18 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

ERA Code Subgroup | OE / Comparable code | Used on vehicles
Bellow Set, steering MAZDA KIA
N2843014 1E00-32125, 6935233, 92AB-3K661-AA PRIDE, PRIDE
MAZDA
121,121
o]
Fitting Position: Front Axle, Height [mm]: 228,0, Inner Diameter 1 [mm]: 14,0, Inner Diameter 2 [mm]: 37,0
Bellow Set, steering MAZDA MAZDA
N2843015 4330628, DE90-32125 2
198
a8s
Height [mm]: 198,0, Inner Diameter 1 [mm]: 14,0, Inner Diameter 2 [mm]: 54,0, Material: Thermoplast
Bellow Set, steering MAZDA MAZDA
N2843016 B25D-32125

LI

Height [mm]: 151,0, Inner Diameter 1

323, 323, PREMACY

[mm]: 14,0, Inner Diameter 2 [mm]: 43,0, Material: Thermoplast

Bellow Set, steering MAZDA MAZDA
N2843019 1545456, 1609347, 406695, 77363828, 8V51-3L575-AA, 93189041, 2,2, DEMIO
o33l : D651-3212X OPEL
- VECTRA
2
'3 200
2
2
o8 :
Height [mm]: 200,0, Inner Diameter 1 [mm]: 12,0, Inner Diameter 2 [mm]: 55,0, Material: Thermoplast
Bellow Set, steering MAZDA MAZDA
N2843024 BP4L-32125, BP4L-3212X 3,333,5,5
@183
,: i 170
=
’ s;_:}' '
Height [mm]: 170, Inner Diameter 1 [mm]: 15,5, Inner Diameter 2 [mm]: 51, Material: Thermoplast
Bellow Set, steering MAZDA MAZDA
N2843025 BJS7-3212X, KD31-3212X 3,3,6,6,CX-5

o5 _

Material: Thermoplast

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 19 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



ERA Code Subgroup |

NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

OE / Comparable code | Used on vehicles
Bellow Set, steering HONDA HONDA
N2844010 53534-SMG-E01 CIVIC, CIVIC
5;: 7o
iy chay
FT IO

Fitting Position: Front Axle Left, Height [mm]: 170,0, Inner Diameter 1 [mm]: 12,5, Inner Diameter 2 [mm]: 51,5, Material: Thermoplast,
Paired article numbers: N2854010

Bellow Set, steering HONDA HONDA
N2844011 _ 53534-584-A01

Fitting Position: Front Axle, Height [mm]:

ACCORD, ACCORD, ACCORD, ACCORD, ACCORD, ACCORD, ACCORD

Bellow Set, steering HONDA
N2844012 53536-S1A-E01

195,0, Inner Diameter 1 [mm]: 12,0, Inner Diameter 2 [mm]: 47,0, Material: Thermoplast

HONDA

Fitting Position: Front Axle, Height [mm]:

156,0, Inner Diameter 1 [mm]: 10,0, Inner Diameter 2 [mm]: 43,0

ACCORD, ACCORD, ACCORD, ACCORD

Bellow Set, steering HONDA HONDA
N2844013 53534-SEL-003 JAZZ, IAZZ
@3]
165
—ew |
Height [mm]: 165,0, Inner Diameter 1 [mm]: 12,0, Inner Diameter 2 [mm]: 49,0
Bellow Set, steering HONDA HONDA
N2844014 53534-SAA-003, 53535-SEL-003 JAZZ, IAZZ
13
178
r
D44 |
Height [mm]: 178,0, Inner Diameter 1 [mm]: 12,0, Inner Diameter 2 [mm]: 44,0
Bellow Set, steering HONDA HONDA
N2844021 53534-S30-003, 53535-S75-003

o8

Height [mm]: 177,0, Inner Diameter 1 [mm]: 9,0, Inner Diameter 2 [mm]: 50,0

LEGEND, PRELUDE

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 20 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

ERA Code Subgroup | OE / Comparable code Used on vehicles
Bellow Set, steering HONDA HONDA
N2844022 53534-S9A-003 CR-V, CR-V
HONDA HONDA

53534-SEA-G02

ACCORD, ACCORD

Height [mm]: 175,0, Inner Diameter 1 [mm]: 12,5, Inner Diameter 2 [mm]: 45,0, Material: Thermoplast

N2844024 Bellow Set, steering HONDA

53534-SED-G01

HONDA
ACCORD, ACCORD, ACCORD

Fitting Position

: Front Axle, Height [mm]:

176,0, Inner Diameter 1 [mm]: 12,5, Inner Diameter 2 [mm]: 48,0, Material: Thermoplast

Bellow Set, steering HONDA HONDA
N2844026 53537-S2A-003, F15132125 S2000
23] MAZDA
p - { RX 8
ms
i
Height [mm]: 185,0, Inner Diameter 1 [mm]: 12,5, Inner Diameter 2 [mm]: 59,0, Material: Thermoplast
Bellow Set, steering HONDA HONDA
N2844028 53429-TF0-003 CITY, INSIGHT
7e
Inner Diameter 1 [mm]: 13,0, Inner Diameter 2 [mm]: 58,0, Material: Thermoplast, Overall Length [mm]: 176,0
N2845003 Bellow Set, steering MITSUBISHI MITSUBISHI

3345796

_q,\m
H

%Ei

CARISMA, CARISMA

Height [mm]: 200,0, Inner Diameter 1 [mm]: 11,0, Inner Diameter 2 [mm]: 41,0

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 21 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




ERA Code Subgroup |

NIPPARTS

moved by mechanics

OE / Comparable code

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

| Used on vehicles

N2845004 Bellow Set, steering

AAAAAAAA
B

MITSUBISHI
MB350581, MB501711, MR369122

HYUNDAI
SANTAMO

MITSUBISHI

3000 GT, COLT, COLT, COLT, COLT, ECLIPSE, ECLIPSE, FTO,
GALANT, GALANT, GALANT, GALANT, GALANT, GALANT, GALANT,
GALANT, GALANT, L 300, L 300, L 300, L 400, L 400,

LANCER, LANCER, LANCER, LANCER, LANCER, LANCER, LANCER,
SANTAMO, SAPPORO, SAPPORO, SAPPORO, SIGMA, SIGMA,
SPACE RUNNER, SPACE WAGON, SPACE WAGON, TREDIA

N 2845006 Bellow Set, steering

PROTON
AEROBACK, PERSONA 300, PERSONA 400, SALOON, SATRIA, WIRA,
a4 WIRA
_O4s |
Fitting Position: Front Axle, Height [mm]: 185,0, Inner Diameter 1 [mm]: 11,0, Inner Diameter 2 [mm]: 46,0
MITSUBISHI

MITSUBISHI
4410A125, 4410A452

LANCER, LANCER, LANCER, OUTLANDER, OUTLANDER

Height [mm]: 175,0, Inner Diameter 1 [mm]: 14,0, Inner Diameter 2 [mm]: 47,0

N2845007 Bellow Set, steering

MITSUBISHI
4410A180

MITSUBISHI
L 200, L 200, L200 / TRITON, PAJERO SPORT

Height [mm]: 196,0, Inner Diameter 1 [mm]: 18,0, Inner Diameter 2 [mm]: 53,0

N2845012 Bellow Set, steering

o — =

=

EXT)

MITSUBISHI
4410A328

MITSUBISHI
ASX, ASX, LANCER, LANCER, OUTLANDER

Height [mm]: 166,0, Inner Diameter 1 [mm]: 14,0, Inner Diameter 2 [mm]: 51,0

Bellow Set, steering DAIHATSU DAIHATSU
N2846015 45535-B2010 CUORE, CUORE, MATERIA, SIRION, TREVIS
SUBARU
JUSTY
Height [mm]: 182,0, Inner Diameter 1 [mm]: 11,0, Inner Diameter 2 [mm]: 58,0
Bellow Set, steering SUBARU ISUZU
N2847011 31232-GA082 CAMPO, KB
SUBARU

LEGACY, LEGACY, LEONE

Fitting Position: Front Axle, Height [mm]: 160,0, Inner Diameter 1 [mm]: 10,0, Inner Diameter 2 [mm]: 40,0

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 22 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



ERA Code Subgroup |
N2847012 Bellow Set, steering SUBARU

NIPPARTS

moved by mechanics

OE / Comparable code

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

| Used on vehicles

34137-AG000, 34137-AG010

@148

SUBARU
IMPREZA, IMPREZA, LEGACY, LEGACY, OUTBACK

Height [mm]: 168,0, Inner Diameter 1 [mm]: 14,5, Inner Diameter 2 [mm]: 45,0

Bellow Set, steering SUBARU
N2847014 31137-SA000, 34137-SA000

Fitting Position: Front Axle, Height [mm]:

SUBARU
BRZ, FORESTER, IMPREZA, IMPREZA, IMPREZA

173,0, Inner Diameter 1 [mm]: 14,5, Inner Diameter 2 [mm]: 44,5, Material: Thermoplast

Bellow Set, steering SUBARU SUBARU
N2847015 4701740, 4857183, 9204747 JUsTY
SUZUKI SUZUKI
1 48571-83E00, 48572-60G00

BALENO, BALENO, BALENO, IGNIS, IGNIS, LIANA, LIANA,
SPLASH, SX4, SX4, SX4, WAGON R, WAGON R+

N2847016 Bellow Set, steering SUBARU

Height [mm]: 165,0, Inner Diameter 1 [mm]: 12,0, Inner Diameter 2 [mm]: 42,0, Material: Thermoplast

34137-AG020

Height [mm]: 170,0, Inner Diameter 1 [mm]: 14,5, Inner Diameter 2 [mm]: 43,0

SUBARU
IMPREZA, LEGACY, LEGACY, LEGACY, LEGACY, OUTBACK, OUTBACK

Bellow Set, steering SUZUKI SUZUKI
N2848004 48571-63J00, 48571-63J00-000, 93193997 SWIFT
"
Height [mm]: 152,0, Inner Diameter 1 [mm]: 12,5, Inner Diameter 2 [mm]: 50,5
Bellow Set, steering SUZUKI SUZUKI
N2848005 1742757 SX4, SX4, SX4
213
k=
% <
P =
'F-_'C_f’* Ly

Height [mm]: 175,0, Inner Diameter 1 [mm]: 13,0, Inner Diameter 2 [mm]: 44,0

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 23 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



moved

NIPPARTS

Distri

by mechanics

buited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

ERA Code Subgroup | OE / Comparable code | Used on vehicles
Bellow Set, steering SUZUKI SUZUKI
N2848006 48571-65D00 GRAND VITARA
1688
Height [mm]: 168,0, Inner Diameter 1 [mm]: 14,0, Inner Diameter 2 [mm]: 42,0
Bellow Set, steering SUZUKI SUZUKI

N2848008

48571-50F00, ZZS1 32125

CARRY, SUPER CARRY, SUPER CARRY

Height [mm]: 138,0, Inner Diameter 1 [mm]: 13,0, Inner Diameter 2 [mm]: 36,0

Bellow Set, steering

N2851010

NISSAN
48203-41B27

NISSAN
ALMERA, ALMERA, MAXIMA, MAXIMA, SUNNY, SUNNY, SUNNY,
SUNNY, SUNNY

Fitting Position: Front Axle Right, Height

[mm]: 180,0, Inner Diameter 1 [mm]: 11,0, Inner Diameter 2 [mm]: 43,0, Paired

article numbers: J2841011

Bellow Set, steering TOYOTA TOYOTA
N2852005 45536-10050, 45536-10060 STARLET
]
Height [mm]: 170,0, Inner Diameter 1 [mm]: 9,5, Inner Diameter 2 [mm]: 28,0
Bellow Set, steering HONDA HONDA
N2854010 53535-SMG-E01 CIVIC, CIVIC

Fitting Position: Front Axle Right, Height
Paired article numbers: N2844010

[mm]: 182,0, Inner Diameter 1 [mm]: 12,0, Inner Diameter 2 [mm]: 44,0, Material: Thermoplast,

Bellow Set, steering

N2855001

MITSUBISHI
MR510272

MITSUBISHI

PAJERO, PAJERO, PAJERO, PAJERO, PAJERO, PAJERO CLASSIC,
PAJERO SPORT

TOYOTA

CARINA, CARINA, CARINA

Fitting Position: Front Axle Right, Height [mm]: 240,0, Inner Diameter 1 [mm]: 17,0, Inner Diameter 2 [mm]: 51,0, Paired article numbers: J2845008

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 24 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




ERA Code Subgroup |

NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION
Sterzo
Steering

Used on vehicles

ARAARAAAR

Bellow Set, steering MITSUBISHI MITSUBISHI
N2855002 MB347365 COLT, COLT, COLT, LANCER
PROTON

PERSONA 300, PERSONA 400

Height [mm]: 178,0, Inner Diameter 1 [mm]: 9,0, Inner Diameter 2 [mm]: 36,0

Centre Rod Assembly HYUNDAI
N4810300 0K011-32260A, OK011-32260A

N

KIA
RETONA, SPORTAGE, SPORTAGE

Outer thread [mm]: M12x1,25, Overall Length [mm]: 810, Rod/Strut: Camber Link, Supplementary Article/Info 2: with spherical bush

Centre Rod Assembly  |NISSAN
N4811020 48560-3S525, D8560-VK90A

i

NISSAN
NAVARA, NAVARA, NP300, PICK UP

Construction Height 1 [mm]: 68, Fitted Diameter [mm]: 14, Outer thread [mm]: 12x1,25, Overall Length [mm]: 820, Rod/Strut: Camber Link

Centre Rod Assembly ~ |NISSAN NISSAN

N4811021 48680-VB025, 48680-VC026 PATROL
Length [mm]: 1126, Rod/Strut: Camber Link, Thread Size 1: M12X1,25, Thread Size 2: M12X1,25

NISSAN

Centre Rod Assembly  |NISSAN
N4811022 48510-35525, D8510-VK90A

NAVARA, NAVARA, NP300, PICK UP

Length [mm]: 266,3, Rod/Strut: Camber Link, Thread Size 1: M14X1,5, Thread Size 2: M14X1,5

Centre Rod Assembly  |NISSAN
N4811024 48560-09G25

~g

NISSAN
PICK UP, PICK UP

Length [mm]: 813, Rod/Strut: Camber Link, Thread Size 1: M12X1,25

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 25 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS® Distribuited by :’ ERA

QUALITY CARE PRECISION

i Sterzo
moved by mechanics Steering

ERA Code Subgroup | OE / Comparable code |
N4811028 Centre Rod Assembly NISSAN

NISSAN
48560-35125, 48560-35185, D8560-VK91A, D8560-VK92A NAVARA, NAVARA, NP300, PICK UP

Used on vehicles

Length [mm]: 775, Rod/Strut: Camber Link, Thread Size 1: M12X1,25, Thread Size 2: M12X1,25
Idler Arm NISSAN NISSAN
J4801013 48530-01G00, 48530-01G25, 48530-35185, D8530-VK91A

PICK UP

Fastening Type: Flange mounting, Inner Diameter [mm]: 12,8, Parameter: Assy, Supplementary Article/Info 2: without ball joint
Idler Arm TOYOTA TOYOTA
J4802036 45490-39255, 45490-39345 HILUX
Parameter: Assy, Supplementary Article/Info 2: with ball joints, Thread Size 1: M12X1,25
Idler Arm TOYOTA TOYOTA
J4802038 45490-39455, 45490-39456

HILUX, HILUX, HILUX

1

Parameter: Assy, Supplementary Article/Info 2: with ball joints, Thread Size 1: M12X1,25
Idler Arm MITSUBISHI MITSUBISHI
J4805002 MB241423 L 200
Parameter: Assy, Supplementary Article/Info 2: with spherical bush, Thread Size 1: M12X1,25
Idler Arm HYUNDAI HYUNDAI
J4805016 TioEr8000
& MITSUBISHI
-

GALLOPER, GALLOPER
MITSUBISHI

MB673525A, MB673525B

y -

GALLOPER

Parameter: Assy, Supplementary Article/Info 2: with spherical bush, Thread Size 1: M12X1,25

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 26 of 42
ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



A
®  Distribuited by y’ ERA
NIPPARTS " Sterzo

moved by mechanics Steering

ERA Code Subgroup OE / Comparable code | Used on vehicles

Idler Arm HYUNDAI KIA
N4800301 0K011-32320A, 0K011-32320B RETONA, SPORTAGE

F. -

Outer thread [mm]: M17x1,5, Parameter: Assy, Supplementary Article/Info 2: without ball joint

Idler Arm HYUNDAI HYUNDAI
N4800503 56940-44002 H100, H100, H100

Parameter: Assy, Supplementary Article/Info 2: with spherical bush

N4801018 Idler Arm NISSAN NISSAN
48530-0F000, 48530-31G25, D8530-VK90A NAVARA, NAVARA, NP300, PICK UP, PICK UP, TERRANO

Parameter: Assy, Supplementary Article/Info 2: without ball joint, Thread Size 1: M12X1,25

Idler Arm NISSAN NISSAN
N4801019 48530-2S600, 48530-25625 NAVARA, PICK UP

Fastening Type: Flange mounting, Three-point mounting, Inner Diameter [mm]: 13,5

Idler Arm NISSAN NISSAN
N4801021 48530-15G25, 48530-25485 PICK UP

=

Parameter: Assy, Supplementary Article/Info 2: without ball joint, Thread Size 1: M12X1,25

Idler Arm NISSAN NISSAN
N4801022 48530-35G25, D8530-VK90B TERRANO

Left-/right-hand drive vehicles: for right-hand drive vehicles, Parameter: Assy, Supplementary Article/Info 2: without ball joint, Thread Size 1: M12X1,25

Original equipment numbers and pictures in this catalogue are used for reference purposes only Page 27 Of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



moved

ERA Code Subgroup

NIPPARTS

by mechanics

| OE / Comparable code

Distribuited by :’ ERA

QUALITY CARE PRECISION

Used on vehicles

Sterzo

Steering

Idler Arm

N4802039

TOYOTA
45490-39245, 45490-39355

TOYOTA
4 RUNNER, 4 RUNNER

Parameter: Assy, Supplementary Atrticle/

Info 2: with spherical bush, Thread Size 1: M12x1,25

Idler Arm TOYOTA TOYOTA
N4802041 45490-39305, 45490-39306 HILUX, HILUX
Parameter: Assy, Supplementary Article/Info 2: without ball joint, Thread Size 1: M14x1,5

Idler Arm TOYOTA TOYOTA

N4802042

=

45401-35260

HILUX, HILUX, HILUX

Parameter: Single Arm, Supplementary Article/Info 2: with spherical bush, Thread Size 1: M14x1,5

Idler Arm MAZDA MAZDA
N4803001 UJ06-32320, UJ06-32321, UJ06-32322, UJ06-32323, UJ06-32324, B-SERIE
UJ06-32325, UJ06-32326, UJ06-32327, UJ06-32328, UJ06-32329,
UJ06-32330
Outer thread [mm]: M12x1,25, Parameter: Assy, Supplementary Article/Info 2: with spherical bush
Idler Arm MAZDA MAZDA
N4803002 UA3N-32320-A BT-50, BT-50
Wi
-
Parameter: Assy, Supplementary Article/Info 2: with spherical bush, Thread Size 1: M12X1,25
Idler Arm MAZDA MAZDA
N4803003 UR56-32320-A BT-50, BT-50

Outer thread [mm]: M12X1,25, Parameter: Assy, Supplementary Article/Info 2: with spherical bush

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 28 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




moved

ERA Code Subgroup

NIPPARTS

by mechanics

| OE / Comparable code

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

Used on vehicles

Idler Arm

N4803004

MAZDA
EUS53-32320, UB93-32320-B, UE53-32280

MAZDA
B-SERIE, B-SERIE

Parameter: Assy, Supplementary Atrticle/

Info 2: with spherical bush, Thread Size 1: M12x1,25

Idler Arm MAZDA MAZDA
N4803007 UH71-32320 B-SERIE
Parameter: Assy, Supplementary Article/Info 2: with spherical bush, Thread Size 1: M12x1,25
Idler Arm MITSUBISHI MITSUBISHI
N4805027 MB831042 PAJERO, PAJERO, PAJERO, PAJERO CLASSIC, PAJERO SPORT

Parameter: Assy, Supplementary Article/|

Info 2: with spherical bush, Thread Size 1: M12X1,25

Idler Arm MITSUBISHI MITSUBISHI
N4805030 MB527227, MB907272 L 200
1
Cone Size [mm]: 13,6, Parameter: Single Arm, Thread Size: M12x1,25
Idler Arm MITSUBISHI MITSUBISHI

N4805031

MB241830, MB698532

PAJERO, PAJERO

Parameter: Assy, Supplementary Article/|

Info 2: with spherical bush, Thread Size 1: M12X1,25

Idler Arm

N4805032

MITSUBISHI
MR296273, MR296509

MITSUBISHI
L 200, PAJERO CLASSIC, PAJERO SPORT, PAJERO SPORT,
PAJERO SPORT

Parameter: Assy, Supplementary Article/

Original equipment numbers and pictures

Info 2: with spherical bush, Thread Size 1: M12x1,25

in this catalogue are used for reference purposes only

Page 29 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

NIPPARTS

moved by mechanics

ERA Code p OE / Comparable code Used on vehicles
Idler Arm MITSUBISHI MITSUBISHI
N4805033 MR241030 L 200
Parameter: Assy, Supplementary Article/Info 2: with spherical bush, Thread Size 1: M12x1,25
Idler Arm MITSUBISHI MITSUBISHI
N4805035 MR296271 L 200
Parameter: Assy, Supplementary Article/Info 2: with spherical bush, Thread Size 1: M12x1,25
Idler Arm DAIHATSU DAIHATSU
N4806000 45408-87602 ROCKY
Parameter: Assy, Supplementary Article/Info 2: with spherical bush, Thread Size 1: M14x1,5
Inner Tie Rod HYUNDAI KIA
J4840304 0K2A2-32240 CARENS, CARENS, CERATO, SHUMA, SHUMA, SHUMA
2

Length [mm]: 286, Thread Size 1: M14X1,5, Thread Size 2: M16X1,5

Inner Tie Rod

J4840306

HYUNDAI
0K522-32270

KIA
CARNIVAL, CARNIVAL

Length [mm]: 246, Thread Size 1: M14X1,5, Thread Size 2: M17X1

Inner Tie Rod

J4840308

-

HYUNDAI
0K72A-32270

ASIA MOTORS

ROCSTA, ROCSTA

KIA

BONGO, K2500, K2500, PREGIO, PREGIO

Length [mm]: 290, Thread Size 1: M14X1,5, Thread Size 2: M17X1

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 30 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



ERA Code Subgroup |

NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

Used on vehicles

J4840312 Inner Tie Rod HYUNDAI

="

KDX50-32240A, KDX50-32240B, KDX50-32240C, KDX53-32240B

KIA
RIO, RIO, RIO, RIO

Length [mm]: 260,4, Thread Size 1: M12X1,25, Thread Size 2: M16X1,5

Inner Tie Rod HYUNDAI KIA
J4840314 57732-3E010 SORENTO
Length [mm]: 171, Thread Size 1: M14X1,5, Thread Size 2: M18X1,5
Inner Tie Rod HYUNDAI KIA
J4840318 57724-07000, 57724-07001 PICANTO
M :
Length [mm]: 290, Thread Size 1: M12X1,25, Thread Size 2: M16X1,5
Inner Tie Rod SSANGYONG DAEWOO
J4840400 135 922 60 80 KORANDO, KORANDO, MUSSO
SSANGYONG
KORANDO, KORANDO, KORANDO, KORANDO, MUSSO, MUSSO
- SPORTS,
_ - REXTON, REXTON SPORTS

Length [mm]: 274, Thread Size 1: M14X1,5, Thread Size 2: M17X1

J4840500 Inner Tie Rod HYUNDAI

56540-22000, 56540-24000, 56540-24001, 56540-43000

HYUNDAI

ACCENT, ACCENT, H100, H100, PONY, PONY, PONY, PONY,
PONY, PONY, S COUPE

MITSUBISHI

GALANT, SAPPORO

Length [mm]: 274,4, Thread Size 1: M14X1,5, Thread Size 2: M16X1,5

J4840501 Inner Tie Rod HYUNDAI

56540-28010, 56542-43001, 57730-24000, 57730-28500,
57730-43000, 57730-43001, 57730-43010, 57755-22000

HYUNDAI
ACCENT, ACCENT, H100, H100, H100, LANTRA, PONY, PONY,
PORTER, PORTER, PORTER, S COUPE

Length [mm]: 268,1, Thread Size 1: M14X1,5, Thread Size 2: M16X1,5

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 31 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

ERA Code Subgroup | | Used on vehicles
Inner Tie Rod HYUNDAI HYUNDAI
14840503 56540-28020, 57730-28020, 57730-33100 LANTRA, SONATA
> o

Length [mm]: 281,1, Thread Size 1: M14X1,5, Thread Size 2: M16X1,5

J4840506

Inner Tie Rod

HYUNDAI
57730-29000, 57730-29001

HYUNDAI
COUPE, COUPE, LANTRA, LANTRA

Length [mm]: 296, Thread Size 1: M14X1,5, Thread Size 2: M16X1,5

Inner Tie Rod HYUNDAI HYUNDAI
J4840507 57729-4A000, 57729-4A010 H-1, H-1, H-1
Length [mm]: 292, Thread Size 1: M14X1,5, Thread Size 2: M16X1,5

Inner Tie Rod HYUNDAI HYUNDAI
J4840509 56540-02000 ATOS
Length [mm]: 240,9, Thread Size 1: M12X1,25, Thread Size 2: M14X1,5

Inner Tie Rod HYUNDAI HYUNDAI
J4840510 57755-02000 ATOS
Length [mm]: 265, Thread Size 1: M12X1,25, Thread Size 2: M14X1,5

Inner Tie Rod HYUNDAI HYUNDAI
J4840514 57224-2D020, 57724-2D000, 57724-2D020 COUPE, ELANTRA, ELANTRA, ELANTRA

KIA

CERATO, CERATO

Length [mm]: 326, Thread Size 1: M14X1,5, Thread Size 2: M16X1,5

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 32 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




ERA Code

NIPPARTS

moved by mechanics

Subgroup |

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

Used on vehicles

J4840517

Inner Tie Rod HYUNDAI
57724-3K000, 57724-3K500
HYUNDAI (BEIJING)

HYUNDAI
GRANDEUR, GRANDEUR, SONATA, SONATA, SONATA
HYUNDAI (BEIJING)

577243K000 SONATA
KIA KIA
57724-3K000, 57724-3K500 OPIRUS
Length [mm]: 195,5, Thread Size 1: M16X1,5, Thread Size 2: M16X1,5
Inner Tie Rod HYUNDAI HYUNDAI
J4840518 57755-1C000 GETZ
Length [mm]: 313,5, Thread Size 1: M14X1,5, Thread Size 2: M16X1,5
J4840520 Inner Tie Rod HYUNDAI HYUNDAI
57716-34000, 57724-3A000, 57755-17000, 57785-26200 HIGWAY VAN, MATRIX, SANTA FE, SONATA, TERRACAN, TRAJET
&

Length [mm]: 301,8, Thread Size 1: M14X1,5, Thread Size 2: M16X1,5

J4840521

Inner Tie Rod HYUNDAI
56540-25000, 57755-25000

HYUNDAI
ACCENT, ACCENT, ACCENT, H100, H100, H100, H100

Length [mm]: 304, Thread Size 1: M14X1,5, Thread Size 2: M16X1,5

J4840522

Inner Tie Rod HYUNDAI
57724-38000, 57724-38010, 57724-3C010

HYUNDAI

SONATA, XG, XG

KIA

MAGENTIS, MAGENTIS, OPIRUS

Length [mm]: 187, Outer thread [mm]: M16x1,5, Outer thread 1 [mm]: M14x1,5

J4840523

Inner Tie Rod HYUNDAI
57724-2E000

HYUNDAI
TUSCON, TUSCON
KIA

SPORTAGE

Axle Joint Length [mm]: 250,5, Thread Size 1: M16X1,5, Thread Size 2: M16X1,5

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 33 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



ERA Code Subgroup |

NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

Used on vehicles

Inner Tie Rod GENERAL MOTORS
J4840900 520672,5 20838

CHEVROLET

LACETTI, LACETTI, NUBIRA, NUBIRA

DAEWOO

LACETTI, NUBIRA, NUBIRA, NUBIRA, NUBIRA, NUBIRA

Length [mm]: 344, Thread Size 1: M14X1,5, Thread Size 2: M16X1,5

J4840901 Inner Tie Rod GENERAL MOTORS

520808, 520 898, 5 21 410, 93 740 618, 93 740 701

CHEVROLET

EPICA, EVANDA

DAEWOO

EVANDA, LEGANZA, MAGNUS, NUBIRA, NUBIRA, NUBIRA

Length [mm]: 340,3, Thread Size 1: M14X1,5, Thread Size 2: M16X1,5

J4840902 Inner Tie Rod GENERAL MOTORS

07 848 281, 07 848 282, 26 020 916, 78 48 281, 96 216 618

CHEVROLET

LACETTI, LANOS

DAEWOO

ARANOS, CIELO, ESPERO, LACETTI, LANOS, LANOS, NEXIA,
NEXIA

Inner Thread [mm]: M16X1,5, Thread Type: with left-hand thread

Inner Tie Rod GENERAL MOTORS
J4840904 521 205

CHEVROLET

MATIZ, SPARK, SPARK
DAEWOO

MATIZ, MATIZ, MATIZ, TICO

Length [mm]: 232,2, Thread Size 1: M12X1,5, Thread Size 2: M16X1,5

Inner Tie Rod GENERAL MOTORS
J4840905 521957

CHEVROLET

MATIZ, SPARK, SPARK
DAEWOO

MATIZ, MATIZ, MATIZ, TICO

Length [mm]: 251,5, Thread Size 1: M12X1,5, Thread Size 2: M16X1,5

Inner Tie Rod GENERAL MOTORS
14840907 93 741 092, K BJ R45

CHEVROLET

MATIZ, SPARK, SPARK
DAEWOO

MATIZ, MATIZ, MATIZ, TICO

Length [mm]: 253, Thread Size 1: M12X1,5, Thread Size 2: M16X1,5

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 34 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

ERA Code Subgroup | | Used on vehicles
Inner Tie Rod GENERAL MOTORS CHEVROLET
J4840908 521564 REZZO
DAEWOO
REZzZO
Length [mm]: 255, Thread Size 1: M14X1,5, Thread Size 2: M16X1,5
Inner Tie Rod GENERAL MOTORS CHEVROLET
J4840909 CR KD 10L AVEO, AVEO
DAEWOO

KALOS, KALOS

Length [mm]: 199,5, Thread Size 1: M12X1,5, Thread Size 2: M16X1,5

Inner Tie Rod

J4841000

\.

NISSAN
48521-35F00, 48521-70A00, 48521-70A06, 48521-D0100,
48521-DO100

NISSAN

200 SX, 200 SX, BLUEBIRD, BLUEBIRD, BLUEBIRD, BLUEBIRD,
CHERRY, MICRA, MICRA, PRAIRIE, PRAIRIE, STANZA, STANZA,
SUNNY, SUNNY, SUNNY, SUNNY, SUNNY, SUNNY

Length [mm]: 238,4, Thread Size 1: M12X1,25, Thread Size 2: M16X1,5

Inner Tie Rod

J4841006

»

J4841006

NISSAN
48521-50Y00, 48521-50Y25, 48521-50Y26, 48521-50Y27,
48521-Y02G0

NISSAN
100 NX, ALMERA, ALMERA, PRIMERA, PRIMERA, PRIMERA,
PRIMERA, SUNNY, SUNNY, SUNNY, SUNNY, SUNNY

Length [mm]: 249,9, Thread Size 1: M12X1,25, Thread Size 2: M16X1,5

Inner Tie Rod

J4841012

®

NISSAN
48521-1M210, 48521-1M225, 48521-1M226, 48521-1M255,
48521-1M256

NISSAN
ALMERA, ALMERA, ALMERA

Length [mm]: 254,4, Thread Size 1: M12X1,25, Thread Size 2: M16X1,5

Inner Tie Rod

J4841013

NISSAN
48521-65F01, 48521-65F25

NISSAN
200 SX, ALMERA, ALMERA

Length [mm]: 276, Thread Size 1: M14X1,5, Thread Size 2: M16X1

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 35 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




ERA Code

NIPPARTS

moved by mechanics

Subgroup |

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

Used on vehicles

J4841018

Inner Tie Rod NISSAN
48521-35A00, 48521-35A06

NISSAN
CHERRY, SUNNY, SUNNY, SUNNY, SUNNY, SUNNY, SUNNY, SUNNY

Length [mm]: 241,4, Thread Size 1: M12X1,25, Thread Size 2: M14X1,5

J4841020

Inner Tie Rod NISSAN

48521-40U25, 48521-40U26, 48521-40U27

48521-0C005, 48521-0C025, 48521-40D25, 48521-40U01,

NISSAN
MAXIMA, MAXIMA

Length [mm]: 289,8, Thread Size 1: M14X1,5, Thread Size 2: M16X1,5

Inner Tie Rod NISSAN INFINITI
J4841035 48521-0W025, 48521-0W026 QX4
NISSAN
PATHFINDER
Length [mm]: 301,7, Thread Size 1: M14X1,5, Thread Size 2: M20X1,5
Inner Tie Rod NISSAN NISSAN
J4841036 48520-00QAM, 77014-73333 PRIMASTAR, PRIMASTAR
OPEL
VIVARO, VIVARO, VIVARO
= RENAULT

a

TRAFIC, TRAFIC, TRAFIC

Length [mm]: 280, Thread Size 1: M12X1,0, Thread Size 2: M14X1,5

J4841037

Inner Tie Rod NISSAN
48521-00QAF, 77014-70362

NISSAN

INTERSTAR, INTERSTAR, INTERSTAR, NV400, NV400, NV400

OPEL

MOVANO, MOVANO, MOVANO, MOVANO, MOVANO, MOVANO, MOVANO
RENAULT

MASTER, MASTER, MASTER, MASTER, MASTER

Length [mm]: 173, Thread Size 1: M16X1,5, Thread Size 2: M14X1,5

J4841038

Inner Tie Rod NISSAN
48521-8H300, 48521-8H325, 48521-8H385

NISSAN
X-TRAIL

Length [mm]: 263,9, Thread Size 1: M14X1,5, Thread Size 2: M16X1,5

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 36 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

ERA Code Subgroup | Used on vehicles
Inner Tie Rod NISSAN NISSAN

J4841039 48521-4U110, 48521-4U185, 48521-4U186 ALMERA TINO

Length [mm]: 310,5, Thread Size 1: M14X1,5, Thread Size 2: M16X1,5
Inner Tie Rod NISSAN NISSAN

J4841041 48521-2Y025, 48521-2Y405 MAXIMA

=8

Length [mm]: 307, Thread Size 1: M14X1,5, Thread Size 2: M16X1

Inner Tie Rod TOYOTA TOYOTA

J4842005

45503-19155, 45503-19195

PASEO, PASEO, PASEO, STARLET, STARLET

Length [mm]: 267,7, Thread Size 1: M12X1,25, Thread Size 2: M12X1,25

J4842006

Inner Tie Rod TOYOTA
45503-10020, 45503-19015

DAIHATSU

CHARMANT

TOYOTA

COROLLA, COROLLA, COROLLA, COROLLA, STARLET, STARLET,
TERCEL, TERCEL, TERCEL, TERCEL

Length [mm]: 119,9, Thread Size 1: M14X1,5, Thread Size 2: M14X1,5

J4842008

Inner Tie Rod TOYOTA
45503-19035

TOYOTA
CARINA, CARINA, CELICA, CELICA, COROLLA, COROLLA, COROLLA,
COROLLA

Length [mm]: 315, Outer thread [mm]: M12X1,25/M14X1,5, Thread Type: with right-hand thread

J4842011

Inner Tie Rod TOYOTA
45503-29255

TOYOTA
HIACE, HIACE

Length [mm]: 251,8, Thread Size 1: M17X1,5, Thread Size 2: M14X1,5

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 37 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

ERA Code Subgroup |

| Used on vehicles

Inner Tie Rod TOYOTA
J4842014 45503-29435, 45503-29615

TOYOTA
CARINA, CARINA, CARINA, PICNIC

Length [mm]: 221,7, Thread Size 1: M15X1,5, Thread Size 2: M14X1,5

Inner Tie Rod TOYOTA
J4842015 45503-05020

TOYOTA
AVENSIS, AVENSIS, AVENSIS

Length [mm]: 212,9, Thread Size 1: M14X1,5, Thread Size 2: M16X1,5

Inner Tie Rod TOYOTA
J4842016 45503-52010, 45503-59045

TOYOTA
YARIS, YARIS VERSO

Length [mm]: 219,3, Thread Size 1: M12X1,25, Thread Size 2: M14X1,5

Inner Tie Rod TOYOTA
J4842018 45503-29105, 45503-39025

LEXUS

ES

TOYOTA

CAMRY, CAMRY, CELICA, CELICA, CELICA, CELICA

Length [mm]: 306,2, Thread Size 1: M14X1,5, Thread Size 2: M14X1,5

J 4842019 Inner Tie Rod TOYOTA

45503-29355, 45503-39055, 45503-39135

CAMRY, CAMRY, CAMRY, CAMRY

Length [mm]: 337, Thread Size 1: M14X1,5, Thread Size 2: M15X1,5

Inner Tie Rod TOYOTA
J4842021 45503-29155

TOYOTA
CARINA, CARINA, CARINA, CARINA, CARINA, CARINA, CELICA,
CELICA, CELICA, CELICA

Length [mm]: 239,7, Thread Size 1: M15X1,5, Thread Size 2: M14X1,5

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 38 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

ERA Code Subgroup | | Used on vehicles
Inner Tie Rod TOYOTA LEXUS
14842024 45503-19125, 45503-19135 ES
TOYOTA

CAMRY, CAMRY, CELICA, CELICA, CELICA, COROLLA, COROLLA,
COROLLA, COROLLA, COROLLA, COROLLA, COROLLA, COROLLA,
COROLLA, COROLLA

Length [mm]: 296,7, Thread Size 1: M14X1,5, Thread Size 2: M14X1,5

J4842026

Inner Tie Rod TOYOTA
45503-19175, 45503-19215, 45503-29365

TOYOTA
COROLLA, COROLLA, COROLLA, COROLLA, COROLLA, COROLLA,
COROLLA, COROLLA, COROLLA, COROLLA, RAV 4

Length [mm]: 294,5, Thread Size 1: M14X1,5, Thread Size 2: M14X1,5

Inner Tie Rod TOYOTA TOYOTA
14842034 45503-29285, 45503-29295 PREVIA
Length [mm]: 196,4, Thread Size 1: M14X1,5, Thread Size 2: M14X1,5

Inner Tie Rod TOYOTA TOYOTA

J4842040

45503-19255

45503-02050, 45503-02080, 45503-09220, 45503-12130,

COROLLA, COROLLA, COROLLA, COROLLA, COROLLA, COROLLA,
COROLLA, COROLLA, COROLLA

Length [mm]: 252,7, Thread Size 1: M14X1,5, Thread Size 2: M14X1,5

Inner Tie Rod TOYOTA TOYOTA
14842042 45503-29425 DYNA
h\":;-x
J4842042
Length (folded in) [mm]: 250, Thread Size 1: M18X1,5, Thread Size 2: M18X1,5
Inner Tie Rod TOYOTA TOYOTA

J4842043

45503-39075

4 RUNNER, 4 RUNNER, LAND CRUISER, LAND CRUISER,
LAND CRUISER

Length [mm]: 106,3, Thread Size 1: M20X1,5, Thread Size 2: M18X1,5

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 39 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

ERA Code Subgroup |

| Used on vehicles

Inner Tie Rod TOYOTA
14842044 45503-19185, 45503-19235

TOYOTA
PASEO, PASEO, STARLET

Length [mm]: 319,5, Thread Size 1: M12X1,25, Thread Size 2: M12X1,25

Inner Tie Rod TOYOTA
14842046 45503-29565

J4842046

TOYOTA
HIACE, HIACE, HIACE, HIACE, HIACE, HIACE

Length [mm]: 252,4, Thread Size 1: M15X1,5, Thread Size 2: M14X1,5

Inner Tie Rod TOYOTA LEXUS
14842047 45503-39235, 45503-39265 GX
TOYOTA
LAND CRUISER, LAND CRUISER
—
? > -
.

Length [mm]: 236, Thread Size 1: M15X1,5, Thread Size 2: M22X1,5

Inner Tie Rod TOYOTA
J4842048 45503-69015

TOYOTA
LAND CRUISER

Length [mm]: 171,5, Thread Size 1: M20X1,5, Thread Size 2: M18X1,5

Inner Tie Rod TOYOTA
14842049 45503-29765, 45503-59075

TOYOTA
CAMRY, PREVIA

Length [mm]: 236, Thread Size 1: M15X1,5, Thread Size 2: M14X1,5

Inner Tie Rod HYUNDAI
J4842050 45503-42020
TOYOTA
45503-49055

TOYOTA
RAV 4

Length [mm]: 299, Thread Size 1: M15X1,5, Thread Size 2: M14X1,5

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 40 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

ERA Code Subgroup | | Used on vehicles
Inner Tie Rod TOYOTA TOYOTA

J4842051 45503-0D030 YARIS

Length [mm]: 247, Thread Size 1: M12X1,25, Thread Size 2: M14X1,5
Inner Tie Rod TOYOTA TOYOTA

J4842052

45503-49105

AVENSIS VERSO

Length [mm]: 290, Thread Size 1: M16X1,5, Thread Size 2: M14X1,5

J4842053

<

Inner Tie Rod TOYOTA
45503-05010, 45503-990DL

TOYOTA
CARINA, CARINA, CARINA

Length [mm]: 216,6, Thread Size 1: M14X1,5, Thread Size 2: M14X1,5

J4842054

Inner Tie Rod TOYOTA
45503-09230, 45503-39225

LEXUS

ES

TOYOTA

CAMRY, CAMRY, CAMRY SOLARA, CAMRY SOLARA

Length [mm]: 239, Thread Size 1: M15X1,5, Thread Size 2: M14X1,5

J4842056

Inner Tie Rod TOYOTA
45503-29575

TOYOTA
HIACE, HIACE, HIACE, HIACE, HIACE

Length [mm]: 265, Outer thread [mm]: M14x1,5, Supplementary Article/Info 2: without nut, Thread Type: with right-hand

thread

J4842058

Inner Tie Rod TOYOTA
45503-09320, 45503-09321, 45503-09330, 45503-09331,
45503-09340

TOYOTA
HILUX, HILUX, HILUX, HILUX

Length [mm]: 269,3, Thread Size 1: M15X1,5, Thread Size 2: M14X1,5

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 41 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




ERA Code Subgroup

NIPPARTS

moved by mechanics

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
Steering

| Used on vehicles

J4842059

Inner Tie Rod

TOYOTA
45503-0D080, 45503-52070

TOYOTA
CAMRY, YARIS, YARIS, YARIS

Length [mm]: 220,7, Thread Size 1: M14X1,5, Thread Size 2: M14X1,5

J4843003

Inner Tie Rod

-

MAZDA
GJ21-32240, GJ22-32240

MAZDA
626, 626, 626, 626

Length [mm]: 268, Thread Size 1: M14X1,5, Thread Size 2: M18X1,5

Inner Tie Rod MAZDA MAZDA
J4843009 NA02-32240 MX-5
=
2
Length [mm]: 319, Thread Size 1: M18X1,5, Thread Size 2: M12X1,25
Inner Tie Rod MAZDA MAZDA

J4843010

B21H-32-24X, E016-32-24X, E016-32250

323, 323, 323, 323, 323, MX-3

Length [mm]: 316,2, Thread Size 1: M12X1,25, Thread Size 2: M16X1,5

J4843011

Inner Tie Rod

P

MAZDA
GA2A-32240, GA2A-32240-A, GA2A-32250

MAZDA
626, 626, MX-6, MX-6, XEDOS 6

Length [mm]: 281,6, Thread Size 1: M14X1,5, Thread Size 2: M18X1,5

Original equipment numbers and pictures in this catalogue are used for reference purposes only

Page 42 of 42

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com




NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Tavole Comparative - Cross Reference List

45408-87602 N4806000 93 740 595 N2840905  53521-S5A-000 J4844009
45503-87208 J4846009 93740618 J4840901  53521-S5A-003 J4844009

7848281 N4810900  45503-87210 J4846009 93 740 622 J4820910  53521-S9A-003 J4844017
45503-87215 J4846009 93 740 623 J4830902  53521-SB0-000 J4844004
45503-97201 J4846006 93 740 701 J4840901  53521-SB0-003 J4844004
45503-97203 N4846014 93 740 722 J4820910  53521-SCV-A01 N4844039
16 075 025 80 N4845033  45503-97204 N4846012 93740723 J4830902  53521-SF1-003 J4844004
16 085 321 80* N4845033  45503-97401 N4846016 93 741077 J4820905  53521-SH3-003 J4844006
16 109 360 80 J4822092  45503-97401-000 N4846016 93 741 091 N4820915  53521-SM4-013 J4844007
16 109 361 80 J4832076  45503-B1010 N4846017 93 741 092 J4840907  53534-S30-003 N2844021
3817 63 J4822092  45503-B1010-000 N4846013 93 742552 J2840900  53534-S50-003 J2844002
3817 64 J4832076  45503-B1020 N4846013 93 742 565 N2840903  53534-S84-A01 N2844011
Part of N4845033  45503-B2010 N4846018 93743434 N2840907  53534-S9A-003 N2844022
45503-B2010-000 N4846018 93 743 483 N2840912  53534-SA5-950 J2844001

N 45535-87401 J2846009 94 567 347 N4840912  53534-SA5-951 J2844001

16 109 360 80 J4822092  45535-B2010 N2846015 95218 372 N4840914  53534-SB4-000 J2844001
16 109 361 80 J4832076  45535-G7202 J2846008 95218 373 N4820917  53534-SB4-305 J2844001
3817 63 J4822092 95 218 393 N4820917 53534-SC4-000 J2844001
3817 64 J4832076 FORD 95 914 910 N4820918 53534-SD4-000 J2844001
95 915 222 N4820918  53534-SD4-100 J2844001

1044014 J4843039 95932 779 N4820914  53534-SEA-G02 N2844023
1202548 N4833040 95 932 790 N4820914 53534-SED-GO01 N2844024

322125 N4810900 1202549 N4823040 95952 928 N2840908  53534-SEL-003 N2844013
7848281 N4810900 4342539 N4843060 95 952 929 N4840913 53534-SL4-J01 J2844002
90125567 N4810900 4472940 N4843060 95 952 930 N4820916 53534-SMG-E01 N2844010
96FB 3L519 BA J4843039 95 967 285 N4820913  53534-SR3-A52 J2844002

95 967 294 N4840911  53534-SR3-N52 J2844002
GENERAL MOTORS 96 205 809 J4820900  53534-ST0-013 J2854000

45046-87282 J4836001 96 216 618 J4840902  53534-SV4-001 J2844002
45046-87283 J4836001 07 848 281 J4840902 96 216 622 J4850900 53534-SV4-003 J2854000
45046-87285 J4836001 07 848 282 J4840902 96 261 378 J4820908  53534-SV4-NO1 J2844002
45046-87401 N4826018 13278 357 N2840910 96 261 379 J4830901  53535-S2H-J01 J2854005
45046-87402 N4826018 13278358 N4840910 96 275 019 J4830900  53535-SEL-003 N2844014
45046-87503 J4836000 13278 359 N4820912 96 407 485 N4820911  53535-SMG-E01 N2854010
45046-87504 J4836000 13 286 686 N4820912 96 407 486 N4830911  53535-SZ5-003 N2844021
45046-87580 J4836000 26 001 806 J4830900 96 446 586 J4820900  53536-S1A-E01 N2844012
45046-87683 J4836010 26 001 807 J4820901 96 535 300 J4850909  53537-S2A-003 N2844026
45046-87707 J4836011 26 020 916 J4840902 96 626 521 N4840912  53537-TL1-GO1 J2843012
45046-87780 J4836001 26 020 917 J4850900 96 626 525 N4840912  53540-611-010 J4824000
45046-87781 J4836005 26 021 070 N2840906 96 626 667 N4820914  53540-659-003 J4824000
45046-87782 J4836005 26 024 585 N2840904 CRKD 10L J4840909  53540-679-004 J4824000
45046-87783 J4836005 322125 N4810900 CRKD 10R J4850909  53540-S04-003 J4834003
45046-87784 J4836005 322126 J4850900 P 260 236 85 J4820901  53540-S04-013 J4834003
45046-97204 N4836018 324038 J4830900 K BJ 029 N4820915  53540-S1A-E01 J4834015
45046-97294 J4836011 324039 J4820901 K BJR45 J4840907  53540-S47-951 J4824024
45046-B9020 J4836011 324048 J4830900 KRSL18 J2840901  53540-SA0-003 J4824000
45046-B9080 N4836020 30553 357 N2840904 53540-SAA-003 J4834025
45046-B9320 N4836020 4402 772 N2840904 HONDA 53540-SB0-003 J4824000
45046-BZ020 J4836011 4803246 N2840907 53540-SB2-003 J4824000
45047-87280 J4826001 48 810 A78 B0OO J4820905  53010-S04-000 J4844019  53540-SB2-013 J4824000
45047-87281 J4826001 520262 J4820900  53010-S04-J51 J4844019  53540-SC2-003 J4824000
45047-87282 J4826001 520540 N2840904  53010-S10-000 J4844012  53540-SC2-004 J4824000
45047-87503 J4826000 520672 J4840900  53010-S10-003 J4844012  53540-SDA-A01 J4834018
45047-87504 J4826000 520738 J2840900  53010-S2A-003 N4844032  53540-SEL-TO1 J4834025
45047-87580 J4826000 520808 J4840901  53010-S2H-J01 J4844018  53540-SK3-E01 N4824033
45047-87687 J4826012 520838 J4840900  53010-S2H-J02 J4844018  53540-SM4-003 J4834000
45047-87706 N4826019 520889 J4820900  53010-S50-003 J4844013  53540-SM4-004 J4834000
45047-87780 J4826001 520898 J4840901  53010-S84-A01 J4844020  53540-SMG-003 N4834028
45047-87781 J4826007 521136 J4820905  53010-SDA-A01 J4844022  53540-SMJ-003 N4834028
45047-87782 J4826007 521254 J2840902  53010-SEL-003 J4854026  53540-SNA-A01 N4834026
45047-87783 J4826007 521255 J4840904  53010-SMG-EO01 N4844029  53540-SNE-A01 N4834026
45047-87784 J4826007 521256 N2840905  53010-SNA-A01 N4844027  53540-S04-003 J4834003
45047-97203 J4826001 521257 J4840905  53010-SNE-A01 N4844027  53540-SR0-A01 J4834003
45047-97204 J4826014 521410 J4840901  53010-SR3-010 J4844005  53540-SR3-003 J4834003
45047-97204 N4826019 521564 J4840908  53010-ST0-000 J4844005  53540-SS0-003 J4834010
45047-B9020 J4826014 53 740 710 J4820900 53010-ST7-J61 J4844005 53540-SS0-004 J4834010
45047-B9020 N4826019 78 46 485 J4830900  53010-SV4-000 J4844000  53540-ST3-E01 J4834007
45047-B9070 N4826020 78 46 495 J4820901 53010-SW5-000 N4844034 53540-ST3-E02 J4834007
45047-B9270 N4826020 78 464 991 J4820901  53010-SWA-A01 N4844030  53540-ST3-E03 J4834007
45047-BZ020 J4826014 7848 281 J4840902  53010-TA0-A01 N4844028  53540-ST7-003 J4834003
45047-BZ020 N4826019 78 48 281 N4810900  53010-TF0-003 N4844033  53540-SWA-A01 N4824029
45406-87681 J4836012 7848282 J4850900  53011-SAA-JO1 J4844026  53540-SWA-A02 N4824029
45406-87682 J4836013 90 140 006 J4830900  53011-SEL-003 J4844026  53540-SX0-013 J4834000
45407-87681 J4826015 90 140 007 J4820901  53011-SMG-EO1 N4854029  53540-SX8-N0OO J4824016
45407-87682 J4826016 92 627 5018 J4820901  53429-TF0-003 N2844028  53540-SX8-T01 J4824016

Original equipment numbers and pictures in this catalogue are used for reference purposes only Page ]_ Of 7

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

moved by mechanics

Tavole Comparative - Cross Reference List

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo

Steering

53540-TA0-A01 N4834027 56528-02000 J2840503
53540-TF0-003 N4834029 56528-24000 J2840501
53540-TR0O-A01 N4834028 56540-02000 J4840509
53540-TR0O-A02 N4834028 56540-07600 N4840327
53541-S5A-003 J4824022 56540-0U500 N4840538
53541-S7A-003 J4824020 56540-22000 J4840500
53560-S04-003 J4824005 56540-24000 J4840500
53560-S04-013 J4824005 56540-24001 J4840500
53560-S1A-E01 J4824019 56540-25000 J4840521
53560-SAA-003 J4824025 56540-28010 J4840501
53560-SDA-A01 J4824026 56540-28020 J4840503
53560-SEL-T01 J4824025 56540-2H000 N4840319
53560-SH3-000 J4824005 56540-2K000 N4840326
53560-SH3-003 J4824005 56540-3X000 N4840534
53560-SH3-013 J4824005 56540-43000 J4840500
53560-SM4-003 J4824001 56540-A6000 N4840535
53560-SM4-004 J4824001 56540-C8000 N4840539
53560-SMG-003 N4824030 56542-43001 J4840501
53560-SMJ-003 N4824030 56820-00500 J4820507
53560-SNA-A01 N4824027 56820-02000 J4820507
53560-SNE-A01 N4824027 56820-02500 J4820507
53560-SR0-A01 J4824005 56820-07000 J4820312
53560-SR3-003 J4824005 56820-0U500 N4820537
53560-SS0-003 J4824010 56820-0U590 N4830537
53560-SS0-004 J4824010 56820-0X000 N4820524
53560-ST3-E01 J4824007 56820-0X010 N4820524
53560-ST3-E02 J4824007 56820-0X900 N4820524
53560-ST3-E03 J4824007 56820-1E000 N4820526
53560-ST7-003 J4824005 56820-1E900 N4830504
53560-SX0-013 J4824001 56820-1G000 N4830321
53560-TA0-A01 N4824028 56820-1G900 N4820321
53560-TF0-003 N4824031 56820-1R501 N4820537
53610-SNB-J01 N4844038 56820-1W000 N4820537
53610-TL1-G01 N4844028 56820-1W090 N4830537
F15132125 N2844026 56820-1Y000 N4820323
GSJ1011 N4824033 56820-1Y050 N4830323
GSJ288 N4824033 56820-1Y500 N4820324
GSJ826 N4824033 56820-1Y501 N4820324
GSV1170 N4844036 56820-1Y550 N4830324
QJB100240 N4824033 56820-1Y551 N4830324
56820-21000 J4820501
56820-21100 J4820501
HYUNDAI 56820-21110 14820501
0H002-32125 N2840310 56820-21120 J4820501
0H002-3212X N2840310 56820-22000 J4820502
0K011-32260A N4810300 56820-25000 J4820502
0K011-32270A J4820300 56820-28000 J4825007
0K011-32320A N4800301 56820-28500 J4820502
0K011-32320B N4800301 56820-2B000 N4820525
0K020-332125 J2840301 56820-2B900 N4830503
0K201-32280 J4820302 56820-2E000 J4820522
0K201-32280A J4820302 56820-2E900 J4830500
0K203-22125 N2840310  56820-2G000 N4820319
0K203-32125 J2840301 56820-2G900 N4830307
0K2A2-32240 J4840304 56820-2H000 N4820317
0K30B-32125 N2840309 56820-2H090 N4830317
0K522-32250 J4850306 56820-2K000 N4820320
0K522-32270 J4840306 56820-2K050 N4830320
0K552-32125 J2840304 56820-2P000 N4830503
0K552-32240 J4820305 56820-2P900 N4820525
0K552-32250A J4850306 56820-2S000 N4820529
0K552-32250B N4840323 56820-2S050 N4830507
0K552-32270A N4840323 56820-2T000 N4820529
0K552-32270B N4840323 56820-2T100 N4830507
0K552-32280 J4820306 56820-2T190 N4820529
0K60A-3212X J2840304 56820-2T500 N4830507
OK60A-32270A N4840328 56820-2W000 N4820536
0K60B-3212X J2840304 56820-2W050 N4830536
0K710-32240 J4823000 56820-2W500 N4820536
0K711-32115 J4843035 56820-2W550 N4830536
0K72A-32240 J4820307 56820-36000 J4820506
0K72A-32240A J4820307 56820-36000 J4825002
0K72A-32270 J4840308 56820-37000 J4820502
0K9A2-32280 J4820302 56820-37010 J4820502
0SA39-32115 J4843035 56820-38000 J4820314
45503-42020 J4842050 56820-3B000 J4820518
Original equipment numbers and pictures in this catalogue are used for reference purposes only

56820-3E000
56820-3E900
56820-3F101
56820-3F111
56820-3K500
56820-3K510
56820-3Q000
56820-3Q500
56820-3S000
56820-3S500
56820-3V100
56820-3V190
56820-3X000
56820-3X090
56820-32200
56820-32290
56820-4A000
56820-4A600
56820-4D000
56820-4D001
56820-4D100
56820-4D101
56820-4E040
56820-4H000
56820-4H100
56820-4L000
56820-4L090
56820-A5000
56820-A5090
56820-A6000
56820-A6090
56820-B2000
56820-B2050
56820-C8000
56820-C8900
56820-H1002
56820-M2000
56821-1R591
56821-2B000
56821-2B900
56850-H1001
56850-H1011
56872-43000
56872-43010
56882-44000
56940-44002
57224-2D020
57705-56820B
57716-34000
57721-34000
57724-07000
57724-07001
57724-07100
57724-0X000
57724-1D000
57724-1D010
57724-1E000
57724-1G000
57724-1G100
57724-1J000
57724-1Y000
57724-1Y501
57724-2B000
57724-2D000
57724-2D020
57724-2E000
57724-2P000
57724-2P100
57724-2S000
57724-2T500
57724-2W000
57724-38000
57724-38010
57724-3A000
57724-3C010
57724-3J000

J4820316
J4830303
N4820531
N4830510
N4820532
N4830510
N4820529
N4830507
N4820529
N4830507
N4830507
N4820529
N4820534
N4830534
N4820529
N4830507
J4820514
J4820514
N4820318
N4820318
N4830306
N4830306
N4820322
N4820530
N4830508
N4820527
N4830505
N4820534
N4830534
N4820534
N4830534
N4820534
N4830534
N4820538
N4830538
N4800502
J4820506
N4830537
N4820525
N4830503
N4810500
N4810500
J4825003
J4825003
J4820506
N4800503
J4840514
J4825003
J4840520
J2840501
J4840318
J4840318
N4840324
N4840524
N4850315
N4850315
N4840526
N4840329
N4850326
N4840527
N4840331
N4840332
N4840525
J4840514
J4840514
J4840523
N4850325
N4840325
N4840530
N4840536
N4840536
J4840522
J4840522
J4840520
J4840522
N4840532

57724-3K000
57724-3K500
57724-3Q000
57724-3Z000
57724-4D000
57724-4D100
57724-4H000
57724-4H100
57724-4L000
57724-4L.090
57724-A4000
57728-17000
57728-17100
57728-25000
57729-4A000
57729-4A010
57730-24000
57730-28020
57730-28500
57730-29000
57730-29001
57730-33100
57730-43000
57730-43001
57730-43010
57730-H1100
57731-3E010
57732-3E010
57740-07000
57740-07600
57740-1G000
57740-1H000
57740-26000
57740-2B000
57740-2D000
57740-2E000
57740-2F000
57740-2K001
57740-2K010
57740-2P000
57740-38000
57740-3A000
57740-3K000
57740-B4000
57755-02000
57755-17000
57755-1C000
57755-22000
57755-25000
57760-3E010
57770-21000
57774-24000
57774-33100
57774-4A000
57774-4A600
57780-38000
57780-38010
57780-3B000
57780-3B000
57785-26200
93740707
FABZ3-A130A
HB568100
HB568110
HB568110
HB568120
HB568120
HB578000
K9992-11201
KB092-32280
KDX50-32240A
KDX50-32240B
KDX50-32240C
KDX53-322408
KKY01-32280
MB092-32280

J4840517
J4840517
N4840536
N4840533
N4840320
N4840320
N4840529
N4850500
N4840528
N4840528
N4840330
J2840504
J2840504
N2840512
J4840507
J4840507
J4840501
J4840503
J4840501
J4840506
J4840506
J4840503
J4840501
J4840501
J4840501
N4800501
J4850314
J4840314
J2840303
J2840504
N2840308
N2840507
N2840509
N2840508
J2846008
J2840506
J2840506
N2840514
N2840514
N2840312
J2840302
N2840509
N2840510
N2840515
J4840510
J4840520
J4840518
J4840501
J4840521
J2840304
J2847010
J2845000
J2840501
J2840502
J2840502
J4820513
J4820512
J4820517
J4820518
J4840520
N2840511
J4820312
J4820521
J4825024
J4825030
J4825000
J4825019
J4805016
J4820312
J4823005
J4840312
J4840312
J4840312
J4840312
J4823005
J4823005

Page 2 of 7

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :] ERA

QUALITY CARE PRECISION

Sterzo
moved by mechanics Steering
Tavole Comparative - Cross Reference List
MB243425A J4820521  8AN1-32280 J4823009  G719-32125 J2842010  UH74-32250 J4823020
MDX50-32125A N2840507 8AS1-32240 J4823016 GA2A-32125 J2842010 UH74-32280 J4823018
MDX50-32280 J4820312  8AS1-32240-A J4823016  GA2A-32126 J2842010  UJ06-32320 N4803001
OK011-32260A N4810300  8AU1-32280 J4823018  GA2A-3212X J2843004  UJ06-32321 N4803001
8AU2-32270 J4823020 GA2A-32240 J4843011 UJ06-32322 N4803001
8HA1-32280 J4823007  GA2A-32240-A J4843011  UJ06-32323 N4803001
HYUNDAI (BEWING) 8V51-3L575-AA N2843019  GA2A-32250 J4843011  UJ06-32324 N4803001
577243K000 J4840517 92AB-3K661-AA N2843014 GA2A-32280-A J4823011 UJ06-32325 N4803001
93189041 N2843019  GEAT-3212X J2843004  UJ06-32326 N4803001
1SUZU A011-32135 J2842007  GEAT-32240 N4843061  UJ06-32327 N4803001
AB31-3280A-A N4843066 GEA4T-32240-A N4843061 UJ06-32328 N4803001
5-86203-249-0 J2844002  AB31-3289A-A N4833046  GHT2-32280 N4833045  UJ06-32329 N4803001
5-86203-250-0 J2844002  AB31-3289B-A N4833047  GHT2-32290 N4823045  UJ06-32330 N4803001
8-94419-408-0 J4839003 AB31-3290A-A N4823046 GJ21-32240 J4843003 UR56-32250 N4823038
8-94419-409-0 J4829002  AB31-3290B-A N4823047  GJ22-32125 J2842010  UR56-32320-A N4803003
8-94419409 J4829002  B039-32125 J2843000  GJ22-32240 J4843003  UR61-32280 N4823037
8-94459-480-0 J4839003 B211-32125 J2843000 GJ23-32125 J2843009 YL8Z-3280E-A J4843045
8-94459-480-1 J4839003  B21H-32-24X J4843010  GJ25-32125 J2843009  YL8Z-3A130-GA J4823032
8-94459-480-2 J4839003  B25D-32125 N2843016  GJ25-32125-A J2843009
8-94459-481-0 J4829002 B25D-32240 J4843038 GJ6A-3212X J2843012
8-04450-481-1 J4829002  B25D-32250 14853038  GJ6A-32240 14843042 MERCEDES-BENZ
8-94459-481-2 J4829002  B455-32125 J2843000  GJ6E-32240 J4843042 4703301 30 0* N4821119
8-97020-953-1 J4839003  B455-3224X J4843024  GJI6E-3224X JA4843042 4703 301 50 O N4821119
8-97020-954-1 J4829002  B455-32280 J4823001  GJBE-32280 J4833001 A4 70330130 0* N4821119
8-97020-954-2 J4829002  B456-32125 J2843000  GJ6E-32280-A J4833001 A4 70330150 0* N4821119
8-97170-432-0 J2841011  B456-3225X J4843023  GJGE-32290 J4823024  Partof N4821119
8-97184-820-0 J2846008  BA29-32125 J2845005  GJBE-32290-A J4823024
8-97304-851-0 J4849005  BC50-32125 J2843000  GJR9-32280 N4833045 MITSUBISHI
8-97304-853-0 N4849006  BF67-32125 J2843000  GJR9-32290 N4823045
8-97304-855-0 J4829010  BJS7-3212X N2843025  GS1D-32125 J2843012  1140A173T J4845027
8-97304-928-0 J4829010  BP4L-32125 N2843024  GS1D-32240 N4843059 3345796 N2845003
8-97940-616-0 J4839003  BP4L-3212X N2843024  GS1D-32280 N4833041  4410A125 N2845006
8-97956-902-A J4839003  BP4L-32240 J4843053  GS1D-32290 N4823041  4410A173 J4845027
8-97956-903-A J4829002 BP4L-32280 J4833003 H001-99324 J4823007 4410A180 N2845007
8-98055-744-0 J4849005  BP4L-32290 J4823033  H330-32125 J2845000  4410A328 N2845012
8-98055-746-0 J4829010  BS06-32240 J4843024  H331-32125 J2845000  4410A452 N2845006
8-98056-550-0 N4849007 D001-3212X J2843008 HG30-32125 J2845000 4422A009 N4825037
8-98056-551-0 N4829011  D101-32125 J2843008  KD31-3212X N2843025  4422A010 N4835034
94419408 J4839003  D101-3212X J2843008  KD31-32240 N4843064  4422A012 N4845028
94419409 J4829002 D102-32240 N4843056 KD31-32240-A N4843064 4422A018 N4825034
94459480 J4839003  D102-32250 J4843037  LA01-32280 J4823010  4422A028 J4825007
94459481 J4829002  D210-3212X J2843008  LC62-32125 J2843011  4422A036 N4845031
D651-3212X N2843019 LC62-32125-A J2843011 4422A037 N4825036
KIA D651-32240 N4843055  LC62-32240 J4843041  4422A038 N4835033
D651-32280 N4833042  LC62-32240-A J4843041  4422A048 N4845033
0K011-32-290A J4830300 D651-32290 N4823042 LC62-32240-B J4843041 4422A052 N4825040
56820-0X000 N4820524  D653-32240 N4843055  LC70-32125 J2843011  4422A055 N4845036
56820-0X010 N4820524  D653-32280 N4833042  LC70-32125-A J2843011  4422A057 J4845026
56820-0X900 N4820524 D653-32290 N4823042 NAO01-32125 J2843000 4422A058 N4845033
57724-3K000 J4840517  D654-32280 N4833042  NA01-3212X J2843000  4422A063 J4825007
57724-3K500 J4840517  D654-32290 N4823042  NA02-32240 J4843009  4422A076 N4845033
DE90-32125 N2843015 NC10-32125 J2843007 4422A077 N4845036
MAZDA DE90-32240 N4843060  NC10-32240 J4853044  4422A079 J4845026
DE90-32280 N4833040  NC10-32240-A J4853044  4422A097 N4835034
1391-99322 J4823007 DE90-32290 N4823040 NC10-32250 J4843044 HB568100 J4820521
1545456 N2843019  E016-32-24X J4843010  NC10-32250-A J4843044  HB568200 J4820521
1609347 N2843019  E016-32250 J4843010  NE51-32240 N4843058  MB103280 J2845000
1727226 N4833046 EC01-32240 J4843045 NE51-32280-A N4823039 MB103281 J2845000
1727227 N4833047  EC01-32280 J4823032  S083-99324 J4823000  MB162810 J4835001
1729240 N4823046  EG21-32240 N4843057  S47P-32280 N4823034  MB162811 J4825006
1729241 N4823047  EG21-32280 N4833036  SA39-32115 J4843035  MB166166 J2845000
1732879 N4843066  EG21-32280-A N4833036  T001-32240 J4843014  MB166765 J4825000
1775547 N4843066  EG21-32280-B N4833036  TD11-32240 N4843067  MB166765 J4825019
1E00-32125 N2843014 EG21-32290 N4823036 TD11-32240-A N4843067 MB166766 J4825024
1E00-32240 J4843039  EG21-32290-A N4823036  UA3N-32320-A N4803002  MB166766 J4825030
1E00-32280-A J4833023  EG21-32290-B N4823036  UB39-32110-A N4803005  MB192430 J4825002
1E01-32280-A J4823023  EU53-32320 N4803004  UB39-32220-B N4803005  MB192499 J4825002
406695 N2843019  F02Z-3A130-A J4823011  UB40-32110-B N4803005  MB241171 J4825000
4330628 N2843015  F151-32240 N4843054  UB93-32110-A N4803005  MB241206 J4825024
6935233 N2843014  F151-32290 N4823035  UB93-32320-B N4803004  MB241423 J4805002
77363828 N2843019  F1CZ-3280A J4843024  UB94-32110-B N4803005  MB241830 N4805031
8AB1-32280 J4823005 FB01-32125 J2843000 UC87-32110-A N4803005 MB241973 J4805012
8AB2-32280 J4823001  FD01-32125-A J2843000  UE53-32280 N4803004  MB243425A J4820521
8AG3-32280 J4823011  G030-32125 J2843000  UH71-32220 N4803006  MB243426A J4820521
8AG4-32280 J4823011 G26A-32280 J4833001 UH71-32280 J4823030 MB266166 J2845000
8AL1-32280 J4823010  G26A-32290 J4823024  UH71-32320 N4803007  MB315775 J4825000
Original equipment numbers and pictures in this catalogue are used for reference purposes only Page 3 Of 7

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



Distribuited by :’ ERA

NIPPARTS
Sterzo

moved by mechanics Steering

Tavole Comparative - Cross Reference List

MB315776 J4825024 MR130807 J4845008 48203-4M526 J2851008 48520-50A25 J4821014
MB347365 N2855002 MR131856 J4845016 48203-50Y00 J2851007 48520-50A26 J4821014
MB347599 J4825010 MR131857 N4845034 48203-50Y25 J2851007 48520-50Y25 J4821000
MB347600 J4825031 MR151970 N4845030 48203-50Y26 J2851007 48520-60Y25 J4821021
MB350577 J4845014 MR151971 N4845038 48203-53Y01 J2841009 48520-61G25 J4821034
MB350581 N2845004 MR162710 J4825010 48203-53Y25 J2841009 48520-6F625 J4821024
MB350770 J2855000 MR186124 N4825038 48203-6F600 J2841011 48520-71L25 J4821021
MB378549 J2855000 MR241029 N4805034 48203-6F610 N2841024 48520-73J25 J4821012
MB378550 J2855000 MR241030 N4805033 48203-8H325 N2841032 48520-7F000 J4821010
MB412145 J2855000 MR241031 J4825022 48203-9C000 N2841025 48520-7F001 J4821033
MB489407 J4825007 MR241032 J4825000 48203-9C001 N2841025 48520-9C000 J4821012
MB489424 J4825002 MR296271 N4805035 48203-AL525 N2841031 48520-AL525 N4831115
MB489434 J4825002 MR296272 N4805026 48203-AX600 J2841014 48520-AX600 J4831011
MB489875 J2855000 MR296273 N4805032 48203-BM400 J2841016 48520-AX602 J4831100
MB501017 J4845010 MR296274 J4825024 48203-EA025 N2841033 48520-BM425 J4821090
MB501711 N2845004 MR296275 J4825011 48203-JD01A N2841026 48520-C6079 N4831109
MB501721 J4845016 MR296508 N4805028 48203-W1000 J2841004 48520-C8400 N4831109
MB527169 J4825007 MR296509 N4805032 48204-01F00 J2841004 48520-C8410 N4831109
MB527227 N4805030 MR297969 J4845008 48204-03B00 J2851005 48520-CB025 N4821113
MB527650 J4825003 MR297971 J2855000 48204-04A01 J2841004 48520-CD725 N4831115
MB532281 J4845016 MR333166 J4845017 48204-4U126 J2841016 48520-CG025 N4821105
MB532531 J2855000 MR344654 N4805026 48204-50Y25 J2841004 48520-EA01J N4821104
MB532979 J2855000 MR369122 N2845004 48204-53Y01 J2851007 48520-G1625 J4831003
MB553249 J4845009 MR376996 N4805028 48204-53Y25 J2851007 48520-G9502 N4831109
MB564991 J4825002 MR403027 J4845024 48204-D0301 J2851005 48520-JA00A N4831116
MB573885 J4825002 MR403100 J4845026 48204-W1000 J2841004 48520-JGO0A N4831103
MB597605 J4825007 MR403872 J4845017 48510 7F000 J4821095 48520-Q9000 J4821000
MB598023 J4825007 MR448255 J4845021 48510 7F002 J4821095 48520-VB025 J4831010
MB616026 J2845000 MR455091 N4855032  48510-31G25 J4821095  48520-VW000 N4821109
MB616286 J4825002 MR455092 N4845032 48510-35525 N4811022 48520-VW025 N4821109
MB673525A J4805016 MR455426 J4845010 48510-4A00C N4848016 48521-00QAA N4841051
MB673525B J4805016 MR476457 J4825007 48520 00Q0G J4831100 48521-00QAF J4841037
MB698532 N4805031 MR485672 J4825007 48520 00QOH J4821100 48521-00QAG N4841050
MB831040 J4805013 MR491358 N4845029 48520 00QAE J4821100 48521-0C005 J4841020
MB831042 N4805027 MR508135 J4825025 48520 00QAF J4831100 48521-0C025 J4841020
MB831043 J4825011 MR508136 J4835002 48520 00QAP J4831100 48521-0W025 J4841035
MB831044 J4825029 MR508650 J4825033 48520 02E26 J4821000 48521-0W026 J4841035
MB864164 J4825003 MR510267 J4845022 48520-00QAH J4821092 48521-1M210 J4841012
MB870078 N4845034 MR510271 J2845008 48520-00QAJ J4831012 48521-1M225 J4841012
MB907272 N4805030 MR510272 N2855001 48520-00QAK J4821093 48521-1M226 J4841012
MB910859 J4825002 MR519046 J4845023 48520-00QAL J4831013 48521-1M255 J4841012
MB910934 J4845008 MR548285 J4825033 48520-00QAM J4841036 48521-1M256 J4841012
MB910961 J4845008 MR592120 N4805028 48520-00QAN J4821100 48521-2Y025 J4841041
MB912076 J4825007 MR592134 N4805028 48520-01B25 J4821008 48521-2Y405 J4841041
MB912519 J4825002 MR977606 N4825038 48520-01E00 J4821000 48521-35A00 J4841018
MB949343 J4845017 PW510185 J4825007 48520-01E25 J4821000 48521-35A06 J4841018
MC309191 N4825042 S2370704 J4825024 48520-01E26 J4821000 48521-35F00 J4841000
MC309192 N4835042 S2370704 J4825030 48520-01G25 J4821009 48521-3U025 N4841046
MC309711 N4825042 S2370706 J4825000 48520-01J00 J4821026 48521-40D25 J4841020
MC309712 N4835042 S2370706 J4825019 48520-01J10 J4831015 48521-40U01 J4841020
MC891397 N4825042 SB000036 J4825024 48520-01W00 J4821009 48521-40U25 J4841020
MC891398 N4835042 SB000036 J4825030 48520-01W26 J4821000 48521-40U26 J4841020
MC891910 N4825039 SB000037 J4825000 48520-02E00 J4821000 48521-40U27 J4841020
MC891911 N4835035 SB000037 J4825019 48520-02E25 J4821000 48521-4U110 J4841039
MC891912 N4825042 48520-0C000 J4821021 48521-4U185 J4841039
MC891913 N4835042 NISSAN 48520-0C025 J4821021 48521-4U186 J4841039
MK309189 N4825039 48520-0M025 J4821000 48521-50Y00 J4841006
MK309190 N4835035 45047-29085 N4822117 48520-0M085 J4821021 48521-50Y25 J4841006
MK309191 N4825042 45527-JD01A N4831103 48520-0P725 J4821088 48521-50Y26 J4841006
MK309192 N4835042 48001-1KAO0A* N4841054 48520-0P726 J4821088 48521-50Y27 J4841006
MK309709 N4825039 48001-1KAOB* N4841054 48520-0W025 J4821088 48521-65F01 J4841013
MK309710 N4835035 48001-1KEOB* N4841054 48520-15U25 J4821021 48521-65F25 J4841013
MK309711 N4825042 48001-9U100* N4841048 48520-15U26 J4821021 48521-70A00 J4841000
MK309712 N4835042 4820-4W100 J2841004 48520-17B25 J4821008 48521-70A06 J4841000
MK384669 N4835035 48203-01B01 J2841008 48520-25420 J4821086 48521-8H300 J4841038
MK?384672 N4825042 48203-01F00 J2845005 48520-25425 J4821086 48521-8H325 J4841038
MK384673 N4835042 48203-04A01 J2845005 48520-25485 J4821086 48521-8H385 J4841038
MK996332 N4825039 48203-0E025 J2841011 48520-31G25 J4821010 48521-AL500 N4841057
MK997508 N4825039 48203-0E026 J2841011 48520-35F25 J4821014 48521-AL525 N4841057
MK997509 N4835035 48203-10V00 J2841000 48520-3S500 J4821088 48521-CB025 N4841053
MK997628 N4825042 48203-10V25 J2841000 48520-35525 J4821088 48521-CB026 N4841053
MK997629 N4835042 48203-1U61A N2841035 48520-3U025 N4821106 48521-CB027 N4841053
ML106234 N4825039 48203-3U025 N2841035 48520-41W00 J4821009 48521-CD085 N4841057
ML106242 N4825042 48203-41B26 J2841008 48520-4B000 J4821014 48521-CG025 N4841045
ML106243 N4835042 48203-41B27 N2851010 48520-4F125 J4821024 48521-D0100 J4841000
MN103259 N4845036 48203-4M525 J2851008 48520-50A00 J4821014 48521-DO100 J4841000
Original equipment numbers and pictures in this catalogue are used for reference purposes only Page 4 Of 7

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



NIPPARTS

Distribuited by :’ ERA

QUALITY CARE PRECISION

Sterzo

moved by mechanics Steering
Tavole Comparative - Cross Reference List
48521-EA000 N4841044 D8520-4EAOA N4831118 RENAULT 45460-87401 J4846011
48521-VWO025 N4841060 D8520-AL525 N4831115 45503-87401 J4846011
48521-VW026 N4841060 D8520-CB025 N4821113 54 52 44K HOA* N4821119 48571-50F00 N2848008
48521-Y02G0 J4841006 D8520-CD725 N4831115 54 52 54K HOA* N4821119 48571-60B10 J2843000
48527-1U61A N4831106 D8520-EWO00A N4821106 77 01 047 415 J4821100 48571-60G00 J2848002
48530-01G00 J4801013 D8520-JA00A N4831116 77 01047 416 J4831100 48571-63J00 N2848004
48530-01G25 J4801013 D8520-JA80J N4831116 7701047 812 J4821100 48571-63J00-000 N2848004
48530-0F000 N4801018 D8520-VK90A J4821088 77 01047 813 J4831100 48571-65D00 N2848006
48530-15G25 N4801021 D8521-1AA0A N4841058 77 01 472 843 J4821100 48571-82000 J2848000
48530-25485 N4801021 D8521-1HAOA N4841047 7701 474 492 J4821100 48571-83E00 N2847015
48530-2S600 N4801019 D8521-1HJ0A N4841047 77 01 474 493 J4831100 48572-60B10 J2858000
48530-25625 N4801019 D8521-1KA0A N4841054 77 01 474 641 J4821100 48572-60G00 N2847015
48530-31G25 N4801018 D8521-3VAOA N4841047 7701 474 642 J4831100 48572-82000 J2842007
48530-35G25 N4801022 D8521-AL500 N4841057 77 01 475 842 J4821100 48810 81A01 N4838020
48530-3S185 J4801013 D8521-AL525 N4841057 77 01 475 843 J4831100 48810 85C01 N4838020
48540-AX602 J4821100 D8521-JD00B N4841052 Part of N4821119 48810-50G10 J4828004
48560-09G25 N4811024 D8521-JG00A N4841052 48810-50G20 J4828004
48560-0F000 N4811025 D8530-VK90A N4801018 SSANGYONG 48810-57L00 N4838023
48560-0F400 N4811025 D8530-VK90B N4801022 48810-60A00 J4828005
48560-35125 N4811028 D8530-VK91A J4801013 135 922 60 80 J4840400 48810-60B00 J4828004
48560-35185 N4811028 D8540-1KA0A N4821111 466 600 55 00 N4820402 48810-65D00 J4838004
48560-3S525 N4811020 D8560-VK90A N4811020 466 600 55 01 N4820402 48810-65D01 J4838004
48560-51G25 J4811019 D8560-VK91A N4811028 466 600 55 02 N4820402 48810-65J00 N4828017
48560-61G25 J4811019 D8560-VK92A N4811028 466 600 55 10 N4820403 48810-67D00 J4838004
48570-01J00 N4821112 D8570-VK90A J4821089 466 600 80 01 N4820401 48810-68L00 N4838022
48570-01J10 J4821079 D8640-1AA0A N4821116 466 600 80 11 N4830401 48810-76G00 J4828004
48570-11J00 J4821035 D8640-1AA1A N4821116 466 600 90 01 N4820401 48810-77E00 J4828005
48570-11J25 J4821035 D8640-1HAOA N4821107 466 600 90 02 N4820401 48810-77E00 J4828008
48570-31G25 J4821033 D8640-1HJ0A N4821107 466 600 90 10 N4830401 48810-79J00 N4828017
48570-3S500 J4821089 D8640-1KA0A N4821111 466 600 90 11 N4830401 48810-79J01 N4828017
48570-3S525 J4821089 D8640-4EAOA N4821118 48810-80000 J4828005
48570-61G25 J4831003 D8640-CD725 N4821115 SUBARU 48810-81A00 N4838020
48570-82100 J4821019 D8640-EWO00A N4831106 48810-82000 J4828004
48570-C6079 J4821035 D8640-JA00A N4821116 31137-SA000 N2847014 48810-83300 J4828005
48570-C8400 J4821035 D8640-JA80J N4821116 31232-GA040 J2847002 48810-83E00 N4828018
48570-G9501 J4821035 D8E20-1AA0A N4831116 31232-GA081 J2847002 48810-83E02 N4828018
48570-J5100 J4821019 D8E20-CG80A N4821105 31232-GA082 N2847011 48810-84000 J4828001
48570-VB025 J4821085 D8E21-1AA0A N4841058 31310-GA152 J4847006 48810-84001 J4828001
48580-82100 J4831005 D8F20-JGOOA N4831103 31310-GA152 J4857000 48810-A80000 J4828005
48580-J5100 J4831005 D8F40-1AA0A N4821116 34023-TA001 N4827008 48820-57L00 N4828023
48630-31G25 J4821095 D8F40-CG80A N4831105 34023-TA011 N4827009 48820-60A00 J4828014
48640-3U025 N4831106 D8F40-JGOOA N4821103 34125-AA010 J2847002 48820-60B00 J4828004
48640-AL585 N4821115 GRG1152 N2841025 34132-FC000 J2847010 48820-65D00 J4828013
48640-AX600 J4821091 GSV1141 N2841025 34135-FC000 J2847010 48820-65D01 J4828013
48640-AX602 J4821100 J4821086 J4821086 34137-AG000 N2847012 48820-67D00 J4828013
48640-CD725 N4821115 Part of N4821119 34137-AG010 N2847012 48820-68L00 N4828022
48640-CG085 N4831105 PART OF N4841048 34137-AG020 N2847016 48820-77E00 J4828014
48640-EA01J N4831104 QEY000040 N2841025 34137-FA000 J2847003 48820-80000 J4828011
48640-JA00A N4821116 34137-SA000 N2847014 48820-80001 J4828011
48640-JGO0A N4821103 OPEL 34140-AA010 J4847006 48820-81A00 N4828020
48647-1U61A N4821106 34140-AA011 J4847006 48830-50G10 N4848017
48647-JDO1A N4821103 16 09 200 N2840909 34140-AA012 J4847006 48830-54G00 J4848011
48680-VB025 N4811021 16 09 203 N4820918 34140-AA013 J4847006 48830-60B00 J4848004
48680-VC026 N4811021 16 09 206 N4820914 34140-AA030 J4847006 48830-60G00 J4848007
49001-AV610* N4841049 322125 N4810900 34140-AA040 J4847006 48830-62J00 N4848013
49001BA210SK* N4841049 45 01 262 J4831013 34140-FC000 N4847014 48830-63J00 N4848013
53535-ST3305 N2841025 45 01 263 J4831012 34141-AA041 J4827000 48830-65D00 J4848009
54524-4KHOA* N4821119 7848281 N4810900 34141-AA042 J4827000 48830-65J00 N4848012
54524-5XA0A* N4821119 920010 N4820914 34141-AC010 J4827007 48830-68L00 N4848018
54525-4KHOA* N4821119 920011 N4820918 34160-AE000 J4847009 48830-75F00 J4848008
54525-5XA0A* N4821119 90125567 N4810900 34160-AE001 J4847009 48830-75F01 J4848008
77010-49282 J4821093 34160-AE010 J4847010 48830-76G00 J4848010
77010-49283 J4831013 PEUGEOT 34160-XA010 N4847013 48830-79J00 N4858014
77014-70362 J4841037 3416E-AE010 J4847010 48830-79J10 N4848014
77014-70363 J4821092 16 075 025 80 N4845033 4701740 N2847015 48830-83E00 N4848015
77014-70364 J4831012 16 085 321 80* N4845033 4857183 N2847015 48830-84000 J4848006
77014-73333 J4841036 16 109 360 80 J4822092 56528-21000 J2847010 48830-86G00 N4848015
77014-73334 J2841017 16 109 361 80 J4832076 56528-21010 J2847010 48830-M68K00 N4848016
77014-75841 N4841055 3817 63 J4822092 73123-2050 J2843000 71742757 N2848005
D8203-1KA0A N2841026 3817 64 J4832076 73132-0020 J4827001 93193997 N2848004
D8510-VK90A N4811022 Part of N4845033 9204747 N2847015 96052290 J4828004
D8520-0P725 J4821088 A001 32126 J2842007
D8520-1AA0A N4831116 D8203-1HAOA N2841034
D8520-1HAOA N4831107 PROTON SUZUKI 27503-2125A 12842007
D8520-1HJ0A N4831107 510185 J4825007 3268834 J2848002 Z7ZS1 32125 N2848008
D8520-1KA0A N4831108 AV510185 J4825007 3343641 J2848002
Original equipment numbers and pictures in this catalogue are used for reference purposes only Page 5 Of 7

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



A
®  Distribuited by y’ ERA
NIPPARTS " Sterzo

moved by mechanics Steering

Tavole Comparative - Cross Reference List

TOYOTA 45046-49095 J4832018 45401-35260 N4802042 45503-19255 J4842040
45046-49125 J4822055 45406-29115 J4822080 45503-20170 N4842063

45044-60H05 J4822075 45046-49195 N4832096 45406-39085 J4822080 45503-29105 J4842018
45044-69086 N4832113 45046-49225 N4832105 45406-39086 J4822080 45503-29155 J4842021
45044-69097 N4822116 45046-59025 J4822049 45406-39095 J4822080 45503-29255 J4842011
45044-69105 J4822075 45046-59026 J4822049 45406-39115 J4822080 45503-29285 J4842034
45044-69125 J4832071 45046-59045 J4822049 45406-39125 J4822080 45503-29295 J4842034
45044-69145 N4832113 45046-59115 J4822027 45406-39135 J4822082 45503-29355 J4842019
45045-60H02 J4822077 45046-59195 N4832102 45406-39155 J4822080 45503-29365 J4842026
45045-69046 N4822113 45046-59225 N4832102 45406-39165 J4822082 45503-29425 J4842042
45045-69055 J4822077 45046-59255 N4832102 45406-39175 J4822082 45503-29435 J4842014
45045-69065 N4822116 45046-60H05 J4832013 45450-39165 J4812000 45503-29525 N4842083
45045-69075 N4822113 45046-69115 J4832013 45460-09010 J4832060 45503-29565 J4842046
45046-02010 J4832063 45046-69116 J4832013 45460-09060 J4822094 45503-29575 J4842056
45046-05070 N4832118 45046-69126 J4832007 45460-09180 N4832119 45503-29615 J4842014
45046-09050 J4832002 45046-69127 J4822037 45460-29435 J4822094 45503-29765 J4842049
45046-09100 J4832002 45046-69135 J4832007 45460-39615 J4832060 45503-29785 N4842076
45046-09190 J4822027 45046-69195 N4832111 45460-39635 N4832095 45503-30070 N4842080
45046-09230 J4822027 45046-69205 J4832069 45460-49055 N4832119 45503-30090 N4842080
45046-09251 N4822096 45046-69235 N4832097 45460-49075 J4822094 45503-39025 J4842018
45046-09280 J4822093 45046-69236 N4832097 45460-59015 N4832108 45503-39055 J4842019
45046-09281 J4822093 45047-02010 J4822063 45460-59045 N4832101 45503-39075 J4842043
45046-09295 J4832076 45047-05060 N4822118 45463-30130 N4832120 45503-39105 N4842076
45046-09310 J4822093 45047-09010 J4822017 45464-30060 N4822120 45503-39135 J4842019
45046-09430 N4822104 45047-09030 J4822017 45466-55020 J4822045 45503-39225 J4842054
45046-09480 N4832102 45047-09125 J4822092 45470-09010 J4822060 45503-39235 J4842047
45046-09560 N4832106 45047-09220 N4822102 45470-09020 N4822119 45503-39265 J4842047
45046-09570 N4832099 45047-09270 N4822099 45470-09040 J4822060 45503-47030 N4842065
45046-09660 N4832118 45047-09320 N4822118 45470-29185 J4822060 45503-49035 N4842077
45046-19115 J4832063 45047-19115 J4822063 45470-39215 J4822060 45503-49055 J4842050
45046-19175 J4822001 45047-19135 N4822103 45470-39225 N4822095 45503-49095 N4842071
45046-19205 J4822015 45047-19205 N4822099 45470-49025 N4822119 45503-49105 J4842052
45046-19206 J4822015 45047-19215 N4822099 45470-59015 N4822108 45503-49125 N4842079
45046-19216 J4822015 45047-29035 J4822035 45470-59045 N4822101 45503-49165 N4842085
45046-19405 N4832099 45047-29036 J4822035 45470-59055 J4822060 45503-52010 J4842016
45046-19415 N4832099 45047-29045 J4822004 45490-39245 N4802039 45503-52070 J4842059
45046-29085 J4832001 45047-29065 J4822036 45490-39255 J4802036 45503-59045 J4842016
45046-29086 J4832001 45047-29075 J4822028 45490-39305 N4802041 45503-59055 N4842082
45046-29115 J4822009 45047-29105 J4822028 45490-39306 N4802041 45503-59075 J4842049
45046-29125 J4822009 45047-29125 J4822017 45490-39315 J4802013 45503-60030 N4842062
45046-29165 J4832000 45047-33925 J4822035 45490-39345 J4802036 45503-69015 J4842048
45046-29185 J4822014 45047-35050 J4822045 45490-39355 N4802039 45503-69025 N4842067
45046-29186 J4822014 45047-35H00 J4822045 45490-39445 N4802040 45503-990DL J4842053
45046-29215 J4822010 45047-39025 J4822035 45490-39446 N4802040 45510-12390 N4842073
45046-29235 J4832010 45047-39027 J4822035 45490-39455 J4802038 45510-12391 N4842073
45046-29255 J4822027 45047-39065 J4822035 45490-39456 J4802038 45510-42080* N4842072
45046-29275 J4832008 45047-39155 J4832075 45500-0H010* N4842066 45516-05030 J2842028
45046-29295 N4832117 45047-39156 J4832075 45500-0H030* N4842066 45535-02050 J2842022
45046-29305 J4822001 45047-39215 J4822056 45503-02050 J4842040 45535-05010 J2842003
45046-29325 J4822031 45047-49015 J4822061 45503-02080 J4842040 45535-05020 J2840900
45046-29335 J4832008 45047-49025 J4822050 45503-05010 J4842053 45535-06010 J2845000
45046-29365 J4832002 45047-49045 J4822063 45503-05020 J4842015 45535-08010 N2842044
45046-29375 J4822031 45047-49055 J4832019 45503-09220 J4842040 45535-09010 J2842027
45046-29405 J4822066 45047-49135 N4822103 45503-09230 J4842054 45535-09020 J2842028
45046-29425 J4822088 45047-49165 N4822105 45503-09320 J4842058 45535-09030 J2842028
45046-35080 J4832009 45047-59025 J4822048 45503-09321 J4842058 45535-09120 N2842045
45046-35H00 J4832009 45047-59026 J4822048 45503-09330 J4842058 45535-09130 J2842027
45046-36010 J4832001 45047-59035 J4822048 45503-09331 J4842058 45535-09170 J2842028
45046-39035 J4832001 45047-59135 N4822102 45503-09340 J4842058 45535-09180 J2842016
45046-39037 J4832001 45047-59155 N4822102 45503-09420 N4842060 45535-0E010 N2842044
45046-39095 J4832001 45047-59165 N4822102 45503-0D030 J4842051 45535-0K010 N2842034
45046-39105 J4822009 45047-60H01 J4832012 45503-0D080 J4842059 45535-10020 J2842017
45046-39106 J4822009 45047-60H02 J4832012 45503-0F010 N4842063 45535-10021 J2842017
45046-39125 J4822009 45047-69065 J4832012 45503-0R010 N4842063 45535-10050 N2842031
45046-39165 J4822009 45047-69066 J4822037 45503-10020 J4842006 45535-12010 J2842007
45046-39175 J4822009 45047-69067 J4822037 45503-12130 J4842040 45535-12011 J2842004
45046-39215 J4822009 45047-69085 J4822037 45503-19015 J4842006 45535-12040 J2842002
45046-39235 J4822009 45047-69100 N4822111 45503-19035 J4842008 45535-12060 J2842007
45046-39255 J4822090 45047-69145 N4822098 45503-19125 J4842024 45535-12070 J2842010
45046-39256 J4822090 45047-69146 N4822098 45503-19135 J4842024 45535-12080 J2842010
45046-39335 J4822057 4504760010 J4832012 45503-19155 J4842005 45535-12100 J2842010
45046-39375 J4822009 4504760011 J4832012 45503-19175 J4842026 45535-13010 J2842023
45046-39505 J4822072 4504760012 J4832012 45503-19185 J4842044 45535-14020 J2842002
45046-49025 J4832063 4504760013 J4832012 45503-19195 J4842005 45535-14040 J2842002
45046-49075 N4832100 4504769035 J4832012 45503-19215 J4842026 45535-16010 N2842033
45046-49085 J4832061 45401-35240 J4802026 45503-19235 J4842044 45535-20040 J2842005
Original equipment numbers and pictures in this catalogue are used for reference purposes only P ag e 6 Of 7

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



A
®  Distribuited by y’ ERA
NIPPARTS " Sterzo

moved by mechanics Steering

Tavole Comparative - Cross Reference List

45535-20050 J2852002
45535-20160 J2842002
45535-20161 J2842002
45535-20270 J2842002
45535-20271 J2842002
45535-22050 J2842007
45535-22060 J2842007
45535-22080 J2842007
45535-24020 J2842002
45535-24030 J2842010
45535-26020 J2846008
45535-26030 J2846008
45535-28030 J2842021
45535-30010 J2842011
45535-30030 J2842011
45535-32030 J2852003
45535-32070 J2842019
45535-44010 J2842021
45535-49015 N2842043
45535-49025 N2842046
45535-49045 N2842047
45535-52010 J2842016
45535-52030 J2842027
45535-52050 J2842023
45535-52060 J2842029
45535-60010 J2842026
45535-69025 N2842041
45536-10050 N2852005
45536-10060 N2852005
45536-10070 N2842030
45536-12011 N2842032
45536-12030 J2852001
PART OF N4842066
PART OF N4842072

PART OF 45510-4203 N4842072
PART OF 45510-4208 N4842072

VAUXHALL

322125 N4810900
7848281 N4810900
90125567 N4810900

VW
J45 450 391 65 J4812000

Original equipment numbers and pictures in this catalogue are used for reference purposes only Page 7 Of 7

ERA S.r.l. Via F. Santi, 15 - 10024 Moncalieri (TO) ltaly - Tel. +39 011.6891511 - Fax +39 011.6472862 - era@eraspares.it - www.eraspares.com



